
 قناة بكالوجيا
 

كل ملفات البكالوريا التي تحتاج اليها 

 في مكان واحد فقطأصبحت 

 قبل حذف الرابطسارع الى الانضمام 

ستجد ضمنها كل ما تبحث عنه من 

 نوط واختبارات وملفات مفيدة جدا  

 

اضغط على كلمة بكالوجيا 

للوصول الى قناتنا للمزيد من 

 الملفات الهامة

https://t.me/+akAQTBCu9gdiNzA0
https://t.me/+akAQTBCu9gdiNzA0
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1 ص          زيع والطبع هحفىظت لىزارة التربيت حقىق النشر والتى        6102 خاص بالدورة الاهتحانيت الأولى لعاماللغت الإنكليسيت /العلوي/ هادة   

 

 

 
 الجمهورية العربية السورية 

 وزارة التربية       
 

 
 
 
 
 
 
 
 
 

 سـمم تصحيح مـادة المغـة الإنكميزيـة
 لامتحان شـهادة الدراسة الثانويـة العامة

 الفرع العممي
 م1026دورة عام 
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  درجة/000/: الدرجة                  المغة الإنكميزية مادة               العامةسمّم تصحيح شهادة الثانوية 
 الفرع العممي            م       1026الدورة الامتحانية الأولى لعام 

 
 

 

 
I-    Group 1:   1   –  7 

II-  Group2:     8  –  13 

III- Group 3:   14 – 24 

IV- Group 4:   25 – 33 

V-  Group5:     34 – 38 

VI- Group 6:  composition 

 

 ملاحظــات:
 توضع العلامة المستحقة لكل سؤال عمى يسار الرقم. -
 عمى رقم الإجابة الخطأ. (X)توضع إشارة  -

تجمع درجات الإجابة لكل مجموعة وتوضع في مربع عند نهاية المجموعة في الزاوية اليمنى وتكتب رقماً  -
 وكتابة بالمغة العربية.

ويسجل كل من المصحح  والمحدق   جدول الدرجاتترفع درجة كل مجموعة إلى الحقل المخصص لها في  -
 ويوقع عميها )مع مراعاة حقل الكسور والآحاد والعشرات(.اسمه 

يعححد الجححدول الخححاص بححعلا وتححوز  الححدرجات وفحح  الحقححول المدرجححة :عنححد نهايححة تصحححي  موضححو  الإنشححا  -
ل ححر  محم عمحى ورقحة الإجابحة وتوضحع درجحة كحل حقحل  محام كح(T , G , V , S , C)وتوضحع احححر  

 تجمع وتوضع ضمن مربع وترفع إلى الحقل المخصص لها في جدول الدرجات.
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Group1 From 1- 7 

Model answers: (1-3) 

1- They live in (extremely) dry climates. 

- They live in (extremely) hot/desert climates. 

2- (An animal habitat / it is the place) where an animal lives.  

3- Tree kangaroos (are different from other kangaroos in a way that they) can't 

move (very) fast on the ground.  

(N.B): - If the student writes "Tree kangaroos live in remote and mountainous forest 

regions and have adapted to life in trees", his answer rates 4 marks. 

Remarks from (1-3) 

(N.B): - Information between brackets is optional. 

1- Each item from (1-3) is allotted 6 marks. 

2- Overlook irrelevant information. 

3- Overlook copying mistakes. 

4- Deduct only 1 mark in case there is any kind of spelling or grammar mistake. 

5- Any logical answer is accepted. 

Model answers from (4-5) 

4- adapt(ed) 

5- predator(s) 

Remarks from (4-5) 

1- Each item from (4-5) is allotted 5 marks. 

2- Only the above mentioned answers are accepted. 

3- Overlook copying mistakes and capitalization. 

4- If the student writes two answers for the same item, consider the first.  
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Model answers from (6-7) 

6- Kangaroos / Marsupials carry their young / babies in a pouch. 

- Kangaroos / Marsupials have a pouch in which they carry their young / babies. 

- Jerboas don't have a pouch (to carry their young / babies). 

7- Lizards would die if they were moved to the Arctic.  

-  Lizards would not stay alive if they were moved to the Arctic.  

- Lizards would not live/ survive if they were moved to the Arctic.  

- Lizards live in hot places / climate so they would die if they were moved to the 

Arctic.  

Remarks from (6-7)  

1- Each item is allotted 6 marks. 

2- The above mentioned answers are accepted in addition to any logical answer. 

3- Deduct 1 mark for each grammar and spelling mistakes. The total deduction 

should not exceed 2 marks if the answer still makes sense. 

4-  Overlook copying mistakes and capitalization.   

(N.B): - If the student writes only the correction, his answer rates 3 marks. 

eg. No.6: Kangaroos / Marsupials.  
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Group2 From 8-13 

Model answers (8-9) 

8- (c) / enables people to find 

9- (a) / far from    

Remarks from (8-9) 

1- Each item is allotted 6 marks. 

2- Either the letter or the complete answer is accepted or both. 

3- If the student writes two answers for the same item, consider the first. 

4- Overlook copying mistakes. 

(N.B): - If the student writes only the first word of the correct answer,                              

his answer rates full mark. 

Model answers (10-11) 

10- accessible  

11- contain  

Remarks from (10-11) 

1- Each item is allotted 6 marks. 

2- Only the above mentioned answers are accepted. 

3- Overlook copying mistakes and capitalization. 

4- If the student writes two answers for the same item, his answer rates zero even if 

one of them is correct.  

Model answers (12-13) 

12- …… images from the Internet (onto the underside of the umbrella's canopy).  

-  ………. a three – dimensional map.    

13- ………. be cheap / be inexpensive / be low / be cheaper / be less than today. 

- ………. decrease / become cheaper than today.    

Remarks from (12-13) 

1- Each item is allotted 6 marks. 

2- The above mentioned answers are accepted in addition to any logical 

completion related to the text. 

3- Overlook copying, grammar and spelling mistakes. 

4- Any addition or omission that doesn't make distortion is overlooked. 
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Group3 From 14-24 

Model answers (14-16) 

14- and / in / as well as / in addition to / besides / plus  

15- for / on / of  

16- his 

Remarks from (14-16) 

1- Each item is allotted 6 marks. 

2- Only the above mentioned answers are accepted. 

3- Spelling mistakes are overlooked, unless they give rise to new words. 

    If so, the answer rates zero.  

4- If the student writes two answers for the same question, consider the first. 

(N.B): No.14: - If the student writes " or ", his answer rates 3 marks. 

Model answers (17-20) 

17- Earth 

18- solar 

19- built 

20- study  

Remarks from (17-20) 

1- Each item is allotted 6 marks. 

2- Only the above mentioned answers are accepted. 

3- Overlook copying mistakes and capitalization. 

4- If a student writes two answers in one space, his answer rates zero. 

5- Repeating the same answer more than once rates zero, even if one of them is 

correct.   

6- Answers in the form of numbers rate zero. 
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Model answers (21-24) 

21- How was your last holiday? 

- What was your last holiday like? 

- What about your last holiday? 

- What can you say about your last holiday? 

- What do you think / say about your last holiday? 

- How did you find / spend your last holiday? 

- How did you feel about your last holiday? 

22- Where did you go /travel / leave for?  

- Which / What city did you go to / travel to / leave for? 

- What was your destination in your last holiday? 

- What did you do? 

- Did you go to Aleppo or Cairo?   N.B. (The student should write two choices). 

23- When did you arrive?  

- (At) What time did you arrive? 

- Did you arrive late or early?       N.B. (The student should write two choices).  

24-  (Answers vary) 

Remarks from (21-24) 

1- Each item is allotted 8 marks.  

2- Deduct 2 marks for wrong question word/ word cluster 

3- Deduct 2 marks for any grammar mistake provided that the total deduction 

should not exceed 4 marks if the question still makes sense. 

 e.g. wrong tense, wrong auxiliaries, wrong articles, wrong pronouns  

4- If a student writes two questions for the same answer, consider the first. 

5- Overlook capitalization and spelling mistakes.  

6- If a student writes the correct question word only, his answer rates 2 marks. 

7- Any logical question or answer related to the dialogue is accepted.  
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Group4 From 25-33 

Model answers (25-28) 

25- I wish my room / it wasn't / weren't (so / too small).   

-  I wish my room / it was / were large / larger / big / bigger.   

- I wish my room / it wouldn't be (so / too) small / would be larger / bigger.   

26- Fares / He  had his tooth / it taken out.  

27- Hani asked his mother if/whether he could go out with his friends.  

28- Historical monuments in Damascus are visited by thousands of tourists.  

- Historical monuments are visited by thousands of tourists in Damascus. 

- In Damascus, historical monuments are visited by thousands of tourists. 

Remarks from (25-28) 

1- Each item is allotted 8 marks. 

2- Overlook spelling mistakes. 

3- Deduct 2 marks for each grammar mistake provided that the total deduction 

should not exceed 4 marks.  

(N.B): No.26- If the student adds "himself" at the end of the correct answer,                             

deduct 2 marks. 

(N.B): No.28- The marks are distributed as follows: 

2 marks for the object (historical monuments) 

2 marks for verb to be (are) 

2 marks for the past participle (visited) 

2 marks for the agent (by thousands of tourists ). 
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Model answers (29-30) 

29- …… past tenses 

30-  ……. modals in the past   

 

Remarks from (29-30) 

1- Each item is allotted 7 marks. 

2- The completion that doesn't make sense rates zero, even if it is grammatically 

correct. 

3- Deduct 1 mark for any grammar mistake, provided that the total deduction should 

not exceed 3 marks if the completion still makes sense. 

4- Overlook spelling mistakes unless they give rise to another meaning. 

     If so, deduct 1 mark provided that the total deduction should not exceed 2 marks 

     if the completion still makes sense.  

5- Overlook punctuation marks. 

6- Any logical completion is accepted. 

7- The clause must contain a subject and a verb. If not, the answer rates zero. 

8- (N.B): No.30: - If the student uses the idiom (to face the music), 

             his answer rates full mark. 

- The completion in the imperative form is accepted.    
 

Model answers (31-33) 

31- at 

32- do without  

33- because  

Remarks from (31-33) 

1- Each item is allotted 6 marks. 

2- Only the above mentioned answers are accepted. 

3- Overlook copying mistakes. 
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Group5 From 34-38 

Model answers (34-36) 

34- feels / is feeling / has felt 

35- had driven / had been driving    

36- have known / had known  

Remarks from (34-36) 

1- Each item is allotted 6 marks. 

2- Only the above mentioned answers are accepted. 

3- Overlook spelling mistakes unless they give rise to another meaning.                     

If so, deduct 1 mark.  

4- Complete (verb forms) are required, otherwise the answer rates zero. 

5- Deduct 2 marks for a wrong verb form in multi-verb tenses. 

(e.g. No.36 : has known / have know) 

6- In case the student writes two answers for the same number, consider the first. 
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Model answer (37) 

 : .بعض التموثبإلى طاقة / وتتسبب كل عمميات التدوير تحتاج  37- -

 كل: كافة / جميع 
 عمميات: إجراءات / تقنيات 

 التدوير: إعادة التصنيع
 تنشئ/ تشكل /  / تؤدي إلى يصدر عنها / تنتج: تتسبب

 
 

Remarks for (37) 

1- The item is allotted 10 marks. 

2- The statement is divided into 2 units. Each unit is allotted 5 marks. 

3- Each unit is treated separately. 

4- Deduct 1 mark for:  

- a missing or wrongly translated word 

- a grammar mistake 

- a spelling mistake  if it gives rise to a new meaning, 

 provided that the total deduction shouldn't exceed 4 marks if the sentence 

still makes sense. 

5- Any other logical translation is accepted. 
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Model answer (38) 

38- The capital (city) of a country is often / the greatest city with the largest population.  

- The capital (city) of a country is often / the greatest city and (it) contains the 

largest population.  

- country: state 

-   often: usually  

-   greatest: largest / biggest  

-   the largest population: the most populated / populous / inhabited   

Remarks for (38) 

1- The item is allotted 8 marks. 

2- The sentence is divided into 2 units. The first unit is allotted 4 marks, and 

the second is allotted 4 marks. 

3- Each unit is treated separately. 

4- Deduct 1 mark for:  

- a missing or wrongly translated word 

- a grammar mistake 

- a spelling mistake  if it gives rise to a new meaning, 

 provided that the total deduction shouldn't exceed 3 marks if the sentence 

still makes sense. 

5- Any other logical translation is accepted. 
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Group 6 - Composition 
Remarks: 

1-  (50 marks) are allotted to this item. 

2-Before starting the correction of the composition, the teacher should make 

first reading to the whole paragraph to figure out if it is relevant to the topic 

or not. 

3-If a student writes more than the required number of words, his/her topic is 

accepted. 

4- a- On average, a paragraph between 70-80 words rates (50 marks). 

b- A paragraph between 60-69 words rates (45 marks).                                   

Each field is allotted 9 marks. 

c- A paragraph between 50-59 words rates (40 marks).                              

Each field is allotted 8 marks. 

d- A paragraph between 40-49 words rates (35 marks).                                     

Each field is allotted 7 marks. 

e- a paragraph between 30-39 words rates (25 marks). 

Each field is allotted 5 marks. 

f- A paragraph between 20-29 words rates (20 marks) 

Each field is allotted 4 marks. 

g- A paragraph less than 20 words, give 5 marks for each correct relevant 

sentence. 

N.B. - Overlook the first two spelling and grammar mistakes; then 

deduct one mark for each mistake.  

- If the student describes a tourist site without mentioning any 

recommendations / solutions to solve the problem, deduct 5 marks 

from the field of task response and 5 marks from the field of 

communication . 

- If the student mentions one recommendation /solution only,                

deduct 3 marks from task response and 3 marks from the field of 

communication. 

5- The following chart shows the distribution of the (50 marks): 

 



  14ص                                                      (      حقىق النشر والتىزيع والطبع هحفىظت لىزارة التربيت 6102 خاص بالدورة الاهتحانيت الأولى لعاماللغت الإنكليسيت / الفرع العلوي/ هادة                 )

Communication 
Spelling and 

punctuation 
Vocabulary Grammar Task response 

outstanding 

communication; clear, 

coherent and well-

organised text with 

complex language when 

appropriate. 

extremely accurate 

spelling and 

punctuation in simple 

and complex language. 

very wide range of 

accurate and 

appropriate vocabulary 

required for the task. 

very wide range of 

accurate and 

appropriate grammar 

required for the task. 

the task response is 

comprehensive, relevant 

and well-developed. 

(10 marks) (10 marks) (10 marks) (10 marks) (10 marks) 

meaning is clear and 

easy to understand; 

good organization. 

good punctuation and 

spelling; errors may 

occur in complex 

language. 

a good range of 

vocabulary; few errors 

occur except in complex 

vocabulary. 

a good range of 

grammar usage; few 

errors occur except in 

complex structures. 

response is wholly 

relevant but is partially 

developed or not fully 

exploited. 
(9 marks) (9 marks) (9 marks) (9 marks) (9 marks) 

overall meaning is 

conveyed with some 

errors but without 

undue problems for the 

reader 

errors of punctuation 

and spelling occur but 

don't cause undue 

problems for the reader. 

adequate knowledge of 

a range of the 

vocabulary items 

required to carry out the 

task. 

adequate knowledge of 

a range of the grammar; 

more accurate than 

inaccurate. 

largely relevant 

response but without 

much development or 

with some irrelevance. 

(8 marks) (8 marks) (8 marks) (8 marks) (8 marks) 

meaning is only 

conveyed with 

significant effort on the 

part of the reader. 

errors of punctuation 

and spelling create 

problems for the reader. 

some vocabulary 

knowledge but frequent 

errors or gaps mean 

vocabulary is 

insufficient for the task. 

some grammar 

knowledge but frequent 

errors or gaps mean 

grammar is insufficient 

for the task. 

some relevant response 

to the task, though at 

times the task appears 

not to have been 

understood. 
(7 marks) (7 marks) (7 marks) (7 marks) (7 marks) 

no response or response 

insufficient to grade. 

no response or response 

insufficient to grade. 

no response or response 

insufficient to grade. 

no response or response 

insufficient to grade. 

no response or response 

insufficient to grade. 
zero zero zero zero zero 

 

                          N.B.  Deduct 1 mark once for the same repeated mistakes. 

-انتهى السلن  -  
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 الجمهورية العربية السورية 

 وزارة التربية       
 

 
 
 
 
 
 
 
 
 

 سـمم تصحيح مـادة المغـة الإنكميزيـة
 لامتحان شـهادة الدراسة الثانويـة العامة

 الفرع العممي
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I-    Group 1:   1   –  7 

II-  Group2:     8  –  13 

III- Group 3:   14 – 24 

IV- Group 4:   25 – 33 

V-  Group5:     34 – 38 

VI- Group 6:  composition 

 

 ملاحظــات:
 توضع العلامة المستحقة لكل سؤال عمى يسار الرقم. -
 عمى رقم الإجابة الخطأ. (X)توضع إشارة  -

تجمع درجات الإجابة لكل مجموعة وتوضع في مربع عند نهاية المجموعة في الزاوية اليمنى وتكتب رقماً  -
 وكتابة بالمغة العربية.

ويسجل كل من المصحح  والمحدق   مجموعة إلى الحقل المخصص لها في جدول الدرجاتترفع درجة كل  -
 ويوقع عميها )مع مراعاة حقل الكسور والآحاد والعشرات(.اسمه 

يعححد الجححدول الخححاص بححعلا وتححوز  الححدرجات وفحح  الحقححول المدرجححة :عنححد نهايححة تصحححي  موضححو  الإنشححا  -
لإجابحة وتوضحع درجحة كحل حقحل كمحام كحل ححر   حم عمحى ورقحة ا(T , G , V , S , C)وتوضحع احححر  

 تجمع وتوضع ضمن مربع وترفع إلى الحقل المخصص لها في جدول الدرجات.
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Group1 From 1- 7 

Model answers: (1-3) 

1- (The area / Garrigues / It is suffering from the effects of depopulation such us) 

poor public services and deserted farms.   

- (It can lead to / cause) poor public services and deserted farms. 

 (N.B): - If the student writes only one item, his answer rates 3 marks. 

             - If the student writes "fewer people (in country areas)",                                      

                 his answer rates 3 marks. 

2- (Nowadays, Rich people in some European areas move from cities to 

countryside) to escape from / because of overcrowding, pollution and stress of 

city life. 

 (N.B): Each reason is allotted 2 marks. 

3-  (The area has) a Mediterranean climate, low winter temperatures and an annual 

rainfall level 482mm and it was a successful agricultural area.  

(N.B): Each characteristic is allotted 3 marks. 

Remarks from (1-3) 

(N.B): - Information between brackets is optional. 

1- Each item from (1-3) is allotted 6 marks. 

2- Overlook irrelevant information unless it exceeds one sentence. In this case, the 

answer rates zero. 

3- Overlook copying mistakes. 

4- Deduct only 1 mark in case there is any kind of spelling or grammar mistake. 

5- Any logical answer is accepted. 

Model answers from (4-5) 

4- rural  

5- phenomenon  

Remarks from (4-5) 

1- Each item from (4-5) is allotted 5 marks. 

2- Only the above mentioned answers are accepted. 

3- Overlook copying mistakes and capitalization. 

4- If the student writes two answers for the same item, consider the first.  
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Model answers from (6-7) 

6- Nowadays, most inhabitants in the villages of Garrigues are old / elderly people / 

not young. 

- Now some villages consist mainly of elderly people. 

- Nowadays, less old / elderly people live in the villages of Garrigues. 

7- As farming became / grew less (and less) profitable in Garrigues, many farmers 

left to / for the city.  

- As farming didn't improve in Garrigues, many farmers left to / for the city.  

- As farming became less and less profitable, and unemployment grew, the 

population began to move to the cities to find work.  

Remarks from (6-7)  

1- Each item is allotted 6 marks. 

2- The above mentioned answers are accepted in addition to any logical answer. 

3- Deduct 1 mark for each grammar and spelling mistakes. The total deduction 

should not exceed 2 marks if the answer still makes sense. 

4-  Overlook copying mistakes and capitalization.   

(N.B): - If the student writes only the correction, his answer rates 3 marks. 
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Group 2 From 8-13 

Model answers (8-9) 

8- (b) / do not affect  

9- (a) / low gravity on humans     

Remarks from (8-9) 

1- Each item is allotted 6 marks. 

2- Either the letter or the complete answer is accepted or both. 

3- If the student writes two answers for the same item, consider the first. 

4- Overlook copying mistakes. 

(N.B): - If the student writes only the first word of the correct answer,                              

his answer rates full mark. 

Model answers (10-11) 

10- provide  

11- combustion  

Remarks from (10-11) 

1- Each item is allotted 6 marks. 

2- Only the above mentioned answers are accepted. 

3- Overlook copying mistakes and capitalization. 

4- If the student writes two answers for the same item, his answer rates zero even if 

one of them is correct.  

Model answers (12-13) 

12- …… (one or more of) the conditions found in space.  

-  ………. microgravity.      

13- ………. study how long periods in space affect the body. 

Remarks from (12-13) 

1- Each item is allotted 6 marks. 

2- The above mentioned answers are accepted in addition to any logical 

completion related to the text. 

3- Overlook copying, grammar and spelling mistakes. 

4- Any addition or omission that doesn't make distortion is overlooked. 
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Group 3 From 14-24 

Model answers (14-16) 

14- an  / the / one  

15- who / that  

16- in / inside / at 

Remarks from (14-16) 

1- Each item is allotted 6 marks. 

2- Only the above mentioned answers are accepted. 

3- Spelling mistakes are overlooked, unless they give rise to new words. 

    If so, the answer rates zero.  

4- If the student writes two answers for the same question, consider the first. 

(N.B): No.14: - If the student writes "a very / the most", his answer rates 4 marks. 

Model answers (17-20) 

17- best 

18- home  

19- mind  

20- prove  

Remarks from (17-20) 

1- Each item is allotted 6 marks. 

2- Only the above mentioned answers are accepted. 

3- Overlook copying mistakes and capitalization. 

4- If a student writes two answers in one space, his answer rates zero. 

5- Repeating the same answer more than once rates zero, even if one of them is 

correct.   

6- Answers in the form of numbers rate zero. 
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Model answers (21-24) 

21- When did you go to Aleppo?  

- Where did you go at the weekend? 

- What did you do at the weekend? 

- Who went to Aleppo at the weekend? 

- Did you go to Aleppo or Homs / …… at the weekend? 

22- Did you enjoy your visit / trip / journey? 

-  Did you enjoy (your) going there? 

- Was it a good visit / trip / journey? 

- Were you happy (in the visit / trip / journey)? 

23- Who(m) did you meet there? 

- What did you do there?  

- Did you meet anyone there?  

24- (Answers vary) 

Remarks from (21-24) 

1- Each item is allotted 8 marks.  

2- Deduct 2 marks for wrong question word/ word cluster 

3- Deduct 2 marks for any grammar mistake provided that the total deduction 

should not exceed 4 marks if the question still makes sense. 

 e.g. wrong tense, wrong auxiliaries, wrong articles, wrong pronouns  

4- If a student writes two questions for the same answer, consider the first. 

5- Overlook capitalization and spelling mistakes.  

6- If the student writes the correct question word only, his answer rates 2 marks. 

7- Any logical question or answer related to the dialogue is accepted.  
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Group 4 From 25-33 

Model answers (25-28) 

25- I wish the streets / they weren't (very dirty).     

- I wish the streets / they were cleaner / clean. 

- I wish they would clean the streets / them.  

- I wish the streets / they would be cleaner / clean. 

26- Birds' nests / their nests / nests are (often) built at the top of trees.  

 (N.B): - If the student doesn't write "at the top of trees ", deduct 2 marks. 

27- He asked me if I studied in a college.  

28- My brother / He didn't have his own hair / it cut.  

Remarks from (25-28) 

1- Each item is allotted 8 marks. 

2- Overlook spelling mistakes. 

3- Deduct 2 marks for each grammar mistake provided that the total deduction 

should not exceed 4 marks.  

 (N.B): No.26- The marks are distributed as follows: 

2 marks for the object (nests) 

2 marks for verb to be (are) 

2 marks for the past participle (built) 

The agent (by birds ) is optional . 
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Model answers (29-30) 

29- ……. (Answers vary)  

30-  ……. (Answers vary)   

Remarks from (29-30) 

1- Each item is allotted 7 marks. 

2- The completion that doesn't make sense rates zero, even if it is grammatically 

correct. 

3- Deduct 1 mark for any grammar mistake, provided that the total deduction should 

not exceed 3 marks if the completion still makes sense. 

4- Overlook spelling mistakes unless they give rise to another meaning. 

     If so, deduct 1 mark provided that the total deduction should not exceed 2 marks 

     if the completion still makes sense.  

5- Overlook punctuation marks. 

6- Any logical completion is accepted. 

7- The clause must contain a subject and a verb. If not, the answer rates zero. 

Model answers (31-33) 

31- do 

32- peaceful  

33- for 

Remarks from (31-33) 

1- Each item is allotted 6 marks. 

2- Only the above mentioned answers are accepted. 

3- Overlook copying mistakes. 
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Group 5 From 34-38 

Model answers (34-36) 

34- graduates / has graduated   

35- has worked / has been working  

36- was looking for  

Remarks from (34-36) 

1- Each item is allotted 6 marks. 

2- Only the above mentioned answers are accepted. 

3- Overlook spelling mistakes unless they give rise to another meaning.                     

If so, deduct 1 mark.  

4- Complete (verb forms) are required, otherwise the answer rates zero. 

5- Deduct 2 marks for a wrong verb form in multi-verb tenses. 

(e.g. No.35: has work /  has been worked ) 

6- In case the student writes two answers for the same number, consider the first. 
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Model answer (37) 

 : .غير ضار لمعظم الناسويعتبر / فإنه يُسرع الدورة الدموية  / عند تناول الكافيين بكميات قميمة 37- -

  / كخع / تعاطي  شربتناول:  
  مقدار /  مقادير كميات:
 / يزيدينشط / يحفز  يسرع:

 : دوران الدم / جريان الدمالدورة الدموية
  / مضر مؤعي ضار:
 / كك رية غالبية معظم:
 البشر الناس:

 
 

Remarks for (37) 

1- The item is allotted 10 marks. 

2- The sentence is divided into 3 units. The first unit is allotted 4 marks.               

The second and third units are allotted 3 marks each. 

3- Each unit is treated separately. 

4- Deduct 1 mark for:  

- a missing or wrongly translated word 

- a grammar mistake 

- a spelling mistake  if it gives rise to a new meaning, 

 provided that the total deduction shouldn't exceed 4 marks if the sentence   

 still makes sense. 

5- Any other logical translation is accepted. 

 
 

  



12 زيع والطبع هحفىظت لىزارة التربيت          ص حقىق النشر والتى        6102 الثانيت لعام خاص بالدورة الاهتحانيتاللغت الإنكليسيت /العلوي/ هادة   

 

 

 

Model answer (38) 

38- Scientists found a new way / to recycle rubbish.  

- found: came up with / found out / discovered / created  

-   new: modern / different   

-   way: method    

- rubbish: the waste / the garbage   

Remarks for (38) 

1- The item is allotted 8 marks. 

2- The sentence is divided into 2 units. The first unit is allotted 5 marks.               

The second unit is allotted 3 marks. 

3- Each unit is treated separately. 

4- Deduct 1 mark for:  

- a missing or wrongly translated word 

- a grammar mistake 

- a spelling mistake  if it gives rise to a new meaning, 

     provided that the total deduction shouldn't exceed 3 marks if the sentence  

      still makes sense. 

5- Any other logical translation is accepted. 
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Group 6 - Composition 
Remarks: 

1-  (50 marks) are allotted to this item. 

2-Before starting the correction of the composition, the teacher should make 

first reading to the whole paragraph to figure out if it is relevant to the topic 

or not. 

3-If a student writes more than the required number of words, his/her topic is 

accepted. 

4- a- On average, a paragraph between 70-80 words rates (50 marks). 

b- A paragraph between 60-69 words rates (45 marks).                                   

Each field is allotted 9 marks. 

c- A paragraph between 50-59 words rates (40 marks).                              

Each field is allotted 8 marks. 

d- A paragraph between 40-49 words rates (35 marks).                                     

Each field is allotted 7 marks. 

e- a paragraph between 30-39 words rates (25 marks). 

Each field is allotted 5 marks. 

f- A paragraph between 20-29 words rates (20 marks) 

Each field is allotted 4 marks. 

g- A paragraph less than 20 words, give 5 marks for each correct relevant 

sentence. 

N.B. - Overlook the first two spelling and grammar mistakes; then 

deduct one mark for each mistake.  

- The student should mention at least two advantages and two 

disadvantages of using computers. If not, deduct 2 marks for each 

missing item. 

- If the student writes about the advantages and disadvantages of 

modern technology without mentioning computers, deduct 5 marks 

from task response.  

                

5- The following chart shows the distribution of the (50 marks): 
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Communication 
Spelling and 

punctuation 
Vocabulary Grammar Task response 

outstanding 

communication; clear, 

coherent and well-

organised text with 

complex language when 

appropriate. 

extremely accurate 

spelling and 

punctuation in simple 

and complex language. 

very wide range of 

accurate and 

appropriate vocabulary 

required for the task. 

very wide range of 

accurate and 

appropriate grammar 

required for the task. 

the task response is 

comprehensive, relevant 

and well-developed. 

(10 marks) (10 marks) (10 marks) (10 marks) (10 marks) 

meaning is clear and 

easy to understand; 

good organization. 

good punctuation and 

spelling; errors may 

occur in complex 

language. 

a good range of 

vocabulary; few errors 

occur except in complex 

vocabulary. 

a good range of 

grammar usage; few 

errors occur except in 

complex structures. 

response is wholly 

relevant but is partially 

developed or not fully 

exploited. 
(9 marks) (9 marks) (9 marks) (9 marks) (9 marks) 

overall meaning is 

conveyed with some 

errors but without 

undue problems for the 

reader 

errors of punctuation 

and spelling occur but 

don't cause undue 

problems for the reader. 

adequate knowledge of 

a range of the 

vocabulary items 

required to carry out the 

task. 

adequate knowledge of 

a range of the grammar; 

more accurate than 

inaccurate. 

largely relevant 

response but without 

much development or 

with some irrelevance. 

(8 marks) (8 marks) (8 marks) (8 marks) (8 marks) 

meaning is only 

conveyed with 

significant effort on the 

part of the reader. 

errors of punctuation 

and spelling create 

problems for the reader. 

some vocabulary 

knowledge but frequent 

errors or gaps mean 

vocabulary is 

insufficient for the task. 

some grammar 

knowledge but frequent 

errors or gaps mean 

grammar is insufficient 

for the task. 

some relevant response 

to the task, though at 

times the task appears 

not to have been 

understood. 
(7 marks) (7 marks) (7 marks) (7 marks) (7 marks) 

no response or response 

insufficient to grade. 

no response or response 

insufficient to grade. 

no response or response 

insufficient to grade. 

no response or response 

insufficient to grade. 

no response or response 

insufficient to grade. 
zero zero zero zero zero 

 

                          N.B.  Deduct 1 mark once for the same repeated mistakes. 

-انتهى السلن  -  
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I. I- Read the. following text then do the ta5ks ··-r1];. Read the following--text then do the tasks
I behmr: 

I The :aw related to com�uter crime '.s changing
! very quickly. Modem cnrnmals arc usmg 
: computers to help them commit crimes like 
] identity theft and to make it easier �o commit ol<l 
� crimes like theft or fraud. One issue that makes it 
; hard to fight computer crime is that this type of 
1 

offence". is often more difficult to solve than 
: traditional c�imcs because the criminals are 
; invisible and H1�ir actions may b� hard to prove. 

In recent years. computer crime has increased . 
as the number of people using the Internet to buy 
things or to access their bm1k accounts has grO\vn. 
This ne\v type of business has aUrncted tcchno­
criminals v...-ho order goods without paying_, or 
hre�k intu the �omputcr systems of businesses 
and move money to their own account or send 
viruses which can seriously damage computers 
and the information they contain. 

Criminals can use the internet to plan crimes 
and pass on confidential information more easily 
than meetings or telephone conversations. 
Compulcrs allmv criminals access to millions of 
people \Vhom they nrny persuade to pay for 
something worthless. 
Answer the following questions: (18 marks) 

I. \Vhy hus computer crime increased recently?

2. How can viruses affect computers?

3. What may computer criminals convince people
to do? 

below: 

Nobel ·was very interested in literature and 
peace-re1ated i�su.es. I le held views that were 
considereJ radical for his time. In l 867� he 
received a patent for dynamite. A bout 1X.75 he 
pro<lu�ed a pm,verfol explosive called blasting 
gelatin. In all, Nohel held more than 1 OU patents. 

The incorrect publication in 1888 uf a premature 
obituary of Nobel by a French newspaper� 
condemning him for his invention of dynamite, is 
said to have brought about his decision to leave a 
better 1egacy after his death. Alfred Nobel made 
his last will in Paris. When it was opened and read I 
after his death, the wi II caused a lot of local and I 
international controversy, as Nobel had left much 
of his wealth for the establishment of a prize! His 
family opposed the establishment of the Nobel 
Prize, and the people he asked to award the prize 
refused to do what he had requested in his wil I. 

In his last will and testament� Airred Nohel 
specifically designated the inslitt1tions responsible 
for the prizes he wished lo be established. 
Choose the correct answer a, b or c: 

(12 marks) 
8. The incorrect publication of Nobel's death

caused him to make his decision to-------. 
a- neglect peace-related issues
b- establish hi� own prize
c- refuse any mcda]

9. The institutions rcspousiblc for awarding the
Nobel Prize were determined by-------. 

a- the Swedish government
b- members of Nobel's family
c- Nobel himself

Find n:ords in the text which mean the following: 
(10 marks) Match two of the underlined words from the

text to the definitions/meanings below: 
4. the <.:rime of lying or cheating to get 1noney (12 marks) 

5. to show that something is true
Rew rite these sentences about the text to correct 
the information: (12 marks) 

6. Thi..� Internet prevents computer criminals to pass
on information more casi1y. 

7. Computer criminals can't be seen which makes
it easi�r to solve computer l:rimes. 

10. personal opinions about something
11. �onnectcd with or involving two or more countries
Comulde the following sentences with information

from the text: (12 marks) ! 

12. When Nobel's will v,a, opened and read. his . \ 

13. �:
n

:i:·,;��-.--�::��;·���-�·�;�at inlcr�:.i��----•·· _J 

https://t.me/bakaloria_plus




1 ص          زيع والطبع هحفىظت لىزارة التربيت حقىق النشر والتى        1027 خاص بالدورة الاهتحانيت الأولى لعاماللغت الإنكليسيت /العلوي/ هادة   

 

 

 
 الجمهورية العربية السورية 

 وزارة التربية       
 

 
 
 
 
 
 
 
 
 

 سـمم تصحيح مـادة المغـة الإنكميزيـة
 لامتحان شـهادة الدراسة الثانويـة العامة

 الفرع العممي
 الدورة الأولى

 م1027دورة عام 
 
 
 
 
 
 
 
 
 
 
 
 



2 ص          زيع والطبع هحفىظت لىزارة التربيت حقىق النشر والتى        1027 خاص بالدورة الاهتحانيت الأولى لعاماللغت الإنكليسيت /العلوي/ هادة   

 

 

 

  درجة/000/: الدرجة                  المغة الإنكميزية مادة               العامةسمّم تصحيح شهادة الثانوية 
 الفرع العممي            م       1027الدورة الامتحانية الأولى لعام 

 
 

 

 
I-    Group 1:   1   –  7 

II-  Group2:     8  –  13 

III- Group 3:   14 – 24 

IV- Group 4:   25 – 33 

V-  Group5:     34 – 38 

VI- Group 6:  composition 

 

 ملاحظــات:
 توضع العلامة المستحقة لكل سؤال عمى يسار الرقم. -
 عمى رقم الإجابة الخطأ. (X)توضع إشارة  -

وتكتب رقماً تجمع درجات الإجابة لكل مجموعة وتوضع في مربع عند نهاية المجموعة في الزاوية اليمنى  -
 وكتابة بالمغة العربية.

ويسجل كل من المصحح  والمحدق   ترفع درجة كل مجموعة إلى الحقل المخصص لها في جدول الدرجات -
 ويوقع عميها )مع مراعاة حقل الكسور والآحاد والعشرات(.اسمه 

مدرجححة يعححد الجححدول الخححاص بححعلا وتححوز  الححدرجات وفحح  الحقححول ال:عنححد نهايححة تصحححي  موضححو  الإنشححا  -
عمحى ورقحة الإجابحة وتوضحع درجحة كحل حقحل  محام كحل ححر   حم  (T , G , V , S , C)وتوضحع احححر  

 تجمع وتوضع ضمن مربع وترفع إلى الحقل المخصص لها في جدول الدرجات.
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Group1 From 1- 7 

Model answers: (1-3) 

1- (Computer crime has increased recently as / because / since) the number of 

people using the Internet (to buy things or to access their bank accounts) has 

grown / increased / become more. 

2- Viruses / They (can seriously) damage / destroy computers and the information 

they contain.  

- Viruses / They (can seriously) damage / destroy computers. 

- Viruses / They (can) damage / destroy the information. 

- By damaging / destroying computers / the information (the computers contain). 

3- (They may convince / persuade them) to pay for something worthless.  

 (N.B): If the student only writes: 

No. 2  "damaging / damage / destroying / destroy ", his answer rates 3 marks. 

No.3   "to pay for  /  buy something / goods ", his answer rates 3 marks. 

Remarks from (1-3) 

(N.B): - Information between brackets is optional. 

1- Each item is allotted 6 marks. 

2- Overlook irrelevant information unless it exceeds one sentence. If so, the 

answer rates zero. 

3- Deduct only 1 mark for the whole sentence in case there is any kind of 

copying, spelling or grammar mistake. 

4- Any logical answer related to the text is accepted. 

Model answers from (4-5) 

4- fraud  

5- prove  

Remarks from (4-5) 

1- Each item is allotted 5 marks. 

2- Only the above mentioned answers are accepted. 

3- Overlook copying mistakes and capitalization. 

4- If the student writes two answers for the same item, consider the first.  
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Model answers from (6-7) 

6- The Internet allows / helps / enables / permits computer criminals to pass on 

information more easily. 

- The Internet makes / lets computer criminals pass on information more easily. 

- Computer criminals use the Internet to pass on information easily / to commit 

crimes. 

N.B.   If the student writes the sentence using the negative form, his answer              

rates 3 marks. (The Internet doesn't prevent computer criminals to pass on 

information more easily). 

7- Computer criminals can't be seen / are invisible which makes it (more) difficult / 

hard / harder to solve computer crimes.  

- Computer criminals can't be seen / are invisible which makes it easy / easier to 

commit computer crimes. 

N.B.   If the student writes the sentence using the negative form, his answer              

rates 3 marks. (Computer criminals can't be seen / are invisible which 

doesn't make it easy / easier to solve computer crimes). 

Remarks from (6-7)  

1- Each item is allotted 6 marks. 

2- The above mentioned answers are accepted in addition to any logical answer. 

3- Deduct 1 mark for each grammar or spelling mistake. The total deduction should 

not exceed 3 marks if the answer still makes sense. 

4-  Overlook copying mistakes and capitalization.   

5- If the student writes only the correction without rewriting the whole sentence, his 

answer rates 3 marks. 

6- Any logical answer related to the text is accepted.  
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Group 2 From 8-13 

Model answers (8-9) 

8- b / establish his own prize 

9- c / Nobel himself     

Remarks from (8-9) 

1- Each item is allotted 6 marks. 

2- Either the letter or the complete answer is accepted or both. 

3- If the student writes two answers for the same item, consider the first. 

4- Overlook copying mistakes. 

(N.B): - If the student writes only the first word of the correct answer,                              

his answer rates full mark. 

Model answers (10-11) 

10- views  

11- international  

Remarks from (10-11) 

1- Each item is allotted 6 marks. 

2- Only the above mentioned answers are accepted. 

3- Overlook copying mistakes and capitalization. 

4- If the student writes two answers for the same item, his answer rates zero even if 

one of them is correct.  

Model answers (12-13) 

12- …… opposed (the establishment of the Nobel Prize / it).  

-  ………. refused / rejected / didn't accept / didn't agree / disagreed (to do what  

                he had requested in his will).    

13- ………. literature and peace-related issues. 

(N.B)  If the student writes one item, e.g. " literature " / "peace related issues", his answer 

rates  3 marks. 

Remarks from (12-13) 

1- Each item is allotted 6 marks. 

2- The above mentioned answers are accepted in addition to any logical 

completion related to the text. 

3- Overlook copying, grammar and spelling mistakes. 

4- Any addition or omission that doesn't make distortion is overlooked. 
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Group 3 From 14-24 

Model answers (14-16) 

14- be 

15- because / since / as / for / and / so  

16- the 

Remarks from (14-16) 

1- Each item is allotted 6 marks. 

2- Only the above mentioned answers are accepted. 

3- Spelling mistakes are overlooked, unless they give rise to new words. 

    If so, the answer rates zero.  

4- If the student writes two answers for the same question, consider the first. 

Model answers (17-20) 

17- selling 

18- waste  

19- laboratory  

20- allowed  

Remarks from (17-20) 

1- Each item is allotted 6 marks. 

2- Only the above mentioned answers are accepted. 

3- Overlook copying mistakes and capitalization. 

4- If the student writes two answers in one space, his answer rates zero. 

5- Repeating the same answer more than once rates zero, even if one of them is 

correct.   

6- Answers in the form of numbers rate zero. 
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Model answers (21-24) 

21- Where is Damascus (located / situated / placed)? 

- Where / What is the location of Damascus? 

- What / Which place / is Damascus located in? 

- Which / What city is located in the south west of Syria? 

- Is Damascus in the south or in the north / east / west of Syria? 

22- How many tourists (do) visit Damascus / it every year? 

- How often do tourists visit Damascus / Syria / it?  

- What is the number of tourists who visit Damascus (every year)? 

- Who visits Damascus / it every year? 

23- Why do they visit Syria?  

- What do they visit Syria for? 

- What do they want to explore?  

- What is the purpose of / reason of / for their visit? 

- What attracts tourists / them in Syria? 

- What makes tourists / them interested in visiting Syria? 

- What makes them visit Syria? 

24- (Answers vary) 

Remarks from (21-24) 

1- Each item is allotted 8 marks.  

2- Deduct 3 marks for wrong question word/ word cluster 

3- Deduct 2 marks for any grammar mistake provided that the total deduction 

should not exceed 4 marks if the question still makes sense. 

 e.g. wrong tense, wrong auxiliaries, wrong articles, wrong pronouns  

4- If the student writes two questions for the same answer, consider the first. 

5- Overlook capitalization and spelling mistakes.  

6- If the student writes the correct question word only, his answer rates 3 marks. 

7- Any logical question or answer related to the dialogue is accepted.  
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Group 4 From 25-33 

Model answers (25-28) 

25- He is going to have his tooth / it taken (out).  

 (N.B)  - If the student adds "himself" at the end of the correct answer,                             

deduct 2 marks. 

- The marks are distributed as follows:  

2 marks for the subject            He  

2 marks for have                      is going to have 

2 marks for the object            his tooth / it  

2 marks for the past participle            taken (out) 

(N.B)  - If the student writes only one item, his answer rates zero. 
 

26- The bridge was built in 1990 (by skilled engineers).  

- The bridge was built by skilled engineers (in 1990). 

(N.B)  - The marks are distributed as follows: 

2 marks for the object           the bridge     

2 marks for verb to be           was 

2 marks for the past participle            built  

2 marks for time phrase or agent            in 1990 / skilled engineers 

(N.B)  - If the student writes only one item, his answer rates zero. 

27- She asked her friend if / whether she / he had been to Palmyra before.  

28- I wish I could (sing well).  

-  I wish I could / would be a singer. 

- I wish I was / were a singer.  

- I wish I sang well.  

Remarks from (25-28) 

1- Each item is allotted 8 marks. 

2- Overlook spelling mistakes. 

3- Deduct 2 marks for each grammar mistake provided that the total deduction 

should not exceed 4 marks if the sentence still makes sense.    
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Model answers (29-30) 

29- …… (answers vary) all tenses except past perfect  

(N.B)   The past perfect can be accepted in case a student writes two past actions in 

his clause.  

30- ……. (answers vary) all past tenses 

 

Remarks from (29-30) 

1- Each item is allotted 7 marks. 

2- The completion that doesn't make sense rates zero, even if it is grammatically 

correct. 

3- Deduct 2 marks for any grammar mistake, provided that the total deduction should 

not exceed 4 marks if the completion still makes sense. 

4- Overlook spelling mistakes unless they give rise to another meaning.                                

If so, deduct 1 mark provided that the total deduction should not exceed                 

3 marks if the completion still makes sense.  

5- Overlook punctuation marks. 

6- Any logical completion is accepted. 

7- The clause must contain a subject and a verb. If not, the answer rates zero. 

 

Model answers (31-33) 

31- in order to  

32- ran out of  

33- made  

Remarks from (31-33) 

1- Each item is allotted 6 marks. 

2- Only the above mentioned answers are accepted. 

3- Overlook copying mistakes. 

4- Two answers for the same number rates zero 
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Group 5 From 34-38 

 
Model answers (34-36) 

34- would / could / might / should  stop  

35- has been playing / has played / must have played / must have been playing   

N.B   If the student writes "have" instead of "has" or writes "has" instead of 

"have", deduct 2 marks. 

36- are discussing / could / might / must be discussing  

N.B   If the student writes "am / is" instead of "are", deduct 2 marks. 

Remarks from (34-36) 

1- Each item is allotted 6 marks. 

2- Only the above mentioned answers are accepted. 

3- Overlook spelling mistakes unless they give rise to another meaning.                     

If so, deduct 1 mark.  

e.g.  (been             bee) / ( could              cold) 

7- In case the student writes two answers for the same number, consider the first. 
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Model answer (37) 

 : .يقوم رواد الفضاء بأبحاث ليدرسوا / كيف تؤثر مدة البقاء في الفضاء عمى جسم الإنسان 37- -

 / يدرسيجري / ينفع / يعد / ينجز يقوم: 
 رجال الفضا   رواد الفضاء:

 الجسم البشري جسم الإنسان:
 
 

Remarks for (37) 

1- The item is allotted 10 marks. 

2- The statement is divided into 2 units. Each unit is allotted 5 marks. 

3- Each unit is treated separately. 

4- Deduct 1 mark for:  

- a missing or wrongly translated word 

- a grammar mistake 

- a spelling mistake  if it gives rise to a new meaning, 

 provided that the total deduction shouldn't exceed 4 marks if the sentence 

still makes sense. 

5- Any other logical translation is accepted. 
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Model answer (38) 

38- Building factories outside cities / reduces pollution (there / in them).  

- Building: Constructing / Establishing / Founding / The construction of   

-  factories: plants 

-  cities: the city 

- reduces: lessens / decreases / makes less / causes less / leads to less 

Remarks for (38) 

1- The item is allotted 8 marks. 

2- The sentence is divided into 2 units. Each unit is allotted 4 marks.  

3- Each unit is treated separately. 

4- Deduct 1 mark for:  

- a missing or wrongly translated word 

- a grammar mistake 

- a spelling mistake if it gives rise to a new meaning,  provided that the total 

deduction shouldn't exceed 4 marks if the sentence still makes sense. 

5- Any other logical translation is accepted. 
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Group 6 - Composition 
Remarks: 

1-  (50 marks) are allotted to this item. 

2-Before starting the correction of the composition, the teacher should make 

first reading to the whole paragraph to figure out if it is relevant to the topic 

or not. 

3-If a student writes more than the required number of words, his/her topic is 

accepted. 

4- a- On average, a paragraph between 70-80 words rates (50 marks). 

b- A paragraph between 60-69 words rates (45 marks).                                   

Each field is allotted 9 marks. 

c- A paragraph between 50-59 words rates (40 marks).                              

Each field is allotted 8 marks. 

d- A paragraph between 40-49 words rates (35 marks).                                     

Each field is allotted 7 marks. 

e- a paragraph between 30-39 words rates (25 marks). 

Each field is allotted 5 marks. 

f- A paragraph between 20-29 words rates (20 marks) 

Each field is allotted 4 marks. 

N.B. - Overlook the first two spelling mistakes and the first grammar 

mistake; then deduct one mark for each mistake.  

- Overlook the first two wrong or missing punctuation marks or wrong 

capitalization; then deduct one mark for each mistake. 

- If the student describes a visit to a place or a tourist site and gives a clear 

description of a building in that place, his composition rates full mark. 

- If the student mentions a visit to a place or a tourist site and gives 

some description of a building in that place, deduct 3 marks from 

each category. 

- If the student describes a visit to a place or a tourist site without 

mentioning any description of a building, his composition rates zero. 

- If the student writes less than 20 words, give 5 marks for each 

correct relevant sentence. 

5- The following chart shows the distribution of the (50 marks): 



 14ص                  (  حقىق النشر والتىزيع والطبع هحفىظت لىزارة التربيت 1022 خاص بالدورة الاهتحانيت الأولى لعاماللغت الإنكليسيت / الفرع العلوي/ هادة   )

Communication 
Spelling and 

punctuation 
Vocabulary Grammar Task response 

outstanding 

communication; clear, 

coherent and well-

organised text with 

complex language when 

appropriate. 

extremely accurate 

spelling and 

punctuation in simple 

and complex language. 

very wide range of 

accurate and 

appropriate vocabulary 

required for the task. 

very wide range of 

accurate and 

appropriate grammar 

required for the task. 

the task response is 

comprehensive, relevant 

and well-developed. 

(10 marks) (10 marks) (10 marks) (10 marks) (10 marks) 

meaning is clear and 

easy to understand; 

good organization. 

good punctuation and 

spelling; errors may 

occur in complex 

language. 

a good range of 

vocabulary; few errors 

occur except in complex 

vocabulary. 

a good range of 

grammar usage; few 

errors occur except in 

complex structures. 

response is wholly 

relevant but is partially 

developed or not fully 

exploited. 
(9 marks) (9 marks) (9 marks) (9 marks) (9 marks) 

overall meaning is 

conveyed with some 

errors but without 

undue problems for the 

reader 

errors of punctuation 

and spelling occur but 

don't cause undue 

problems for the reader. 

adequate knowledge of 

a range of the 

vocabulary items 

required to carry out the 

task. 

adequate knowledge of 

a range of the grammar; 

more accurate than 

inaccurate. 

largely relevant 

response but without 

much development or 

with some irrelevance. 

(8 marks) (8 marks) (8 marks) (8 marks) (8 marks) 

meaning is only 

conveyed with 

significant effort on the 

part of the reader. 

errors of punctuation 

and spelling create 

problems for the reader. 

some vocabulary 

knowledge but frequent 

errors or gaps mean 

vocabulary is 

insufficient for the task. 

some grammar 

knowledge but frequent 

errors or gaps mean 

grammar is insufficient 

for the task. 

some relevant response 

to the task, though at 

times the task appears 

not to have been 

understood. 
(7 marks) (7 marks) (7 marks) (7 marks) (7 marks) 

no response or response 

insufficient to grade. 

no response or response 

insufficient to grade. 

no response or response 

insufficient to grade. 

no response or response 

insufficient to grade. 

no response or response 

insufficient to grade. 
zero zero zero zero zero 

  N.B.  Deduct 1 mark once for the same repeated mistakes. 

-انتهى السلن  -
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1 I-· Read the following text then do the tasks
-----------------, 

11- Read the following text then do the tasks
below: / below: 

ln 1953, Edmund Hillary became the first 
pi.:r.,;un lo reach the summit of Mount Everest, the 
highest mountain in the world. Hillary, from New 
7-i:aland, and his Nepalese climbing companion. 
Tcnzing Norgay were part of the 9th British 
�xpcdition to attempt to reach the summit. 

The leam had to overcome extreme cold, 
,-;trong 'vVinds, dizzying heights and dangerously 
low levels of oxygen. Temperatures were below 
freezing point and they were at constant risk of 
getting frostbite. The two men did not have the 
saml; sophisticated equipment that is used today, 
and the extremely high altitude could have caused 

Chemically speaking, caffeine was first 
extracted from plants in its pure fonn in 1820. 
But now, it can be made in the laboratory. 
Caffeine is an odourless, slightly bitter solid. 
When caffeine is removed from the source plant 
and reduced to its purest state, it forms a white 
powder. This powdered fonn of caffeine is very 
bitter. that is why many drinks containing caffeine 
also contain lots of sugar or other sweeteners. 

- jCrious medical problems. 

, Caffeine is use<l as a stimulant of the heart and 
; nervous system in certain disorders. Caffeine may 
not be addktiv� in the classic sense, but the body 
does build up a tolerance over time. Some people 
find it diffil:ult to function without at least one 
cup of strong coffee or tea in the morning. The 
stimulating effects of caffeine are caused by a 
central nervous reaction. 'Ibe heart rate increases, 
blood vessels expand and the brain receives more 
oxygen. This effect can last up to an hour. 

They made it to the top where they took the 
· photograph that proved they had reached the 
highest point on earth. 

Hillary was a born explorer and conquering 
Everest was the first in a series of achievements. 
Hillruy attributed his success to the whole team 
who supported him. He later established the 
Himalayan Trnst, an organisation committed to 
helping the Nepalese Sherpa communities. The 

Caffeine is a stimulant found in many plant 
I species. The most common natural sources of 
I caffeine are coffee, tea and cocoa. 

I Choose the correct answer a, b or c: 
. (12 marks) 
! 8. Caffeine which is taken from plants is a little-------.

. trust has helped to build hospitals and schools. 
I 

·1 a- hitter liquid without a smell
b- sweet solid with a smell! Ami'wcr the following questions: (18 marks) 

l c- bitter solid without a smellI
! 

I. r-.1cntion three difficulties the team had lo 
overcome in the expedition. 9, Caffeine affects the human body by making----- .1 

2. Ifow di<l the Himalayan Trust help the
Nepalese Sherpa communities? 

3. Who did Hillary attribute his success to?

a- the brain get less oxygen i 
b- the blood vessels become greater in size

· c- the heart rate decrease
Match two of the underlined words from the 

fi!u.1 words in the text which mean the following: text to the definitions/meanings below: 
(10 marks) (12 marks) 

4. height 10. can't stop taking or using something

5. slaying the same I not changing
! 11. a substance that encourages someone to be
I more alert and e.xcited 

B,ewrite these sentences about the text to correct 
i the information; (12 marks) 

I Complete the following sentences with information 
: from the tut: (12 marks) 

i 

ft. When Hillary and Tenzing reached the summit, J 12. Caffeinf' can be found in many plant species
i.hcy recorded a video. l : l a 

1. :�:�::�:�1� I�,�� �{,:ll�t I �
t
v:��;t:•_c �:

a
_c_h-ed-th_e ___ L 3 .. f iti; i;�: ��; ��Ii i�,;�c;��: �i'�_�;��-• 
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  درجة/000/: الدرجة                  المغة الإنكميزية مادة               العامةسمّم تصحيح شهادة الثانوية 
 الفرع العممي            م       1027لعام  الثانيةالدورة الامتحانية 

 
 

 

I-    Group 1:   1   –  7 

II-  Group2:     8  –  13 

III- Group 3:   14 – 24 

IV- Group 4:   25 – 33 

V-  Group5:     34 – 38 

VI- Group 6:  composition 

 

 ملاحظــات:
 توضع العلامة المستحقة لكل سؤال عمى يسار الرقم. -
 عمى رقم الإجابة الخطأ. (X)توضع إشارة  -

وتكتب رقماً تجمع درجات الإجابة لكل مجموعة وتوضع في مربع عند نهاية المجموعة في الزاوية اليمنى  -
 وكتابة بالمغة العربية.

ويسجل كل من المصحح  والمحدق   ترفع درجة كل مجموعة إلى الحقل المخصص لها في جدول الدرجات -
 ويوقع عميها )مع مراعاة حقل الكسور والآحاد والعشرات(.اسمه 

مدرجححة يعححد الجححدول الخححاص بححعلا وتححوز  الححدرجات وفحح  الحقححول ال:عنححد نهايححة تصحححي  موضححو  الإنشححا  -
عمحى ورقحة الإجابحة وتوضحع درجحة كحل حقحل  محام كحل ححر   حم  (T , G , V , S , C)وتوضحع احححر  

 تجمع وتوضع ضمن مربع وترفع إلى الحقل المخصص لها في جدول الدرجات.
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Group1 From 1- 7 

Model answers: (1-3) 

1- The team had to overcome extreme cold, strong winds, dizzying heights, low 

level of oxygen, serious medical problems, risk of getting frostbite and they 

didn't have the same sophisticated equipment that is used today.  

(N.B): Each item is allotted 2 marks. 

2- It / The Himalayan Trust helped (to) build hospitals and schools.  

-  It / The Himalayan Trust helped (to) build hospitals / schools. 

3- (He / Hillary attributed his success) to the (whole) team (who supported him).  

Remarks from (1-3) 

(N.B): - Information between brackets is optional. 

1- Each item is allotted 6 marks. 

2- Overlook irrelevant information unless it exceeds one sentence. If so, the 

answer rates zero. 

3- Deduct only 1 mark for the whole sentence in case there is any kind of 

copying, spelling or grammar mistake. 

4- Any logical answer related to the text is accepted. 

Model answers from (4-5) 

4- altitude  

5- constant 

Remarks from (4-5) 

1- Each item is allotted 5 marks. 

2- Only the above mentioned answers are accepted. 

3- Overlook copying mistakes and capitalization. 

4- If the student writes two answers for the same item, consider the first.  
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Model answers from (6-7) 

6- When / After Hillary and Tenzing reached the summit, they took a photograph.  

- They made it to the top where they took the photograph that proved they had 

reached the highest point on earth.  

N.B.   If the student writes the sentence using the negative form, his answer              

rates zero. 

7- Before Hillary, no one reached the summit of  Mount Everest.  

-  Hillary was the first person to reach the summit of Mount Everest.  

- After Hillary, a lot of / many people reached the summit of Mount Everest. 

N.B.   If the student writes the sentence using the negative form, his answer              

rates zero. 

Remarks from (6-7)  

1- Each item is allotted 6 marks. 

2- The above mentioned answers are accepted in addition to any logical answer. 

3- Deduct 1 mark for each grammar or spelling mistake. The total deduction should 

not exceed 3 marks if the answer still makes sense. 

4-  Overlook copying mistakes and capitalization.   

5- If the student writes only the correction without rewriting the whole sentence, his 

answer rates 3 marks. 

6- Any logical answer related to the text is accepted.  
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Group 2 From 8-13 

Model answers (8-9) 

8- c / bitter solid without a smell  

9- b / the blood vessels become greater in size      

Remarks from (8-9) 

1- Each item is allotted 6 marks. 

2- Either the letter or the complete answer is accepted or both. 

3- If the student writes two answers for the same item, consider the first. 

4- Overlook copying mistakes. 

Model answers (10-11) 

10- addictive  

11- stimulant  

Remarks from (10-11) 

1- Each item is allotted 6 marks. 

2- Only the above mentioned answers are accepted. 

3- Overlook copying mistakes and capitalization. 

4- If the student writes two answers for the same item, his answer rates zero even if 

one of them is correct.  

Model answers (12-13) 

12- …… coffee, tea and cocoa.   

(N.B)  If the student writes only one item, his answer rates  full mark. 

13- ………. can be made in the laboratory. 

Remarks from (12-13) 

1- Each item is allotted 6 marks. 

2- The above mentioned answers are accepted in addition to any logical 

completion related to the text. 

3- Overlook copying, grammar and spelling mistakes. 

4- Any addition or omission that doesn't make distortion is overlooked. 
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Group 3 From 14-24 

Model answers (14-16) 

14- of 

15- and / or / as well as / in addition to  

16- have  

 (N.B: no.16)  If the student writes " has "  or  " had " , deduct  2  marks. 
 

Remarks from (14-16) 

1- Each item is allotted 6 marks. 

2- Only the above mentioned answers are accepted. 

3- Spelling mistakes are overlooked, unless they give rise to new words. 

    If so, the answer rates zero.  

4- If the student writes two answers for the same question, consider the first. 

Model answers (17-20) 

17- bright  

18- behind  

19- reason  

20- everything  

Remarks from (17-20) 

1- Each item is allotted 6 marks. 

2- Only the above mentioned answers are accepted. 

3- Overlook copying mistakes and capitalization. 

4- If the student writes two answers in one space, his answer rates zero. 

5- Repeating the same answer more than once rates zero, even if one of them is 

correct.   

6- Answers in the form of numbers rate zero. 
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Model answers (21-24) 

21- What is law?  

- What does law mean? 

- What is the definition / meaning of law ?  

- What is a set of rules ? 

22- Why are laws made? 

- Why are there laws? 

- What is the reason of / behind making laws ? 

- Why do we make / have  laws ? 

- What are laws important for ? 

- What do laws organize ? 

23- Who makes sure that people obey the law ? 

- What do police and judges do / make sure of ?  

24- (Answers vary) 

Remarks from (21-24) 

1- Each item is allotted 8 marks. 

2- Yes / No questions rate zero.  

3- Deduct 3 marks for wrong question word/ word cluster 

4- Deduct 2 marks for any grammar mistake provided that the total deduction 

should not exceed 4 marks if the question still makes sense. 

 e.g. wrong tense, wrong auxiliaries, wrong articles, wrong pronouns  

5- If the student writes two questions for the same answer, consider the first. 

6- Overlook capitalization and spelling mistakes.  

7- If the student writes the correct question word only, his answer rates 3 marks. 

8- Any logical question or answer related to the dialogue is accepted.  
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Group 4 From 25-33 

Model answers (25-28) 

25- The (natural) environment has been changed by elephants. 

   

 (N.B)  - The marks are distributed as follows: 

2 marks for the object           The (natural) environment  

2 marks for verb to be           has been 

2 marks for the past participle            changed 

2 marks for agent             by elephants 

(N.B)  - The student should mention at least the first three elements.                                     

If he doesn't write the agent, deduct 2 marks. 

26- I wish travelling by plane weren't / wasn't expensive.  

- I wish it weren't / wasn't.  

- I wish it were / was cheap(er). 

- I wish it would / could be cheap(er).  

27- He asked me what my favourite hobby was.  

28- My brother had the room painted.  

 (N.B)  - If the student adds "himself" at the end of the correct answer,                             

deduct 2 marks. 

 (N.B)  - If the student's sentence doesn't contain the four elements or doesn't make 

sense, his answer rates zero. 

Remarks from (25-28) 

1- Each item is allotted 8 marks. 

2- Overlook spelling mistakes. 

3- Deduct 2 marks for each grammar mistake provided that the total deduction 

should not exceed 4 marks if the sentence still makes sense.    
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Model answers (29-30) 

29- …… (answers vary) only simple past tense is accepted.  

30- ……. (answers vary) only simple present tense is accepted.  

 

Remarks from (29-30) 

1- Each item is allotted 7 marks. 

2- The completion that doesn't make sense rates zero, even if it is grammatically 

correct. 

3- Deduct 2 marks for any grammar mistake, provided that the total deduction should 

not exceed 4 marks if the completion still makes sense. 

4- Overlook spelling mistakes unless they give rise to another meaning.                                

If so, deduct 1 mark provided that the total deduction should not exceed                 

3 marks if the completion still makes sense.  

5- Overlook punctuation marks. 

6- Any logical completion is accepted. 

7- The clause must contain a subject and a verb. If not, the answer rates zero. 

 

Model answers (31-33) 

31- tune  

32- mathematical  

33- running out of  

Remarks from (31-33) 

1- Each item is allotted 6 marks. 

2- Only the above mentioned answers are accepted. 

3- Overlook copying mistakes. 

4- Two answers for the same number rates zero 
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Group 5 From 34-38 

 
Model answers (34-36) 

34- will get / is going to get  

35- was playing  

N.B   If the student writes "were" instead of "was", deduct 2 marks. 

36- Have been living / have lived  

N.B   If the student writes "has" instead of "have", deduct 2 marks. 

Remarks from (34-36) 

1- Each item is allotted 6 marks. 

2- Only the above mentioned answers are accepted. 

3- Overlook spelling mistakes unless they give rise to another meaning.                     

If so, deduct 1 mark.   

e.g.  (been             bee)  

4- In case the student writes two answers for the same number, consider the first. 
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Model answer (37) 

 : .الورق المصنوع من عجينة الخشب / قوة ليس بنفسالورق المعاد تصنيعه  37- -

 إنّ الور  الورق: 
 المدور / المكرر  المعاد تصنيعه:

 لا يكون / لا يشبه  ليس:
 متانة : قوة

 لحا  الخشب / عجينة الور   عجينة الخشب:
  

 

Remarks for (37) 

1- The item is allotted 10 marks. 

2- The statement is divided into 2 units. Each unit is allotted 5 marks. 

3- Each unit is treated separately. 

4- Deduct 1 mark for:  

- a missing or wrongly translated word 

- a grammar mistake 

- a spelling mistake  if it gives rise to a new meaning, 

 provided that the total deduction shouldn't exceed 4 marks if the sentence 

still makes sense. 

5- Any other logical translation is accepted. 
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Model answer (38) 

38- Plants use different ways / to protect themselves from animals.  

-  use: make use of / utilize / utilise 

- different: several / many / various    

- ways: methods / means / strategies  

- to protect: to save  / to keep   

Remarks for (38) 

1- The item is allotted 8 marks. 

2- The sentence is divided into 2 units. Each unit is allotted 4 marks.  

3- Each unit is treated separately. 

4- Deduct 1 mark for:  

- a missing or wrongly translated word 

- a grammar mistake 

- a spelling mistake if it gives rise to a new meaning,  provided that the total 

deduction shouldn't exceed 4 marks if the sentence still makes sense. 

5- Any other logical translation is accepted. 
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Group 6 - Composition 
Remarks: 

1-  (50 marks) are allotted to this item. 

2-Before starting the correction of the composition, the teacher should make 

first reading to the whole paragraph to figure out if it is relevant to the topic 

or not. 

3-If a student writes more than the required number of words, his/her topic is 

accepted. 

4- a- On average, a paragraph between 70-80 words rates (50 marks). 

b- A paragraph between 60-69 words rates (45 marks).                                   

Each field is allotted 9 marks. 

c- A paragraph between 50-59 words rates (40 marks).                              

Each field is allotted 8 marks. 

d- A paragraph between 40-49 words rates (35 marks).                                     

Each field is allotted 7 marks. 

e- a paragraph between 30-39 words rates (25 marks). 

Each field is allotted 5 marks. 

f- A paragraph between 20-29 words rates (20 marks) 

Each field is allotted 4 marks. 

N.B. - Overlook the first two spelling mistakes and the first grammar 

mistake; then deduct one mark for each mistake.  

- Overlook the first two wrong or missing punctuation marks or wrong 

capitalization; then deduct one mark for each mistake. 

- If the student describes a visit to a place or a building without mentioning 

any recommendations about where to build houses, his composition rates 

zero. 

- The student should mention at least two recommendations in his topic.   

- If the student mentions only one recommendation in his topic, deduct 

3 marks from each category. 

5- The following chart shows the distribution of the (50 marks): 



  14ص                                                      حقىق النشر والتىزيع والطبع هحفىظت لىزارة التربيت               1027 لعام الثانيتخاص بالدورة الاهتحانيت اللغت الإنكليسيت / الفرع العلوي/ هادة                 )

Communication 
Spelling and 

punctuation 
Vocabulary Grammar Task response 

outstanding 

communication; clear, 

coherent and well-

organised text with 

complex language when 

appropriate. 

extremely accurate 

spelling and 

punctuation in simple 

and complex language. 

very wide range of 

accurate and 

appropriate vocabulary 

required for the task. 

very wide range of 

accurate and 

appropriate grammar 

required for the task. 

the task response is 

comprehensive, relevant 

and well-developed. 

(10 marks) (10 marks) (10 marks) (10 marks) (10 marks) 

meaning is clear and 

easy to understand; 

good organization. 

good punctuation and 

spelling; errors may 

occur in complex 

language. 

a good range of 

vocabulary; few errors 

occur except in complex 

vocabulary. 

a good range of 

grammar usage; few 

errors occur except in 

complex structures. 

response is wholly 

relevant but is partially 

developed or not fully 

exploited. 
(9 marks) (9 marks) (9 marks) (9 marks) (9 marks) 

overall meaning is 

conveyed with some 

errors but without 

undue problems for the 

reader 

errors of punctuation 

and spelling occur but 

don't cause undue 

problems for the reader. 

adequate knowledge of 

a range of the 

vocabulary items 

required to carry out the 

task. 

adequate knowledge of 

a range of the grammar; 

more accurate than 

inaccurate. 

largely relevant 

response but without 

much development or 

with some irrelevance. 

(8 marks) (8 marks) (8 marks) (8 marks) (8 marks) 

meaning is only 

conveyed with 

significant effort on the 

part of the reader. 

errors of punctuation 

and spelling create 

problems for the reader. 

some vocabulary 

knowledge but frequent 

errors or gaps mean 

vocabulary is 

insufficient for the task. 

some grammar 

knowledge but frequent 

errors or gaps mean 

grammar is insufficient 

for the task. 

some relevant response 

to the task, though at 

times the task appears 

not to have been 

understood. 
(7 marks) (7 marks) (7 marks) (7 marks) (7 marks) 

no response or response 

insufficient to grade. 

no response or response 

insufficient to grade. 

no response or response 

insufficient to grade. 

no response or response 

insufficient to grade. 

no response or response 

insufficient to grade. 
zero zero zero zero zero 

 

                          N.B.  Deduct 1 mark once for the same repeated mistakes. 

-انتهى السلن  -  





'I' • ' � ew:. �.).J..J LWl .4.....J .;ljl\ �1_,.i,,JJ) iiJ!♦,d u_�I 
; �.,JI 

l'.)\.it;;.L...... : ii .1.....Jl 

� /Y'_ •.• I !'-3. i.lll 

f ·111- Complete the followi�-1!-P;-��-g�aph by filling ' 
in the gaps: (18 marks) 

14. The law related to computer crime----- changing

(�I t�) � �'jl ti.ill 

VII- Complete the following sentences using
clauses: (14 marks) 

29. If you want to succeed in your job, ................ .
15. very quickly. ----- recent years, computer crime · b k I 30 I ro c my g asses, so .................................... .
16. has increased----- the number of people using Choose the c;r�e�t words in brackets:

th.c Internet ha5 grown. 
---------------- ------- (18 marks) IV- Fill in the spaces with words from the list.

1· 

. . . 

Use each word once only: (24 marks) 1 3l. Many (recyclmg, recycle) factories were bmlt 
i in our town. 

lessons, successful, youngest, nothing, knew 

17. Marie's mother died when her----- daughter was

18. only ten. From then on, Marie ----- that she

19. would have to work hard at her----- tf she

20. wanted to be----- in her life.
-- -�-�---··--•• .. ··--- ----------� 

V- Complete the following dialogue by writing
suitable questions or answers. Write at least 
three words for each question: (32 marks) 

21. Ruba: ............................................................. ?
Khaled: Animals migrate to find food or to 

raise their young. 
22. Ruba: ............................................................. ?

Khalcd: They often migrate twice a year. 

32. When I was twelve, I (did, made) the decision
not to cat any more fast food. 

33. This man has three villas. He (can't be,must be)
rich. ----------l

IX- Correct the verbs in brackets: (18 marks)

34. My father retired after he (finish) the project.

.,s. Hassan (write) an essay all morning. He is very 
tired now. 

36. When Sarni graduates, he (travel) to London.
--···----------------------------------

X- Translation:
Translate the following sentence into Arabic: 

(10 marks) 

23. Ruba: ............................................................. ?
Khalcd: They usually travel to wanuer places. 

\ 37. Vittual reality allows people lo live, work and
interact with others in an electronic world. 

Ruba: How can we protect animals? 

24. Khaled: . . .. . . . .. . . . . ...... . . .......... . ................ ..... ...... . 

Translate the following sentence into English: 
(8 marks)

. -w·, ..(,iJG..J - 1 · "WI , .. i:i -·----------------- ----·-·-------�----··--7 38. ·UY 1 .A..,,.y � l.. VI- �ewrite the following sentences as require� 

� ________________ ·-_J 
m brackets: (32 marks) 

XI C --;1-.-- (50 marks) ' - .ompos1 ion: 

.1
25. Many women don't make their dresses I Write a composition of no less than 80 words on

I ' the following topic: themselves. 
(use the causative verb 'have') ! " Water sh01tage, suggestjng ways of con�uming 

i 26. Human activities have destroyed the natural
environment. 

(make passive voice) 
27. '' Have you tasted Indian food''"

(report using "She asked him") 

�m'l play the piano. 
( i,I . h" ) use w,s ........ : 

----- -� - �-. I 

less water. '' 

�:NI> OF EXAM 
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  درجة/000/: الدرجة                  المغة الإنكميزية مادة               العامةسمّم تصحيح شهادة الثانوية 
 الفرع العممي            م       1028الدورة الامتحانية الأولى لعام 

 
 

 

 

I-    Group 1:   1   –  7 

II-  Group2:     8  –  13 

III- Group 3:   14 – 24 

IV- Group 4:   25 – 33 

V-  Group5:     34 – 38 

VI- Group 6:  composition 

 

 ملاحظــات:
 توضع العلامة المستحقة لكل سؤال عمى يسار الرقم. -
 عمى رقم الإجابة الخطأ. (X)توضع إشارة  -

وتكتب رقماً تجمع درجات الإجابة لكل مجموعة وتوضع في مربع عند نهاية المجموعة في الزاوية اليمنى  -
 وكتابة بالمغة العربية.

ويسجل كل من المصحح  والمحدق   ترفع درجة كل مجموعة إلى الحقل المخصص لها في جدول الدرجات -
 ويوقع عميها )مع مراعاة حقل الكسور والآحاد والعشرات(.اسمه 

مدرجححة يعححد الجححدول الخححاص بححعلا وتححوز  الححدرجات وفحح  الحقححول ال:عنححد نهايححة تصحححي  موضححو  الإنشححا  -
عمحى ورقحة الإجابحة وتوضحع درجحة كحل حقحل  محام كحل ححر   حم  (T , G , V , S , C)وتوضحع احححر  

 تجمع وتوضع ضمن مربع وترفع إلى الحقل المخصص لها في جدول الدرجات.
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Group1 From 1- 7 

Model answers: (1-3) 

1- (The factors that affect the amount of our sleep / They are) our age, our daily 

routine, the quality of our sleep and our genetic make-up. 

(N.B):  

 If the student writes three items, the answer rates full mark. 

 If the student writes two items, the answer rates 3 marks. 

 If the student writes one item, the answer rates 2 marks. 

2- (Getting enough sleep allows us) to recharge our mental and physical batteries / be 

ready for each new day. 

3- Shallow sleepers wake up still feeling tired while deep sleepers wake up refreshed. 

- Shallow sleepers wake up still feeling tired.  

- Deep sleepers wake up refreshed. 

Remarks from (1-3) 

(N.B): - Information between brackets is optional. 

1- Each item is allotted 6 marks. 

2- Overlook irrelevant information unless it exceeds one sentence. If so, the 

answer rates zero. 

3- Deduct only 1 mark for the whole sentence in case there is any kind of 

copying, spelling or grammar mistake. 

4- Any logical answer related to the text is accepted. 

Model answers from (4-5) 

4- moody 

5- concentrate  

Remarks from (4-5) 

1- Each item is allotted 5 marks. 

2- Only the above mentioned answers are accepted. 

3- Overlook copying mistakes and capitalization. 

4- If the student writes two answers for the same item, consider the first.  
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Model answers from (6-7) 

6- Babies usually sleep more than adults.  

-  Babies need 16 hours of sleep while adults need about 8 hours a day.  

(N.B): - If the student writes only one item, the answer rates full mark. 

7- Many traffic accidents happen because of drivers who fall asleep (at the wheel).  

- Motorists who fall asleep (at the wheel) are responsible for thousands of traffic 

accidents (every year).  

 

Remarks from (6-7)  

1- Each item is allotted 6 marks. 

2- The above mentioned answers are accepted in addition to any logical answer. 

3- Deduct 1 mark for a grammar mistake. The total deduction should not exceed      

2 marks if the answer still makes sense. 

4-  Overlook copying mistakes and capitalization.   

5- If the student writes only the correction without rewriting the whole sentence, his 

answer rates 3 marks. 

6- If the student writes the sentence using the negative form, his answer rates zero.  

7- Any logical answer related to the text is accepted.  
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Group 2 From 8-13 

Model answers (8-9) 

8- a / cure many illnesses 

9- b / unable to fight      

Remarks from (8-9) 

1- Each item is allotted 6 marks. 

2- Either the letter or the complete answer is accepted or both. 

3- If the student writes two answers for the same item, consider the first. 

4- Overlook copying mistakes. 

(N.B): - If the student writes only the first word of the correct answer,                              

his answer rates full mark. 

Model answers (10-11) 

10- resistance 

11- survive  

Remarks from (10-11) 

1- Each item is allotted 6 marks. 

2- Only the above mentioned answers are accepted. 

3- Overlook copying mistakes and capitalization. 

4- If the student writes two answers for the same item, his answer rates zero even if 

one of them is correct.  

Model answers (12-13) 

12- ………. stop (taking the course of antibiotics).  

13- ………. kill all the resistant bacteria. 

Remarks from (12-13) 

1- Each item is allotted 6 marks. 

2- The above mentioned answers are accepted in addition to any logical 

completion related to the text. 

3- Deduct 1 mark for each grammar mistake. The total deduction should not exceed       

2 marks if the answer still makes sense. 

4- Overlook copying and spelling mistakes.  

5- Any addition or omission that doesn't make distortion is overlooked. 
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Group 3 From 14-24 

Model answers (14-16) 

14- is 

15- In / Over / During / Through 

16- because / since / as / and  

Remarks from (14-16) 

1- Each item is allotted 6 marks. 

2- Only the above mentioned answers are accepted. 

3- Spelling mistakes are overlooked, unless they give rise to new words. 

    If so, the answer rates zero.  

4- If the student writes two answers for the same question, consider the first. 

Model answers (17-20) 

17- youngest  

18- knew  

19- lessons 

20- successful 

Remarks from (17-20) 

1- Each item is allotted 6 marks. 

2- Only the above mentioned answers are accepted. 

3- Overlook copying mistakes and capitalization. 

4- If the student writes two answers in one space, his answer rates zero. 

5- Repeating the same answer more than once rates zero, even if one of them is 

correct.   

6- Answers in the form of numbers rate zero. 
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Model answers (21-24) 

21- Why do animals migrate?  

- What makes animals migrate? 

- What do animals migrate for? 

- For what do animals migrate? 

- What do animals do to raise their young / find food? 

 (N.B): - If the student writes " What do animals do? ", his answer rates 4 marks. 

22- How often do they migrate? 

- How many times (a year) do they migrate? 

23- Where do they (usually) travel (to)?  

-  Which / What places do they (usually) travel to? 

 (N.B.): - If the student writes " were instead of where ", deduct 1 mark. 

24- (Answers vary) 

Remarks from (21-24) 

1- Each item is allotted 8 marks.  

2- Deduct 2 marks for wrong question word/ word cluster. 

3- If the student writes a wrong question word with more than one grammar 

mistake, the answer rates zero. 

4- Deduct 2 marks for a grammar mistake provided that the total deduction 

shouldn't exceed 4 marks.  

5- If the student writes two questions for the same answer, consider the first. 

6- Overlook capitalization and spelling mistakes.  

7- If the student writes the correct question word only, his answer rates 2 marks. 

8- Any logical question or answer related to the dialogue is accepted.  
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Group 4 From 25-33 

Model answers (25-28) 

25- Many women have their (own) dresses made.  

- They have them made. 

 (N.B)  - If the student adds "themselves" to the correct answer, deduct 2 marks. 

26- The natural environment has been destroyed by human activities.  

(N.B)  - Deduct 2 marks if the student doesn't write the agent (by human activities). 

27- She asked him if / whether he had tasted (the) Indian food.  

(N.B)  - Deduct 2 marks if the student doesn't write (if / whether). 

28- I wish I could (play the piano).  

- I wish I played the piano. 

 (N.B)  - Any other correct wish sentence is accepted. 
 

Remarks from (25-28) 

1- Each item is allotted 8 marks. 

2- Overlook spelling mistakes. 

3- Deduct 2 marks for each grammar mistake provided that the total deduction 

should not exceed 4 marks if the sentence still makes sense.    
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Model answers (29-30) 

29- …… (answers vary)   

 (N.B)  - Imperative form rates full mark. 

30- ……. (answers vary)   

Remarks from (29-30) 

1- Each item is allotted 7 marks. 

2- The completion that doesn't make sense rates zero, even if it is grammatically 

correct. 

3- Deduct 1 mark for any grammar mistake, provided that the total deduction should 

not exceed 2 marks if the completion still makes sense. 

4- Overlook spelling mistakes unless they give rise to another meaning.                                

If so, deduct 1 mark provided that the total deduction should not exceed                 

3 marks if the completion still makes sense.  

5- Overlook punctuation marks. 

6- Any logical completion is accepted. 

7- The clause must contain a subject and a verb. If not, the answer rates zero. 

Model answers (31-33) 

31- recycling  

32- made  

33- must be 

Remarks from (31-33) 

1- Each item is allotted 6 marks. 

2- Only the above mentioned answers are accepted. 

3- Overlook copying mistakes. 

4- Two answers for the same number rates zero 
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Group 5 From 34-38 

 
Model answers (34-36) 

34- had finished / finished  

35- has been writing  

36- will travel / is going to travel / is travelling 

Remarks from (34-36) 

1- Each item is allotted 6 marks. 

2- Only the above mentioned answers are accepted. 

3- Overlook spelling mistakes unless they give rise to another meaning.                     

If so, deduct 1 mark.  

4- Complete (verb forms) are required, otherwise the answer rates zero. 

5- In case the student writes two answers for the same number, consider the first. 
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Model answer (37) 

 : .إلكترونيعالم العيش والعمل والتفاعل مع الآخرين في / الواقع الافتراضي لمناس  سمحي 37- -

 / يُمكّن / يخول يتي : سمحي
 احشخاص / البشر / العالم الناس:

 التواصل التفاعل:
 فضا  عالم:

 الانترنت إلكتروني:
  

 

Remarks for (37) 

1- The item is allotted 10 marks. 

2- The sentence is divided into 2 units. The first unit is allotted 4 marks and the 

second unit is allotted 6 marks. 

3- Each unit is treated separately. 

4- Deduct 1 mark for:  

- a missing or wrongly translated word 

- a grammar mistake 

- a spelling mistake  if it gives rise to a new meaning, provided that the total 

deduction for the whole sentence shouldn't exceed 4 marks if the sentence 

still makes sense. 

5- Any other logical translation is accepted. 
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Model answer (38) 

38- The driver paid a fine for breaking the law / because he had broken the law.  

- driver: motorist   

- the law: rules   

- because he had broken: for breaking 

- had broken: broke 

Remarks for (38) 

1- The item is allotted 8 marks. 

2- The sentence is divided into 2 units. Each unit is allotted 4 marks.  

3- Each unit is treated separately. 

4- Deduct 1 mark for:  

- a missing or wrongly translated word 

- a grammar mistake 

- a spelling mistake if it gives rise to a new meaning,  provided that the total 

deduction for the whole sentence shouldn't exceed 3 marks if the sentence 

still makes sense. 

5- Any other logical translation is accepted. 
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Group 6 - Composition 
Remarks: 

1-  (50 marks) are allotted to this item. 

2-Before starting the correction of the composition, the teacher should make 

first reading to the whole paragraph to figure out if it is relevant to the topic 

or not. 

3-If a student writes more than the required number of words, his/her topic is 

accepted. 

4- a- On average, a paragraph between 70-80 words rates (50 marks). 

b- A paragraph between 60-69 words rates (45 marks).                                   

Each field is allotted 9 marks. 

c- A paragraph between 50-59 words rates (40 marks).                              

Each field is allotted 8 marks. 

d- A paragraph between 40-49 words rates (35 marks).                                     

Each field is allotted 7 marks. 

e- a paragraph between 30-39 words rates (25 marks). 

Each field is allotted 5 marks. 

f- A paragraph between 20-29 words rates (20 marks) 

Each field is allotted 4 marks. 

N.B. - Overlook the first two spelling mistakes and the first grammar 

mistake; then deduct one mark for each mistake.  

- Overlook the first two wrong or missing punctuation marks or wrong 

capitalization; then deduct one mark for each mistake. 

- If the student writes two suggestions, the composition rates full mark. 

- If the student writes one suggestion, deduct 5 marks from task response. 

- If the student writes only about water shortage without mentioning any 

suggestion, deduct 5 marks from task response and 5 marks from the 

field of communication. 

- If the student writes less than 20 words, give 5 marks for each correct 

relevant sentence. 

5- The following chart shows the distribution of the (50 marks): 



 14ص                  (  حقىق النشر والتىزيع والطبع هحفىظت لىزارة التربيت 1028 خاص بالدورة الاهتحانيت الأولى لعاماللغت الإنكليسيت / الفرع العلوي/ هادة   )

Communication 
Spelling and 

punctuation 
Vocabulary Grammar Task response 

outstanding 

communication; clear, 

coherent and well-

organised text with 

complex language when 

appropriate. 

extremely accurate 

spelling and 

punctuation in simple 

and complex language. 

very wide range of 

accurate and 

appropriate vocabulary 

required for the task. 

very wide range of 

accurate and 

appropriate grammar 

required for the task. 

the task response is 

comprehensive, relevant 

and well-developed. 

(10 marks) (10 marks) (10 marks) (10 marks) (10 marks) 

meaning is clear and 

easy to understand; 

good organization. 

good punctuation and 

spelling; errors may 

occur in complex 

language. 

a good range of 

vocabulary; few errors 

occur except in complex 

vocabulary. 

a good range of 

grammar usage; few 

errors occur except in 

complex structures. 

response is wholly 

relevant but is partially 

developed or not fully 

exploited. 
(9 marks) (9 marks) (9 marks) (9 marks) (9 marks) 

overall meaning is 

conveyed with some 

errors but without 

undue problems for the 

reader 

errors of punctuation 

and spelling occur but 

don't cause undue 

problems for the reader. 

adequate knowledge of 

a range of the 

vocabulary items 

required to carry out the 

task. 

adequate knowledge of 

a range of the grammar; 

more accurate than 

inaccurate. 

largely relevant 

response but without 

much development or 

with some irrelevance. 

(8 marks) (8 marks) (8 marks) (8 marks) (8 marks) 

meaning is only 

conveyed with 

significant effort on the 

part of the reader. 

errors of punctuation 

and spelling create 

problems for the reader. 

some vocabulary 

knowledge but frequent 

errors or gaps mean 

vocabulary is 

insufficient for the task. 

some grammar 

knowledge but frequent 

errors or gaps mean 

grammar is insufficient 

for the task. 

some relevant response 

to the task, though at 

times the task appears 

not to have been 

understood. 
(7 marks) (7 marks) (7 marks) (7 marks) (7 marks) 

no response or response 

insufficient to grade. 

no response or response 

insufficient to grade. 

no response or response 

insufficient to grade. 

no response or response 

insufficient to grade. 

no response or response 

insufficient to grade. 
zero zero zero zero zero 

  N.B.  Deduct 1 mark once for the same repeated mistakes. 

-انتهى السلن  -
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الجمهورية العربية السورية 
 وزارة التربية       
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 درجة/000/: الدرجة                  المغة الإنكميزية مادة               العامةسمّم تصحيح شهادة الثانوية 
 الفرع العممي            م       1028لعام  الثانيةالدورة الامتحانية 

I-    Group 1:   1   –  7

II-  Group2:     8  –  13

III- Group 3:   14 – 24

IV- Group 4:   25 – 33

V-  Group5:     34 – 38

VI- Group 6:  composition

 ملاحظــات:
توضع العلامة المستحقة لكل سؤال عمى يسار الرقم. -
عمى رقم الإجابة الخطأ. (X)توضع إشارة -
تكتب رقماً تجمع درجات الإجابة لكل مجموعة وتوضع في مربع عند نهاية المجموعة في الزاوية اليمنى و  -

وكتابة بالمغة العربية.
ويسجل كل من المصحح والمدقق  ترفع درجة كل مجموعة إلى الحقل المخصص لها في جدول الدرجات -

ويوقع عميها )مع مراعاة حقل الكسور والآحاد والعشرات(.اسمه 
يعددد الجدددول الخدداص بددعلك وتددوز  الدددرجات وفددق الحقددول المدرجددة :عنددد نهايددة تصددحيح موضددو  الإنشددا  -

عمى ورقدة الإجابدة وتوضدع درجدة كدل حقدل لمدام كدل حدرف  دم  (T , G , V , S , C)وتوضع الأحرف 
تجمع وتوضع ضمن مربع وترفع إلى الحقل المخصص لها في جدول الدرجات.
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Group1 From 1- 7 

Model answers: (1-3) 

1- (All species of penguins live) in the southern hemisphere.

2- (Because) when young are born, they are carried by their mothers in a pouch.

- (Kangaroos are called marsupials because) they carry their young in a pouch.

- Because they have pouch.

3- Jerboas  / They (have very short front legs and long back legs which enable

them to) hop quickly over the ground (to escape predators). 

Remarks from (1-3) 

(N.B): - Information between brackets is optional. 

1- Each item is allotted 6 marks.

2- Overlook irrelevant information unless it exceeds one sentence. If so, the

answer rates zero. 

3- Deduct only 1 mark for the whole sentence in case there is any kind of

copying, spelling or grammar mistake. 

4- Any logical answer related to the text is accepted.

Model answers from (4-5) 

4- remote

5- survive

Remarks from (4-5) 

1- Each item is allotted 5 marks.

2- Only the above mentioned answers are accepted.

3- Overlook copying mistakes and capitalization.

4- If the student writes two answers for the same item, consider the first.
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Model answers from (6-7) 

6- Lizards (are adapted to) live in hot climates.  

- Lizards would die if they were moved to the Arctic / cold places. 

- Lizards die in cold climates. 

7- kangaroos are naturally / originally found in Australia /  Papua New Guinea.  

- Australia is the natural / original / first habitat of kangaroos. 

Remarks from (6-7)  

1- Each item is allotted 6 marks. 

2- The above mentioned answers are accepted in addition to any logical answer. 

3- Deduct 1 mark for a grammar mistake. The total deduction should not exceed      

2 marks if the answer still makes sense. 

4-  Overlook copying mistakes and capitalization.   

5- If the student writes only the correction without rewriting the whole sentence, his 

answer rates 3 marks. 

6- If the student writes the sentence using the negative form, his answer rates zero.  

7- Any logical answer related to the text is accepted.  
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Group 2 From 8-13 

Model answers (8-9) 

8- b / costs less  

9- c / save       

Remarks from (8-9) 

1- Each item is allotted 6 marks. 

2- Either the letter or the complete answer is accepted or both. 

3- If the student writes two answers for the same item, consider the first. 

4- Overlook copying mistakes. 

(N.B): - If the student writes only the first word of the correct answer,                              

his answer rates full mark. 

Model answers (10-11) 

10- volume  

11- generate  

Remarks from (10-11) 

1- Each item is allotted 6 marks. 

2- Only the above mentioned answers are accepted. 

3- Overlook copying mistakes and capitalization. 

4- If the student writes two answers for the same item, his answer rates  zero even if 

one of them is correct.  

Model answers (12-13) 

12- ………. melt at a lower temperature (than the raw materials).  

13- ………. they take up less space / do not pollute groundwater / the heat produced 

by burning solid waste can be used to generate electricity.  

Remarks from (12-13) 

1- Each item is allotted 6 marks. 

2- The above mentioned answers are accepted in addition to any logical 

completion related to the text. 

3- Deduct 1 mark for each grammar mistake. The total deduction should not exceed       

2 marks if the answer still makes sense. 

4- Overlook copying and spelling mistakes.  

5- Any addition or omission that doesn't make distortion is overlooked. 
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Group 3 From 14-24 

Model answers (14-16) 

14- the

15- from

16- had

Remarks from (14-16) 

1- Each item is allotted 6 marks.

2- Only the above mentioned answers are accepted.

3- Spelling mistakes are overlooked, unless they give rise to new words.

 If so, the answer rates zero. 

4- If the student writes two answers for the same question, consider the first.

Model answers (17-20) 

17- set up

18- coast

19- machines

20- bad

Remarks from (17-20) 

1- Each item is allotted 6 marks.

2- Only the above mentioned answers are accepted.

3- Overlook copying mistakes and capitalization.

4- If the student writes two answers in one space, his answer rates zero.

5- Repeating the same answer more than once rates zero, even if one of them is

correct. 

6- Answers in the form of numbers rate zero.
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Model answers (21-24) 

21- How long did your meeting last (for)?

- (For) How many hours did your meeting last?

- How much time did your meeting last / take?

22- What did you discuss?

- Why did you meet?

- What did you do?

- What was the problem?

- What did you meet for?

- Where did you discuss the problem?

- Where was the problem (which) you discussed?

23- Who attended the meeting?

- Who was there?

24- (Answers vary)

Remarks from (21-24) 

1- Each item is allotted 8 marks.

2- Deduct 2 marks for a wrong question word/ word cluster.

3- Deduct 2 marks for a grammar mistake provided that the total deduction

shouldn't exceed 4 marks. 

4- If the student writes a wrong question word with more than one grammar

mistake, the answer rates zero. 

5- If the student writes two questions for the same answer, consider the first.

6- Overlook capitalization and spelling mistakes.

7- If the student writes the correct question word only, his answer rates 2 marks.

8- Any logical question or answer related to the dialogue is accepted.
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Group 4 From 25-33 

Model answers (25-28) 

25- I wish going to the theatre wasn't / weren't / wouldn't be expensive.

- I wish going to the theatre was / were / would be cheap(er).

- I wish it wasn't / weren't.

26- Many salad crops are grown by farmers.

 (N.B)  - If the student doesn’t write (by farmers), deduct 2 marks. 

27- He asked me if / whether I worked in a college.

28- Brides have their own wedding dresses made.

- (Most of the time / Generally) brides have their own wedding dresses made.

Remarks from (25-28) 

1- Each item is allotted 8 marks.

2- Overlook spelling mistakes.

3- Deduct 2 marks for each grammar mistake provided that the total deduction

should not exceed 4 marks if the sentence still makes sense. 
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Model answers (29-30) 

29- …… (modals + simple present + present continuous + future )

30- ……. (simple present)

Remarks from (29-30) 

1- Each item is allotted 7 marks.

2- The completion that doesn't make sense rates zero, even if it is grammatically

correct. 

3- Deduct 1 mark for any grammar mistake, provided that the total deduction should

not exceed 2 marks if the completion still makes sense. 

4- Overlook spelling mistakes unless they give rise to another meaning.

If so, deduct 1 mark provided that the total deduction should not exceed 

3 marks if the completion still makes sense.  

5- Overlook punctuation marks.

6- Any logical completion is accepted.

7- The clause must contain a subject and a verb. If not, the answer rates zero.

Model answers (31-33) 

31- mathematics

32- come over

33- bows

Remarks from (31-33) 

1- Each item is allotted 6 marks.

2- Only the above mentioned answers are accepted.

3- Overlook copying mistakes.

4- Two answers for the same number rates zero
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Group 5 From 34-38 

 
Model answers (34-36) 

34- hasn't gone / hasn't been 

35- will call / is going to call  

36- would / could / might get  

Remarks from (34-36) 

1- Each item is allotted 6 marks. 

2- Only the above mentioned answers are accepted. 

3- Overlook spelling mistakes unless they give rise to another meaning.                     

If so, deduct 1 mark.  

4- Complete (verb forms) are required, otherwise the answer rates zero. 

5- In case the student writes two answers for the same number, consider the first. 
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Model answer (37) 

: .أكثر أماناً من الماضي/ وتستخدم الآن لعلاج الكثير من الأمراض الجراحةأصبحت  37- -

الطب الجراحي/  العمميات الجراحية: الجراحة
 سلامةً أماناً: 

 فيما سبق  الماضي:
 تستعمل  تستخدم:

 لمعالجة / لمداواة / لشفا   لعلاج:
 العديد من / عدة  الكثير:

 الحالات المرضية   الأمراض:

Remarks for (37) 

1- The item is allotted 10 marks.

2- The sentence is divided into 2 units. Each unit is allotted 5 marks.

3- Each unit is treated separately.

4- Deduct 1 mark for:

- a missing or wrongly translated word

- a grammar mistake

- a spelling mistake  if it gives rise to a new meaning, provided that the total

deduction for the whole sentence shouldn't exceed 4 marks if the sentence 

still makes sense. 

5- Any other logical translation is accepted.
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Model answer (38) 

38- Public libraries are considered / important sources of culture/ in any country.

- Public: General / National

- considered: regarded

- important: essential / vital / significant / crucial / necessary

- sources: resources / centres

- culture: knowledge

- in any country: everywhere / in any area/ in any land

Remarks for (38) 

1- The item is allotted 8 marks.

2- The sentence is divided into 3 units. The first unit is allotted 3 marks.

The second unit is allotted  3 marks. The third unit is allotted 2 marks 

3- Each unit is treated separately.

4- Deduct 1 mark for:

- a missing or wrongly translated word

- a grammar mistake

- a spelling mistake if it gives rise to a new meaning,  provided that the total

deduction for the whole sentence shouldn't exceed 3 marks if the sentence 

still makes sense. 

5- Any other logical translation is accepted.
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Group 6 - Composition 
Remarks: 

1-  (50 marks) are allotted to this item.

2-Before starting the correction of the composition, the teacher should make

first reading to the whole paragraph to figure out if it is relevant to the topic 

or not. 

3-If a student writes more than the required number of words, his/her topic is

accepted. 

4- If the student writes about how to start a new project, his composition rates

full mark. 

5- a- On average, a paragraph between 70-80 words rates (50 marks).

b- A paragraph between 60-69 words rates (45 marks).

Each field is allotted 9 marks. 

c- A paragraph between 50-59 words rates (40 marks).

Each field is allotted 8 marks. 

d- A paragraph between 40-49 words rates (35 marks).

Each field is allotted 7 marks. 

e- a paragraph between 30-39 words rates (25 marks).

Each field is allotted 5 marks. 

f- A paragraph between 20-29 words rates (20 marks)

Each field is allotted 4 marks. 

g- If the student writes less than 20 words, give 5 marks for each correct

relevant sentence. 

N.B. - Overlook the first two spelling mistakes and the first grammar 

mistake; then deduct one mark for each mistake.  

- Overlook the first two wrong or missing punctuation marks or wrong

capitalization; then deduct one mark for each mistake. 

- If the student writes his composition in a form of a letter or an email,

his composition rates full mark. 

5- The following chart shows the distribution of the (50 marks):



 14ص  (  حقىق النشر والتىزيع والطبع هحفىظت لىزارة التربيت 1028 لعام الثانيتخاص بالدورة الاهتحانيت اللغت الإنكليسيت / الفرع العلوي/ هادة   )

Communication 
Spelling and 

punctuation 
Vocabulary Grammar Task response 

outstanding 
communication; clear, 

coherent and well-

organised text with 
complex language when 

appropriate. 

extremely accurate 
spelling and 

punctuation in simple 

and complex language. 

very wide range of 
accurate and 

appropriate vocabulary 

required for the task. 

very wide range of 
accurate and 

appropriate grammar 

required for the task. 

the task response is 
comprehensive, relevant 

and well-developed. 

(10 marks) (10 marks) (10 marks) (10 marks) (10 marks) 

meaning is clear and 
easy to understand; 

good organization. 

good punctuation and 
spelling; errors may 

occur in complex 

language. 

a good range of 
vocabulary; few errors 

occur except in complex 

vocabulary. 

a good range of 
grammar usage; few 

errors occur except in 

complex structures. 

response is wholly 
relevant but is partially 

developed or not fully 

exploited. 
(9 marks) (9 marks) (9 marks) (9 marks) (9 marks) 

overall meaning is 

conveyed with some 

errors but without 
undue problems for the 

reader 

errors of punctuation 

and spelling occur but 

don't cause undue 
problems for the reader. 

adequate knowledge of 

a range of the 

vocabulary items 
required to carry out the 

task. 

adequate knowledge of 

a range of the grammar; 

more accurate than 
inaccurate. 

largely relevant 

response but without 

much development or 
with some irrelevance. 

(8 marks) (8 marks) (8 marks) (8 marks) (8 marks) 

meaning is only 
conveyed with 

significant effort on the 

part of the reader. 

errors of punctuation 
and spelling create 

problems for the reader. 

some vocabulary 
knowledge but frequent 

errors or gaps mean 

vocabulary is 
insufficient for the task. 

some grammar 
knowledge but frequent 

errors or gaps mean 

grammar is insufficient 
for the task. 

some relevant response 
to the task, though at 

times the task appears 

not to have been 
understood. 

(7 marks) (7 marks) (7 marks) (7 marks) (7 marks) 

no response or response 

insufficient to grade. 

no response or response 

insufficient to grade. 

no response or response 

insufficient to grade. 

no response or response 

insufficient to grade. 

no response or response 

insufficient to grade. 
zero zero zero zero zero 

  N.B.  Deduct 1 mark once for the same repeated mistakes. 

-انتهى السلن  -
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1 ص          زيع والطبع هحفىظت لىزارة التربيت حقىق النشر والتى        1029 خاص بالدورة الاهتحانيت الأولى لعاماللغت الإنكليسيت /العلوي/ هادة   

الجمهورية العربية السورية 
 وزارة التربية       

سـمم تصحيح مـادة المغـة الإنكميزيـة
لامتحان شـهادة الدراسة الثانويـة العامة

 الفرع العممي
 الدورة الأولى

 م9102دورة عام 



2 ص          زيع والطبع هحفىظت لىزارة التربيت حقىق النشر والتى        1029 خاص بالدورة الاهتحانيت الأولى لعاماللغت الإنكليسيت /العلوي/ هادة   

 درجة/011/: الدرجة                  المغة الإنكميزية مادة               العامةسمّم تصحيح شهادة الثانوية 
 الفرع العممي                   م9102الدورة الامتحانية الأولى لعام 

I-    Group 1:   1   –  7

II-  Group2:     8  –  13

III- Group 3:   14 – 24

IV- Group 4:   25 – 33

V-  Group5:     34 – 38

VI- Group 6:  composition

 ملاحظــات:
توضع العلامة المستحقة لكل سؤال عمى يسار الرقم. -
عمى رقم الإجابة الخطأ. (X)توضع إشارة -
وتكتب رقماً تجمع درجات الإجابة لكل مجموعة وتوضع في مربع عند نهاية المجموعة في الزاوية اليمنى  -

وكتابة بالمغة العربية.
ويسجل كل من المصحح  والمحدق   ترفع درجة كل مجموعة إلى الحقل المخصص لها في جدول الدرجات -

ويوقع عميها )مع مراعاة حقل الكسور والآحاد والعشرات(.اسمه 
مدرجححة يعححد الجححدول الخححاص بححعلا وتححوز  الححدرجات وفحح  الحقححول ال:عنححد نهايححة تصحححي  موضححو  الإنشححا  -

عمحى ورقحة الإجابحة وتوضحع درجحة كحل حقحل  محام كحل ححر   حم  (T , G , V , S , C)وتوضحع احححر  
تجمع وتوضع ضمن مربع وترفع إلى الحقل المخصص لها في جدول الدرجات.



3 ص          زيع والطبع هحفىظت لىزارة التربيت حقىق النشر والتى        1029 خاص بالدورة الاهتحانيت الأولى لعاماللغت الإنكليسيت /العلوي/ هادة   

Group1 From 1- 7 

Model answers: (1-3) 

1- (During the winter) they congregate / gather (in larger herds / large family /

groups). 

 They live in larger herds / groups.

2-  (They are ideally suited to the desert environment) with  their white heads and

sand coloured bodies. 

(N.B):  

 If the student writes only one item, the answer rates 3 marks.

3- (The sand gazelle is in danger of extinction, mainly due to) habitat loss and

hunting. 

 Habitat loss and predators / hunting and predators.

 (N.B): 

 If the student writes one item, the answer rates 3 marks.

Remarks from (1-3) 

(N.B): - Information between brackets is optional. 

1- Each item is allotted 6 marks.

2- Overlook irrelevant information unless it exceeds one sentence. If so, the

answer rates zero. 

3- Overlook copying, grammar and spelling mistakes and capitalization.

4- Any logical answer related to the text is accepted.

Model answers from (4-5) 

4- release

5- extinction / extinct

Remarks from (4-5) 

1- Each item is allotted 5 marks.

2- Only the above mentioned answers are accepted.

3- Overlook copying mistakes and capitalization.

4- If the student writes two answers for the same item, consider the first.



4 ص          زيع والطبع هحفىظت لىزارة التربيت حقىق النشر والتى        1029 خاص بالدورة الاهتحانيت الأولى لعاماللغت الإنكليسيت /العلوي/ هادة   

 

 

 

Model answers from (6-7) 

6- The efforts to save sand gazelles continue / continued.  

- The battle to save sand gazelles / them continues / continued. 

-  The efforts to save sand gazelles didn't stop. 

- There were / are many efforts to save sand gazelles. 

- The efforts to save sand gazelles began / started years ago.  

- Countries have begun / began breeding them for release (into the wild). 

7- Sand gazelles dig shallow holes and lie on the cooler soil.   

(N.B) If the student writes the sentence using the negative form, his answer rates zero 

Remarks from (6-7)  

1- Each item is allotted 6 marks. 

2- The above mentioned answers are accepted in addition to any logical answer. 

3-  Overlook spelling, grammar, copying mistakes and capitalization.   

4- If the student writes only the correction without rewriting the whole sentence, his 

answer rates 3 marks. 

5- Any logical answer related to the text is accepted.  

 

 

  



5 ص          زيع والطبع هحفىظت لىزارة التربيت حقىق النشر والتى        1029 خاص بالدورة الاهتحانيت الأولى لعاماللغت الإنكليسيت /العلوي/ هادة   

Group 2 From 8-13 

Model answers (8-9) 

8- b / family vacation

9- c / years after discovering it

Remarks from (8-9) 

1- Each item is allotted 6 marks.

2- Either the letter or the complete answer is accepted or both.

3- If the student writes two answers for the same item, consider the first.

4- Overlook copying mistakes.

(N.B): - If the student writes only the first word of the correct answer,

his answer rates full mark. 

Model answers (10-11) 

10- laboratory

11- skilled

Remarks from (10-11) 

1- Each item is allotted 6 marks.

2- Only the above mentioned answers are accepted.

3- Overlook copying mistakes and capitalization.

4- If the student writes two answers for the same item, his answer rates zero even if

one of them is correct. 

Model answers (12-13) 

12- ………. revolutionise all medicine / change the world of medicine /

     would succeed / would be a great achievement.  

(N.B) – If the student writes (destroy / have destroyed / killed all the bacteria), his 

answer rates 3 marks. 

13- ………. all the bacteria (it touched).

Remarks from (12-13) 

1- Each item is allotted 6 marks.

2- The above mentioned answers are accepted in addition to any logical

completion related to the text. 

3- Overlook grammar, copying and spelling mistakes.

4- Any addition or omission that doesn't make distortion is overlooked.



6 ص          زيع والطبع هحفىظت لىزارة التربيت حقىق النشر والتى        1029 خاص بالدورة الاهتحانيت الأولى لعاماللغت الإنكليسيت /العلوي/ هادة   

Group 3 From 14-24 

Model answers (14-16) 

14- who / that / to

15- and / or

16- a

Remarks from (14-16) 

1- Each item is allotted 6 marks.

2- Only the above mentioned answers are accepted.

3- Spelling mistakes are overlooked, unless they give rise to new words.

    If so, the answer rates zero. 

4- If the student writes two answers for the same question, consider the first.

Model answers (17-20) 

17- beginning

18- weights

19- same

20- faster

Remarks from (17-20) 

1- Each item is allotted 6 marks.

2- Only the above mentioned answers are accepted.

3- Overlook copying mistakes and capitalization.

4- If the student writes two answers in one space, his answer rates zero.

5- Repeating the same answer more than once rates zero, even if one of them is

correct. 

6- Answers in the form of numbers rate zero.



7 ص          زيع والطبع هحفىظت لىزارة التربيت حقىق النشر والتى        1029 خاص بالدورة الاهتحانيت الأولى لعاماللغت الإنكليسيت /العلوي/ هادة   

Model answers (21-24) 

21- What does regular exercise help us / you to do?

-  What helps (us) to live a healthy life?

- What do we / you need to live a healthy life?

- How can we live a healthy life?

- How is regular exercise important?

- What is the importance of regular exercise?

- What can you do for a healthy life?

- What does regular exercise do?

- What does help (us) to live a healthy life?

22- Where do people practice it?

- In which / what place do people practise / do it?

23- Why don't some people practise it?

- Why do some people not practise it?

-  What is the reason for not practising / doing it?

- What prevents people from doing / practising it / exercise?

24-  (Answers vary)

Remarks from (21-24) 

1- Each item is allotted 8 marks.

2- Deduct 2 marks for wrong question word/ word cluster.

3- If the student writes a wrong question word with more than one grammar

mistake, the answer rates zero. 

4- Deduct 2 marks for a grammar mistake provided that the total deduction

shouldn't exceed 4 marks. 

5- If the student writes two questions for the same answer, consider the first.

6- Overlook capitalization and spelling mistakes.

7- If the student writes the correct question word only, his answer rates 2 marks.

8- Any logical question or answer related to the dialogue is accepted.



8 ص          زيع والطبع هحفىظت لىزارة التربيت حقىق النشر والتى        1029 خاص بالدورة الاهتحانيت الأولى لعاماللغت الإنكليسيت /العلوي/ هادة   

Group 4 From 25-33 

Model answers (25-28) 

25- The Omayyad Mosque is visited by thousands of people every year.

-  The Omayyad Mosque is visited by thousands (of people).

- The Omayyad Mosque is visited by people.

- The Omayyad Mosque is visited every year.

 (N.B)  - If the student writes (The Omayyad Mosque is visited) only,

his answer rates 7 marks. 

26-  (I wish) people wouldn't / didn't drive (so / too) fast in the city centre.

- (I wish) people drove / would drive slowly in the city centre.

N.B:   any logical answer related to "wish" is accepted

e.g:   (I wish) people would respect the traffic laws.

27- (Salma asked me) whether / if I was going to the library.

28- Rami had his tooth / it taken out.

(N.B)  - Deduct 1 mark if the student doesn't write (out). 

Remarks from (25-28) 

1- Each item is allotted 8 marks.

2- Overlook spelling mistakes.

3- Deduct 2 marks for each grammar mistake provided that the total deduction

should not exceed 4 marks if the sentence still makes sense. 



9 ص          زيع والطبع هحفىظت لىزارة التربيت حقىق النشر والتى        1029 خاص بالدورة الاهتحانيت الأولى لعاماللغت الإنكليسيت /العلوي/ هادة   

Model answers (29-30) 

29- …… (answers vary)

30- ……. (answers vary)

Remarks from (29-30) 

1- Each item is allotted 7 marks.

2- The completion that doesn't make sense rates zero, even if it is grammatically

correct. 

3- Deduct 1 mark for any grammar mistake.

4- Overlook spelling mistakes unless they give rise to another meaning.

If so, deduct 1 mark. 

 (N.B) - the total deduction for both grammar and spelling should not exceed 3 marks 

if the completion still makes sense.  

5- Overlook punctuation marks.

6- Any logical completion is accepted.

7- The clause must contain a subject and a verb. If not, the answer rates zero.

Model answers (31-33) 

31- in order to

32- make

33- innocent

Remarks from (31-33) 

1- Each item is allotted 6 marks.

2- Only the above mentioned answers are accepted.

3- Overlook copying mistakes.

4- Two answers for the same number rates zero



10 ص          زيع والطبع هحفىظت لىزارة التربيت حقىق النشر والتى        1029 خاص بالدورة الاهتحانيت الأولى لعاماللغت الإنكليسيت /العلوي/ هادة   

Group 5 From 34-38 

Model answers (34-36) 

34- was drinking

35- have been studying  / have studied

36- melts / is melted

Remarks from (34-36) 

1- Each item is allotted 6 marks.

2- Only the above mentioned answers are accepted.

3- Overlook spelling mistakes unless they give rise to another meaning.

If so, deduct 1 mark. 

4- Complete (verb forms) are required, otherwise the answer rates zero.

5- In case the student writes two answers for the same number, consider the first.



11 ص          زيع والطبع هحفىظت لىزارة التربيت حقىق النشر والتى        1029 خاص بالدورة الاهتحانيت الأولى لعاماللغت الإنكليسيت /العلوي/ هادة   

Model answer (37) 

: .إن الحرارة الناتجة عن حرق النفايات الصمبة / يمكن استعمالها لتوليد الكهرباء -أ 37- -

 يمكن استعمال الحرارة / الناتجة عن حرق النفايات الصمبة / لتوليد الكهرباء.  - ب

Remarks for (37) 

1- The item is allotted 10 marks.

2- The sentence ) أ ( is divided into 2 units. Each unit is allotted 5 marks.  The

sentence ) ب ( is divided into 3 units, the first unit is allotted 3 marks, the second 

unit is allotted 4 marks and the third unit is allotted 3 marks. 

3- Each unit is treated separately.

4- Deduct 1 mark for:

- a missing or wrongly translated word

- a grammar mistake

- a spelling mistake  if it gives rise to a new meaning.

(N.B) - the total deduction for both grammar and spelling should not exceed 3 marks 

if the completion still makes sense.  

5- Any other logical translation is accepted.
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Model answer (38) 

38- We should preserve forests / for their important influence / on

climate of the world. 

-  should: must / have to

-  Preserve: conserve / protect / save / take care of / keep

- forests: jungles / woods

- for: because / since / due to

- their: its

- important: essential / crucial / necessary / vital

- influence: impact / effect

Remarks for (38) 

1- The item is allotted 8 marks.

2- The sentence is divided into 3 units. The first unit is allotted 3 marks. The

second unit is allotted 3 marks. The third unit is allotted 2 marks. 

3- Each unit is treated separately.

4- Deduct 1 mark for:

- a missing or wrongly translated word

- a grammar mistake

- a spelling mistake if it gives rise to a new meaning.

(N.B) - the total deduction for both grammar and spelling should not exceed 3 marks 

if the completion still makes sense.  

5- Any other logical translation is accepted.
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Group 6 - Composition 
Remarks: 

1-  (50 marks) are allotted to this item.

2-Before starting the correction of the composition, the teacher should make

first reading to the whole paragraph to figure out if it is relevant to the topic 

or not. 

3-If a student writes more than the required number of words, his/her topic is

accepted. 

4- a- On average, a paragraph between 70-80 words rates (50 marks).

b- A paragraph between 60-69 words rates (45 marks).

Each field is allotted 9 marks. 

c- A paragraph between 50-59 words rates (40 marks).

Each field is allotted 8 marks. 

d- A paragraph between 40-49 words rates (35 marks).

Each field is allotted 7 marks. 

e- a paragraph between 30-39 words rates (25 marks).

Each field is allotted 5 marks. 

f- A paragraph between 20-29 words rates (20 marks)

Each field is allotted 4 marks. 

N.B. - Overlook the first two spelling mistakes and the first grammar 

mistake; then deduct one mark for each mistake.  

- Overlook the first two wrong or missing punctuation marks or wrong

capitalization; then deduct one mark for each mistake. 

- If the student writes about the preparation / plan for a holiday, the

composition rates full mark. 

- If the student writes about a holiday he spent in the past or a place he

visited anywhere with anyone, the composition rates full mark. 

- If the student writes the composition in the form of a letter or an email,

it is accepted. 

- If the student writes less than 20 words, give 5 marks for each correct

relevant sentence. 

5- The following chart shows the distribution of the (50 marks):



 14ص  حقىق النشر والتىزيع والطبع هحفىظت لىزارة التربيت      1029 خاص بالدورة الاهتحانيت الأولى لعاماللغت الإنكليسيت / الفرع العلوي/ هادة   )

Communication 
Spelling and 

punctuation 
Vocabulary Grammar Task response 

outstanding 

communication; clear, 

coherent and well-

organised text with 

complex language when 

appropriate. 

extremely accurate 

spelling and 

punctuation in simple 

and complex language. 

very wide range of 

accurate and 

appropriate vocabulary 

required for the task. 

very wide range of 

accurate and 

appropriate grammar 

required for the task. 

the task response is 

comprehensive, relevant 

and well-developed. 

(10 marks) (10 marks) (10 marks) (10 marks) (10 marks) 

meaning is clear and 

easy to understand; 

good organization. 

good punctuation and 

spelling; errors may 

occur in complex 

language. 

a good range of 

vocabulary; few errors 

occur except in complex 

vocabulary. 

a good range of 

grammar usage; few 

errors occur except in 

complex structures. 

response is wholly 

relevant but is partially 

developed or not fully 

exploited. 
(9 marks) (9 marks) (9 marks) (9 marks) (9 marks) 

overall meaning is 

conveyed with some 

errors but without 

undue problems for the 

reader 

errors of punctuation 

and spelling occur but 

don't cause undue 

problems for the reader. 

adequate knowledge of 

a range of the 

vocabulary items 

required to carry out the 

task. 

adequate knowledge of 

a range of the grammar; 

more accurate than 

inaccurate. 

largely relevant 

response but without 

much development or 

with some irrelevance. 

(8 marks) (8 marks) (8 marks) (8 marks) (8 marks) 

meaning is only 

conveyed with 

significant effort on the 

part of the reader. 

errors of punctuation 

and spelling create 

problems for the reader. 

some vocabulary 

knowledge but frequent 

errors or gaps mean 

vocabulary is 

insufficient for the task. 

some grammar 

knowledge but frequent 

errors or gaps mean 

grammar is insufficient 

for the task. 

some relevant response 

to the task, though at 

times the task appears 

not to have been 

understood. 
(7 marks) (7 marks) (7 marks) (7 marks) (7 marks) 

no response or response 

insufficient to grade. 

no response or response 

insufficient to grade. 

no response or response 

insufficient to grade. 

no response or response 

insufficient to grade. 

no response or response 

insufficient to grade. 
zero zero zero zero zero 

  N.B.  Deduct 1 mark once for the same repeated mistakes. 

-انتهى السلن  -
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1 ص          زيع والطبع هحفىظت لىزارة التربيت حقىق النشر والتى        1029 لعامالثانيت خاص بالدورة الاهتحانيت اللغت الإنكليسيت /العلوي/ هادة   

الجمهورية العربية السورية 
 وزارة التربية       

سـمم تصحيح مـادة المغـة الإنكميزيـة
لامتحان شـهادة الدراسة الثانويـة العامة

 الفرع العممي
 الثانيةالدورة 
 م9102دورة عام 



2 ص          زيع والطبع هحفىظت لىزارة التربيت حقىق النشر والتى        1029 لعامالثانيت خاص بالدورة الاهتحانيت اللغت الإنكليسيت /العلوي/ هادة   

 

 

 

  درجة/011/: الدرجة                  المغة الإنكميزية مادة               العامةسمّم تصحيح شهادة الثانوية 
 الفرع العممي                   م9102لعام  الثانيةالدورة الامتحانية 

 
 

 

 

I-    Group 1:   1   –  7 

II-  Group2:     8  –  13 

III- Group 3:   14 – 24 

IV- Group 4:   25 – 33 

V-  Group5:     34 – 38 

VI- Group 6:  composition 

 

 ملاحظــات:
 توضع العلامة المستحقة لكل سؤال عمى يسار الرقم. -
 عمى رقم الإجابة الخطأ. (X)توضع إشارة  -

تكتة  رقمةا  تجمع درجات الإجابة لكل مجموعة وتوضع في مربع عند نهاية المجموعة في الزاويةة اليمنةى و  -
 وكتابة بالمغة العربية.

ويسةجل كةل مةن المصةحل والمةدق   ترفع درجة كل مجموعة إلى الحقل المخصص لها في جدول الدرجات -
 ويوقع عميها )مع مراعاة حقل الكسور والآحاد والعشرات(.اسمه 

يعةةةد الجةةدول الخةةةاص بةةذلد وتةةةوز  الةةدرجات وفةةة  الحقةةول المدرجةةةة :عنةةد نهايةةةة تصةةحيل موضةةةو  الإنشةةا  -
عمةى ورقةة الإجابةة وتوضةع درجةة كةل حقةل  مةام كةل حةر   ةم  (T , G , V , S , C)وتوضةع اححةر  

 تجمع وتوضع ضمن مربع وترفع إلى الحقل المخصص لها في جدول الدرجات.
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Group1 From 1- 7 

Model answers: (1-3) 

1- Road tunnels / They make car journeys shorter and faster.

- Road tunnels / They make car journeys shorter.

- Road tunnels / They make car journeys faster.

- They reduce journey times (between countries).

2- Halls / They allow drivers to turn round (and return the way they came if there

is an accident). 

3-  (Experts / They do research) to find out how they could make the (20-minute)

journey (through their new tunnel) less monotonous. 

Remarks from (1-3) 

(N.B): - Information between brackets is optional. 

1- Each item is allotted 6 marks.

2- Overlook irrelevant information unless it exceeds one sentence. If so, the

answer rates zero. 

3- Overlook copying, grammar and spelling mistakes and capitalization.

4- Any logical answer related to the text is accepted.

Model answers from (4-5) 

4- awake

5- section(s)

Remarks from (4-5) 

1- Each item is allotted 5 marks.

2- Only the above mentioned answers are accepted.

3- Overlook copying mistakes and capitalization.

4- If the student writes two answers for the same item, consider the first.

Model answers from (6-7) 

6- Claustrophobia which is being afraid of small / narrow places is one of the factors

that cause accidents. 

7- The halls are wider and higher than the main tunnel.

Remarks from (6-7) 

1- Each item is allotted 6 marks.

2- The above mentioned answers are accepted in addition to any logical answer.

3-  Overlook spelling, grammar, copying mistakes and capitalization.

4- If the student writes only the correction without rewriting the whole sentence, his

answer rates 3 marks. 

5- Any logical answer related to the text is accepted.
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Group 2 From 8-13 

Model answers (8-9) 

8- b / fail to work normally

9- a / stopped for a short time

Remarks from (8-9) 

1- Each item is allotted 6 marks.

2- Either the letter or the complete answer is accepted or both.

3- If the student writes two answers for the same item, consider the first.

4- Overlook copying mistakes.

(N.B): - If the student writes only the first word of the correct answer, 

his answer rates full mark. 

Model answers (10-11) 

10- significant

11- debate

Remarks from (10-11) 

1- Each item is allotted 6 marks.

2- Only the above mentioned answers are accepted.

3- Overlook copying mistakes and capitalization.

4- If the student writes two answers for the same item, his answer rates zero even if

one of them is correct. 

Model answers (12-13) 

12- ………. would be represented by 00, and would be interpreted by software as

the year 1900.     

 (N.B) – If the student writes one item, his answer rates full mark. 

13- ………. was limited.

Remarks from (12-13) 

1- Each item is allotted 6 marks.

2- The above mentioned answers are accepted in addition to any logical

completion related to the text. 

3- Overlook grammar, copying and spelling mistakes.

4- Any addition or omission that doesn't make distortion is overlooked.



5 ص          زيع والطبع هحفىظت لىزارة التربيت حقىق النشر والتى        1029 لعامالثانيت خاص بالدورة الاهتحانيت اللغت الإنكليسيت /العلوي/ هادة   

Group 3 From 14-24 

Model answers (14-16) 

14- which / that

15- and / or / as well as

16- on / upon

Remarks from (14-16) 

1- Each item is allotted 6 marks.

2- Only the above mentioned answers are accepted.

3- Spelling mistakes are overlooked, unless they give rise to new words.

 If so, the answer rates zero. 

4- If the student writes two answers for the same question, consider the first.

Model answers (17-20) 

17- messages

18- rest

19- sure

20- line

Remarks from (17-20) 

1- Each item is allotted 6 marks.

2- Only the above mentioned answers are accepted.

3- Overlook copying mistakes and capitalization.

4- If the student writes two answers in one space, his answer rates zero.

5- Repeating the same answer more than once rates zero, even if one of them is

correct. 

6- Answers in the form of numbers rate zero.
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Model answers (21-24) 

21- Where is the Eden project (located)?

- Where is the Eden project (located) in England?

N.B: If the student writes " Where is the Eden project (located) in the countryside?",

his answer rates 4 marks. 

22- Why do people visit it / the Eden Project?

- Who visits it/ the Eden Project?

- What do people visit it/ the Eden Project for?

- For what do people visit it/ the Eden Project?

23- What is the (main) purpose of it / the project / Eden Project?

- What does the project show?

24-  (Answers vary)

Remarks from (21-24) 

1- Each item is allotted 8 marks.

2- Deduct 2 marks for wrong question word/ word cluster.

3- If the student writes a wrong question word with more than one grammar

mistake, the answer rates zero. 

4- Deduct 2 marks for a grammar mistake provided that the total deduction

shouldn't exceed 4 marks. 

5- If the student writes two questions for the same answer, consider the first.

6- Overlook capitalization and spelling mistakes.

7- If the student writes the correct question word only, his answer rates 2 marks.

8- Any logical question or answer related to the dialogue is accepted.
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Group 4 From 25-33 

Model answers (25-28) 

25- (I wish) Sami didn't / wouldn't speak so quickly.  

- (I wish) Sami would speak / spoke slowly. 

26- Rana is going to / will have her (own) photo taken. 

27- (He asked his friend) if he / she worked in a bank.  

28- Our school was built by a local builder.  

N.B: If the student doesn't write " the agent", deduct 2 marks. 

Remarks from (25-28) 

1- Each item is allotted 8 marks. 

2- Overlook spelling mistakes. 

3- Deduct 2 marks for each grammar mistake provided that the total deduction 

should not exceed 4 marks if the sentence still makes sense.    
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Model answers (29-30) 

29- …… (answers vary)

30- ……. (answers vary)

 N.B (30): If the student writes "imperative form", his answer  is accepted. 

Remarks from (29-30) 

1- Each item is allotted 7 marks.

2- The completion that doesn't make sense rates zero, even if it is grammatically correct.

3- Deduct 1 mark for any grammar mistake.

4- Overlook spelling mistakes unless they give rise to another meaning.

If so, deduct 1 mark. 

 (N.B) - the total deduction for both grammar and spelling should not exceed 3 marks 

if the completion still makes sense.  

5- Overlook punctuation marks.

6- Any logical completion is accepted.

7- The clause must contain a subject and a verb. If not, the answer rates zero.

Model answers (31-33) 

31- chaotic

32- in order to

33- do

Remarks from (31-33) 

1- Each item is allotted 6 marks.

2- Only the above mentioned answers are accepted.

3- Overlook copying mistakes.

4- Two answers for the same number rates zero
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Group 5 From 34-38 

Model answers (34-36) 

34- has been living / has lived

35- were watching

36- will hold, is going to hold, is holding

Remarks from (34-36) 

1- Each item is allotted 6 marks.

2- Only the above mentioned answers are accepted.

3- Overlook spelling mistakes unless they give rise to another meaning.

If so, deduct 1 mark. 

4- Complete (verb forms) are required, otherwise the answer rates zero.

5- In case the student writes two answers for the same number, consider the first.
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Model answer (37) 

 : .مما يسبب تموث التربة /يذيب المطر بعض المواد الكيميائية في النفايات 37- -

 يحل / يفكد يذيب: 
 : الفضلات / القمامة / احوساخ النفايات

 مما يؤدي / الذي يولذ / يخلف / يحذث : مما يسبب

Remarks for (37) 

1- The item is allotted 10 marks. 

2- The sentence is divided into 2 units. The first unit is allotted 6 marks and the 

second unit is allotted 4 marks. 

3- Each unit is treated separately. 

4- Deduct 1 mark for:  

- a missing or wrongly translated word 

- a grammar mistake 

- a spelling mistake  if it gives rise to a new meaning. 

(N.B) - the total deduction for both grammar and spelling should not exceed 3 marks 

if the sentence still makes sense.  

 

5- Any other logical translation is accepted. 
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Model answer (38) 

38- People who live near a bus station / suffer from noise.

- Residents near a bus station / suffer from noise

People: Men / Human beings   

who: that  

live: are living / are staying / stay 

who live: living / staying 

near: close to / next to / beside 

a: the 

suffer: can't stand / can't put up with / can't tolerate 

Remarks for (38) 

1- The item is allotted 8 marks.

2- The sentence is divided into 2 units. The first unit is allotted 5 marks. The

second unit is allotted 3 marks. 

3- Each unit is treated separately.

4- Deduct 1 mark for:

- a missing or wrongly translated word

- a grammar mistake

- a spelling mistake if it gives rise to a new meaning.

(N.B) - the total deduction for both grammar and spelling should not exceed 3 marks 

if the sentence still makes sense.  

5- Any other logical translation is accepted.
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Group 6 - Composition 
Remarks: 

1-  (50 marks) are allotted to this item.

2-Before starting the correction of the composition, the teacher should make 

first reading to the whole paragraph to figure out if it is relevant to the topic 

or not. 

3-If a student writes more than the required number of words, his/her topic is

accepted. 

4- a- On average, a paragraph between 70-80 words rates (50 marks).

b- A paragraph between 60-69 words rates (45 marks).

Each field is allotted 9 marks. 

c- A paragraph between 50-59 words rates (40 marks).

Each field is allotted 8 marks. 

d- A paragraph between 40-49 words rates (35 marks).

Each field is allotted 7 marks. 

e- a paragraph between 30-39 words rates (25 marks).

Each field is allotted 5 marks. 

f- A paragraph between 20-29 words rates (20 marks)

Each field is allotted 4 marks. 

g- If the student writes less than 20 words, give 5 marks for each correct

relevant sentence 

N.B. - Overlook the first two spelling mistakes and the first grammar 

mistake; then deduct one mark for each mistake.  

- Overlook the first two wrong or missing punctuation marks or wrong

capitalization; then deduct one mark for each mistake. 

- If the student writes the composition in the form of a letter or an email,

it is accepted. 

- If the student writes only description of a place, his composition rates Zero.

5- The following chart shows the distribution of the (50 marks):



 13ص  حقىق النشر والتىزيع والطبع هحفىظت لىزارة التربيت  1029 لعام الثانيتخاص بالدورة الاهتحانيت اللغت الإنكليسيت / الفرع العلوي/ هادة   )

Communication 
Spelling and 

punctuation 
Vocabulary Grammar Task response 

outstanding 

communication; clear, 

coherent and well-

organised text with 

complex language when 

appropriate. 

extremely accurate 

spelling and 

punctuation in simple 

and complex language. 

very wide range of 

accurate and 

appropriate vocabulary 

required for the task. 

very wide range of 

accurate and 

appropriate grammar 

required for the task. 

the task response is 

comprehensive, relevant 

and well-developed. 

(10 marks) (10 marks) (10 marks) (10 marks) (10 marks) 

meaning is clear and 

easy to understand; 

good organization. 

good punctuation and 

spelling; errors may 

occur in complex 

language. 

a good range of 

vocabulary; few errors 

occur except in complex 

vocabulary. 

a good range of 

grammar usage; few 

errors occur except in 

complex structures. 

response is wholly 

relevant but is partially 

developed or not fully 

exploited. 
(9 marks) (9 marks) (9 marks) (9 marks) (9 marks) 

overall meaning is 

conveyed with some 

errors but without 

undue problems for the 

reader 

errors of punctuation 

and spelling occur but 

don't cause undue 

problems for the reader. 

adequate knowledge of 

a range of the 

vocabulary items 

required to carry out the 

task. 

adequate knowledge of 

a range of the grammar; 

more accurate than 

inaccurate. 

largely relevant 

response but without 

much development or 

with some irrelevance. 

(8 marks) (8 marks) (8 marks) (8 marks) (8 marks) 

meaning is only 

conveyed with 

significant effort on the 

part of the reader. 

errors of punctuation 

and spelling create 

problems for the reader. 

some vocabulary 

knowledge but frequent 

errors or gaps mean 

vocabulary is 

insufficient for the task. 

some grammar 

knowledge but frequent 

errors or gaps mean 

grammar is insufficient 

for the task. 

some relevant response 

to the task, though at 

times the task appears 

not to have been 

understood. 
(7 marks) (7 marks) (7 marks) (7 marks) (7 marks) 

no response or response 

insufficient to grade. 

no response or response 

insufficient to grade. 

no response or response 

insufficient to grade. 

no response or response 

insufficient to grade. 

no response or response 

insufficient to grade. 
zero zero zero zero zero 

  N.B.  Deduct 1 mark once for the same repeated mistakes. 

-انتهى السلن  -
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ّة ة السوري  ة العربي  الجمهوري  

 وزارة التربية       
 

 
 
 
 
 
 
 
 
 

 ة المغـة الإنكميزيـةم تصحيح مـاد  سـم  
 ةـة العام  راسة الثانوي  لامتحان شـهادة الد  

 الفرع العممي  
 م0202دورة عام 
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  درجة/022/: الدرجة                  المغة الإنكميزية ةماد                 ةالعام  ة سم م تصحيح شهادة الثانوي  
 الفرع العممي                           م0202ة عام الدورة الامتحاني  

 
ّ

ّ

 

I-    Group 1:   1   –  7 

II-  Group2:     8  –  13 

III- Group 3:   14 – 24 

IV- Group 4:   25 – 33 

V-  Group5:     34 – 38 

VI- Group 6:  composition 

 

 ملاحظــات:
 سؤال عمى يسار الرقم. ة لكل  توضع العلامة المستحق   -
 عمى رقم الإجابة الخطأ. (X)توضع إشارة  -

وتكتب رقماً ع عند نهاية المجموعة في الزاوية اليمنى مجموعة وتوضع في مرب   تجمع درجات الإجابة لكل   -
 ة.وكتابة بالمغة العربي  

ق ح والمحدق  من المصحح   ويسجل كل   ص لها في جدول الدرجاتمجموعة إلى الحقل المخص   ترفع درجة كل   -
 ع عميها )مع مراعاة حقل الكسور والآحاد والعشرات(.ويوق  اسمو 

فححق الحقححول المدرجححة   الححدرجات و بححكلو وتححوز   الجححدول الخححاص   عححد  ي   :عنححد نهايححة تصحححيح موضححو  الإنشححا  -
 ححر  محم   حقحل ممحام كحل   عمحى ورقحة الإجابحة وتوضحع درجحة كحل   (T , G , V , S , C)وتوضحع احححر  

 ص لها في جدول الدرجات.ع وترفع إلى الحقل المخص  تجمع وتوضع ضمن مرب  
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Group1 From 1- 7 

Model answers: (1-3) 

1- Plants / They are (always) in danger from animals which want to feed on their 

roots, / trunks, / leaves.   

 Because animals want to feed / feed on them / on their roots, / trunks, / 

leaves and other parts.   

2- (Cactuses / They preserve / keep water / it) in their stems.  

 (N.B): If the student writes (on their stems) or (stems), deduct 2 marks. 

3- (The sticky substance is so strong that) insects' feet or wings get stuck and they 

cannot escape.  

 (The sticky substance is so strong that) insects' feet or wings get stuck. 

 Insects' feet or wings get stuck by the sticky substance (and they cannot escape). 

(N.B): If the student writes only (It can prevent insects from eating them),deduct 3 marks. 

Remarks from (1-3) 

(N.B): - Information between brackets is optional. 

1- Each item is allotted 6 marks. 

2- Overlook irrelevant information unless it exceeds one sentence. If so, the 

answer rates zero. 

3- Overlook copying, grammar and spelling mistakes and capitalization. 

4- Any logical answer related to the text is accepted. 

Model answers from (4-5) 

4- seed(s) 

5- hurt   

Remarks from (4-5) 

1- Each item is allotted 5 marks. 

2- Only the above mentioned answers are accepted. 

3- Overlook capitalization and copying mistakes unless they give rise to another 

word. If so, the answer rates zero. 

4- If the student writes two answers for the same item, consider the first.  
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Model answers from (6-7) 

6- Sharp thorns protect cactuses from animals.  

- Ants protect acacia trees from animals.  

7- The poison is found in the leaves, the seeds or berries, or in other parts of the plant.  

 One of the places where poison can be found is in the leaves / roots / seeds / berries. 

 The poison can also be found in other parts like seeds…etc. 

(N.B) If the student writes the sentence using the negative form, his answer rates zero. 

Remarks from (6-7)  

1- Each item is allotted 6 marks. 

2- The above mentioned answers are accepted in addition to any logical answer. 

3-  Overlook spelling, grammar, copying mistakes and capitalization.   

4- If the student writes only the correction without rewriting the whole sentence, his 

answer rates 3 marks. 
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Group 2 From 8-13 

Model answers (8-9) 

8- b / smaller than   

9- c / very safe        

Remarks from (8-9) 

1- Each item is allotted 6 marks. 

2- Either the letter or the complete answer is accepted or both. 

3- If the student writes two answers for the same item, consider the first. 

4- Overlook copying mistakes. 

(N.B): - If the student writes only the first word of the correct answer,                              

his answer rates full mark. 

Model answers (10-11) 

10- convert  

11- familiar  

Remarks from (10-11) 

1- Each item is allotted 6 marks. 

2- Only the above mentioned answers are accepted. 

3- Overlook copying mistakes and capitalization. 

4- If the student writes two answers for the same item, his answer rates zero even if 

one of them is correct.  

Model answers (12-13) 

12- ……. email / text a shopping list to the (nearest) market (when it is empty). 

-  ……. email / text the (nearest) market. 

- ……. send a message / a text to the market. 

  (N.B) – If the student writes (email a shopping list), deduct 2 marks. 

– If the student writes the full answer without the verb (email), deduct 2 marks. 

13- ………. electronics, computers and information theory. 

  (N.B) – The student must at least write two items, otherwise deduct 2 marks. 

Remarks from (12-13) 

1- Each item is allotted 6 marks. 

2- The above mentioned answers are accepted in addition to any logical 

completion related to the text. 

3- Overlook grammar, copying and spelling mistakes.  

4- Any addition or omission that doesn't make distortion is overlooked. 

5- Any addition or omission that makes distortion, deduct 1 mark. 
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Group 3 From 14-24 

Model answers (14-16) 

14- the / that  

 (N.B): - If the student writes (this), his answer rates 4 marks. 

15- and / then  

16- was 

 (N.B): - If the student writes (were), his answer rates 3 marks. 

Remarks from (14-16) 

1- Each item is allotted 6 marks. 

2- Only the above mentioned answers are accepted. 

3- Spelling mistakes are overlooked, unless they give rise to new words. 

    If so, the answer rates zero.  

4- If the student writes two answers for the same question, consider the first. 

Model answers (17-20) 

17- famous  

18- mind  

19- honours  

20- later  

Remarks from (17-20) 

1- Each item is allotted 6 marks. 

2- Only the above mentioned answers are accepted. 

3- Overlook copying mistakes and capitalization. 

4- If the student writes two answers in one space, his answer rates zero. 

5- Repeating the same answer more than once rates zero, even if one of them is 

correct.   

6- Answers in the form of numbers rate zero. 
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Model answers (21-24) 

21- Where does your father work?  

- What does your father do (for a living)? 

- What is your father's job / career / profession / business? 

- In what / which place  does your father work? 

- Where does your father work for an oil company? 

- Who works for an oil company (in Homs)? 

- Who / What does your father work for? 

- For whom does your father work ? 

- What does your father work as? 

(N.B): - If the student writes (What does your father work? / What is your father's work?), 

deduct 2 marks. 

22- How long have you been (living) there?  

- For how many years have you been (living) there? 

- For how much time / since when have you been (living) there? 

23- Why / For what reason did you come to Damascus? 

-  What is the reason for coming to / visiting Damascus? 

- What made you come to  Damascus? 

- Why are you here / in Damascus? 

- Who(m) did you come to see (in Damascus)? 

24-  (Answers vary) 

 (N.B): - If the student writes (three times / twice / once) only, deduct 2 marks. 

Remarks from (21-24) 

1- Each item is allotted 8 marks.  

2- Deduct 2 marks for wrong question word/ word cluster. 

3- If the student writes a wrong question word with more than one grammar 

mistake, the answer rates zero. 

4- Deduct 2 marks for a grammar mistake provided that the total deduction 

shouldn't exceed 4 marks.  

5- If the student writes two questions for the same answer, consider the first. 

6- Overlook capitalization and spelling mistakes.  

7- If the student writes the correct question word only, his answer rates 2 marks. 

8- Any logical question or answer related to the dialogue is accepted.  
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Group 4 From 25-33 

Model answers (25-28) 

25- Three letters have been written by Laila (this evening). 

 (N.B)  - The first three steps to form the passive are required, otherwise the answer 

rates zero. 

            - Deduct 2 marks if the student doesn't write the agent (by Laila). 

26-  (I wish) we spent / did spend / would spend / could spend much / more / enough 

time together.  

- (I wish) we did / would / could. 

- (I wish) we had much / more time together.  

27- (He asked her) when she had started her new job.  

28- She had her glasses mended.  

 (N.B)  - The four steps to form the causative are required, otherwise the answer rates zero. 

             - If the student uses the negative form, deduct 2 marks. 

Remarks from (25-28) 

1- Each item is allotted 8 marks. 

2- Overlook spelling mistakes. 

3- Deduct 2 marks for each grammar mistake provided that the total deduction 

should not exceed 4 marks if the sentence still makes sense.    
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Model answers (29-30) 

29- …… (answers vary)          

30- ……. (answers vary)         (present simple – future – modals)  

Remarks from (29-30) 

1- Each item is allotted 7 marks. 

2- The completion that doesn't make sense rates zero, even if it is grammatically 

correct. 

3- Deduct 1 mark for any grammar mistake. 

4- Overlook spelling mistakes unless they give rise to another meaning.                                

If so, deduct 1 mark. 

 (N.B) - the total deduction for both grammar and spelling should not exceed 3 marks 

if the completion still makes sense.  

5- Overlook punctuation marks. 

6- Any logical completion is accepted. 

7- The clause must contain a subject and a verb. If not, the answer rates zero. 

Model answers (31-33) 

31- so 

32- hit  

33- do  

Remarks from (31-33) 

1- Each item is allotted 6 marks. 

2- Only the above mentioned answers are accepted. 

3- Overlook copying mistakes. 

4- Two answers for the same number rates zero 
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Group 5 From 34-38 

 
Model answers (34-36) 

34- was driving   

35- will move / is / are going to move / is / are moving   

36- would / could / might / should buy  

Remarks from (34-36) 

1- Each item is allotted 6 marks. 

2- Only the above mentioned answers are accepted. 

3- Overlook spelling mistakes unless they give rise to another meaning.                     

If so, deduct 1 mark.  

4- Complete (verb forms) are required, otherwise the answer rates zero. 

5- In case the student writes two answers for the same number, consider the first. 

 

  



11 صّّّّّّّّّّّّّّّزيعّوالطبعّهحفىظتّلىزارةّالتربيتّحقىقّالنشرّوالتىّّّّّّّّّّم0202ّّّّّتّعامورةّالاهتحاني ّبالدّ ّخاصّ /ّاللغتّالإنكليسيتّ/العلويّ ةّهادّ   

 

 

 

Model answer (37) 

 : .يُعتبر الكافيين غير ضار لمعظم الناس / عند تناوله بكميات قميمة  37- -

 ي عد يُعتبر: 
 /  لا يسبب الضرر / احكى غير مؤك   غير ضار:

 العديد / الكمير / غالبية  معظم:
 / احشخاص / احفراد البشر الناس:
 مخكه تناوله:

 بمقادير بكميات:
 صغيرة / ضئيمة / خفيفة قميمة:

 

Remarks for (37) 

1- The item is allotted 10 marks. 

2- The sentence is divided into 2 units. The first unit is allotted 6 marks and the 

second unit is allotted 4 marks. 

3- Each unit is treated separately. 

4- Deduct 1 mark for:  

- a missing or wrongly translated word 

- a grammar mistake 

 (N.B) - the total deduction for both grammar and spelling should not exceed 3 

marks if the translation still makes sense.  

 

5- Any other logical translation is accepted. 
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Model answer (38) 

38- Wood is used / in building / and making furniture.  

- We use wood / in building / and making furniture. 
 

- is used: is utilized  

- used in: used for 

- use: utilize 

- building: construction 

- We:  People  

- making furniture: furnishing industry / the fabrication of furniture /                                   

                                fabricating  furniture. 

Remarks for (38) 

1- The item is allotted 8 marks. 

2- The sentence is divided into 3 units. The first unit is allotted 3 marks. The 

second unit is allotted 2 marks. The third unit is allotted 3 marks.  

3- Each unit is treated separately. 

4- Deduct 1 mark for:  

- a missing or wrongly translated word 

- a grammar mistake 

- a spelling mistake if it gives rise to a new meaning. 

(N.B) - the total deduction for both grammar and spelling should not exceed 3 marks 

if the translation still makes sense.  

5- Any other logical translation is accepted. 
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Group 6 - Composition 
Remarks: 

1-  (50 marks) are allotted to this item. 

2-Before starting the correction of the composition, the teacher should make 

first reading to the whole paragraph to figure out if it is relevant to the topic 

or not. 

3-If a student writes more than the required number of words, his/her topic is 

accepted. 

4- a- On average, a paragraph between 70-80 words rates (50 marks). 

Each field is allotted 10 marks.   (7 marks for spelling and 3 marks for punctuation) 

b- A paragraph between 60-69 words rates (45 marks).                                   

Each field is allotted 9 marks. (6 marks for spelling and 3 marks for punctuation) 

c- A paragraph between 50-59 words rates (40 marks).                              

Each field is allotted 8 marks. (5 marks for spelling and 3 marks for punctuation) 

d- A paragraph between 40-49 words rates (35 marks).                                     

Each field is allotted 7 marks. (4 marks for spelling and 3 marks for punctuation) 

e- a paragraph between 30-39 words rates (25 marks). 

Each field is allotted 5 marks. (3 marks for spelling and 2 marks for punctuation) 

f- A paragraph between 20-29 words rates (20 marks) 

Each field is allotted 4 marks. (3 marks for spelling and 1 marks for punctuation) 

g- If the student writes less than 20 words, give 5 marks for each correct 

relevant sentence. 

N.B. - Overlook the first two spelling mistakes and the first grammar 

mistake; then deduct one mark for each mistake.  

- Overlook the first two wrong or missing punctuation marks or wrong 

capitalization; then deduct one mark for each mistake. 

- If the student writes the composition in the form of a letter or an email, 

it is accepted.   

- If the student writes recommendations to have more places to keep 

fit, the composition rates zero. 
 

5- The following chart shows the distribution of the (50 marks): 



  14صّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّحقىقّالنشرّوالتىزيعّوالطبعّهحفىظتّلىزارةّالتربيتّّّّّ ّم0202ّتّعامبالدورةّالاهتحاني ّّخاصّ /ّاللغتّالإنكليسيتّ/ّالفرعّالعلويّ ةّهادّ ّّّّّّّّّّّّّّّّ)

Communication 
Spelling and 

punctuation 
Vocabulary Grammar Task response 

outstanding 

communication; clear, 

coherent and well-

organised text with 

complex language when 

appropriate. 

extremely accurate 

spelling and 

punctuation in simple 

and complex language. 

very wide range of 

accurate and 

appropriate vocabulary 

required for the task. 

very wide range of 

accurate and 

appropriate grammar 

required for the task. 

the task response is 

comprehensive, relevant 

and well-developed. 

(10 marks) (10 marks) (10 marks) (10 marks) (10 marks) 

meaning is clear and 

easy to understand; 

good organization. 

good punctuation and 

spelling; errors may 

occur in complex 

language. 

a good range of 

vocabulary; few errors 

occur except in complex 

vocabulary. 

a good range of 

grammar usage; few 

errors occur except in 

complex structures. 

response is wholly 

relevant but is partially 

developed or not fully 

exploited. 
(9 marks) (9 marks) (9 marks) (9 marks) (9 marks) 

overall meaning is 

conveyed with some 

errors but without 

undue problems for the 

reader 

errors of punctuation 

and spelling occur but 

don't cause undue 

problems for the reader. 

adequate knowledge of 

a range of the 

vocabulary items 

required to carry out the 

task. 

adequate knowledge of 

a range of the grammar; 

more accurate than 

inaccurate. 

largely relevant 

response but without 

much development or 

with some irrelevance. 

(8 marks) (8 marks) (8 marks) (8 marks) (8 marks) 

meaning is only 

conveyed with 

significant effort on the 

part of the reader. 

errors of punctuation 

and spelling create 

problems for the reader. 

some vocabulary 

knowledge but frequent 

errors or gaps mean 

vocabulary is 

insufficient for the task. 

some grammar 

knowledge but frequent 

errors or gaps mean 

grammar is insufficient 

for the task. 

some relevant response 

to the task, though at 

times the task appears 

not to have been 

understood. 
(7 marks) (7 marks) (7 marks) (7 marks) (7 marks) 

no response or response 

insufficient to grade. 

no response or response 

insufficient to grade. 

no response or response 

insufficient to grade. 

no response or response 

insufficient to grade. 

no response or response 

insufficient to grade. 
zero zero zero zero zero 

 

                          N.B.  Deduct 1 mark once for the same repeated mistakes. 

-نّانتهىّالسل ّّ-  
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ّة ة السوري  ة العربي  الجمهوري  

 وزارة التربية       
 

 
 
 
 
 
 
 
 
 

 ة المغـة الإنكميزيـةم تصحيح مـاد  سـم  
 ةـة العام  راسة الثانوي  لامتحان شـهادة الد  

 الفرع العممي  
 م0202دورة عام 
 
 
 
 
 
 
 
 
 
 
 
 



2 صّّّّّّّّّّّّّّّزيعّوالطبعّهحفىظتّلىزارةّالتربيتّحقىقّالنشرّوالتىّّّّّّّّّّم0202ّّّّّتّعامورةّالاهتحاني ّبالدّ ّخاصّ /ّاللغتّالإنكليسيتّ/العلويّ ةّهادّ   

 

 

 

  درجة/022/: الدرجة                  المغة الإنكميزية ةماد                 ةالعام  ة سم م تصحيح شهادة الثانوي  
 الفرع العممي                           م0202ة عام الدورة الامتحاني  

 
ّ

ّ

 

I-    Group 1:   1   –  7 

II-  Group2:     8  –  13 

III- Group 3:   14 – 24 

IV- Group 4:   25 – 33 

V-  Group5:     34 – 38 

VI- Group 6:  composition 

 

 ملاحظــات:
 سؤال عمى يسار الرقم. ة لكل  توضع العلامة المستحق   -
 عمى رقم الإجابة الخطأ. (X)توضع إشارة  -

وتكتب رقماً ع عند نهاية المجموعة في الزاوية اليمنى مجموعة وتوضع في مرب   تجمع درجات الإجابة لكل   -
 ة.وكتابة بالمغة العربي  

ق ح والمحدق  من المصحح   ويسجل كل   ص لها في جدول الدرجاتمجموعة إلى الحقل المخص   ترفع درجة كل   -
 ع عميها )مع مراعاة حقل الكسور والآحاد والعشرات(.ويوق  اسمو 

فححق الحقححول المدرجححة   الححدرجات و بححكلو وتححوز   الجححدول الخححاص   عححد  ي   :عنححد نهايححة تصحححيح موضححو  الإنشححا  -
 ححر  محم   حقحل ممحام كحل   عمحى ورقحة الإجابحة وتوضحع درجحة كحل   (T , G , V , S , C)وتوضحع احححر  

 ص لها في جدول الدرجات.ع وترفع إلى الحقل المخص  تجمع وتوضع ضمن مرب  
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Group1 From 1- 7 

Model answers: (1-3) 

1- Plants / They are (always) in danger from animals which want to feed on their 

roots, / trunks, / leaves.   

 Because animals want to feed / feed on them / on their roots, / trunks, / 

leaves and other parts.   

2- (Cactuses / They preserve / keep water / it) in their stems.  

 (N.B): If the student writes (on their stems) or (stems), deduct 2 marks. 

3- (The sticky substance is so strong that) insects' feet or wings get stuck and they 

cannot escape.  

 (The sticky substance is so strong that) insects' feet or wings get stuck. 

 Insects' feet or wings get stuck by the sticky substance (and they cannot escape). 

(N.B): If the student writes only (It can prevent insects from eating them),deduct 3 marks. 

Remarks from (1-3) 

(N.B): - Information between brackets is optional. 

1- Each item is allotted 6 marks. 

2- Overlook irrelevant information unless it exceeds one sentence. If so, the 

answer rates zero. 

3- Overlook copying, grammar and spelling mistakes and capitalization. 

4- Any logical answer related to the text is accepted. 

Model answers from (4-5) 

4- seed(s) 

5- hurt   

Remarks from (4-5) 

1- Each item is allotted 5 marks. 

2- Only the above mentioned answers are accepted. 

3- Overlook capitalization and copying mistakes unless they give rise to another 

word. If so, the answer rates zero. 

4- If the student writes two answers for the same item, consider the first.  
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Model answers from (6-7) 

6- Sharp thorns protect cactuses from animals.  

- Ants protect acacia trees from animals.  

7- The poison is found in the leaves, the seeds or berries, or in other parts of the plant.  

 One of the places where poison can be found is in the leaves / roots / seeds / berries. 

 The poison can also be found in other parts like seeds…etc. 

(N.B) If the student writes the sentence using the negative form, his answer rates zero. 

Remarks from (6-7)  

1- Each item is allotted 6 marks. 

2- The above mentioned answers are accepted in addition to any logical answer. 

3-  Overlook spelling, grammar, copying mistakes and capitalization.   

4- If the student writes only the correction without rewriting the whole sentence, his 

answer rates 3 marks. 
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Group 2 From 8-13 

Model answers (8-9) 

8- b / smaller than   

9- c / very safe        

Remarks from (8-9) 

1- Each item is allotted 6 marks. 

2- Either the letter or the complete answer is accepted or both. 

3- If the student writes two answers for the same item, consider the first. 

4- Overlook copying mistakes. 

(N.B): - If the student writes only the first word of the correct answer,                              

his answer rates full mark. 

Model answers (10-11) 

10- convert  

11- familiar  

Remarks from (10-11) 

1- Each item is allotted 6 marks. 

2- Only the above mentioned answers are accepted. 

3- Overlook copying mistakes and capitalization. 

4- If the student writes two answers for the same item, his answer rates zero even if 

one of them is correct.  

Model answers (12-13) 

12- ……. email / text a shopping list to the (nearest) market (when it is empty). 

-  ……. email / text the (nearest) market. 

- ……. send a message / a text to the market. 

  (N.B) – If the student writes (email a shopping list), deduct 2 marks. 

– If the student writes the full answer without the verb (email), deduct 2 marks. 

13- ………. electronics, computers and information theory. 

  (N.B) – The student must at least write two items, otherwise deduct 2 marks. 

Remarks from (12-13) 

1- Each item is allotted 6 marks. 

2- The above mentioned answers are accepted in addition to any logical 

completion related to the text. 

3- Overlook grammar, copying and spelling mistakes.  

4- Any addition or omission that doesn't make distortion is overlooked. 

5- Any addition or omission that makes distortion, deduct 1 mark. 
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Group 3 From 14-24 

Model answers (14-16) 

14- the / that  

 (N.B): - If the student writes (this), his answer rates 4 marks. 

15- and / then  

16- was 

 (N.B): - If the student writes (were), his answer rates 3 marks. 

Remarks from (14-16) 

1- Each item is allotted 6 marks. 

2- Only the above mentioned answers are accepted. 

3- Spelling mistakes are overlooked, unless they give rise to new words. 

    If so, the answer rates zero.  

4- If the student writes two answers for the same question, consider the first. 

Model answers (17-20) 

17- famous  

18- mind  

19- honours  

20- later  

Remarks from (17-20) 

1- Each item is allotted 6 marks. 

2- Only the above mentioned answers are accepted. 

3- Overlook copying mistakes and capitalization. 

4- If the student writes two answers in one space, his answer rates zero. 

5- Repeating the same answer more than once rates zero, even if one of them is 

correct.   

6- Answers in the form of numbers rate zero. 
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Model answers (21-24) 

21- Where does your father work?  

- What does your father do (for a living)? 

- What is your father's job / career / profession / business? 

- In what / which place  does your father work? 

- Where does your father work for an oil company? 

- Who works for an oil company (in Homs)? 

- Who / What does your father work for? 

- For whom does your father work ? 

- What does your father work as? 

(N.B): - If the student writes (What does your father work? / What is your father's work?), 

deduct 2 marks. 

22- How long have you been (living) there?  

- For how many years have you been (living) there? 

- For how much time / since when have you been (living) there? 

23- Why / For what reason did you come to Damascus? 

-  What is the reason for coming to / visiting Damascus? 

- What made you come to  Damascus? 

- Why are you here / in Damascus? 

- Who(m) did you come to see (in Damascus)? 

24-  (Answers vary) 

 (N.B): - If the student writes (three times / twice / once) only, deduct 2 marks. 

Remarks from (21-24) 

1- Each item is allotted 8 marks.  

2- Deduct 2 marks for wrong question word/ word cluster. 

3- If the student writes a wrong question word with more than one grammar 

mistake, the answer rates zero. 

4- Deduct 2 marks for a grammar mistake provided that the total deduction 

shouldn't exceed 4 marks.  

5- If the student writes two questions for the same answer, consider the first. 

6- Overlook capitalization and spelling mistakes.  

7- If the student writes the correct question word only, his answer rates 2 marks. 

8- Any logical question or answer related to the dialogue is accepted.  
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Group 4 From 25-33 

Model answers (25-28) 

25- Three letters have been written by Laila (this evening). 

 (N.B)  - The first three steps to form the passive are required, otherwise the answer 

rates zero. 

            - Deduct 2 marks if the student doesn't write the agent (by Laila). 

26-  (I wish) we spent / did spend / would spend / could spend much / more / enough 

time together.  

- (I wish) we did / would / could. 

- (I wish) we had much / more time together.  

27- (He asked her) when she had started her new job.  

28- She had her glasses mended.  

 (N.B)  - The four steps to form the causative are required, otherwise the answer rates zero. 

             - If the student uses the negative form, deduct 2 marks. 

Remarks from (25-28) 

1- Each item is allotted 8 marks. 

2- Overlook spelling mistakes. 

3- Deduct 2 marks for each grammar mistake provided that the total deduction 

should not exceed 4 marks if the sentence still makes sense.    
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Model answers (29-30) 

29- …… (answers vary)          

30- ……. (answers vary)         (present simple – future – modals)  

Remarks from (29-30) 

1- Each item is allotted 7 marks. 

2- The completion that doesn't make sense rates zero, even if it is grammatically 

correct. 

3- Deduct 1 mark for any grammar mistake. 

4- Overlook spelling mistakes unless they give rise to another meaning.                                

If so, deduct 1 mark. 

 (N.B) - the total deduction for both grammar and spelling should not exceed 3 marks 

if the completion still makes sense.  

5- Overlook punctuation marks. 

6- Any logical completion is accepted. 

7- The clause must contain a subject and a verb. If not, the answer rates zero. 

Model answers (31-33) 

31- so 

32- hit  

33- do  

Remarks from (31-33) 

1- Each item is allotted 6 marks. 

2- Only the above mentioned answers are accepted. 

3- Overlook copying mistakes. 

4- Two answers for the same number rates zero 
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Group 5 From 34-38 

 
Model answers (34-36) 

34- was driving   

35- will move / is / are going to move / is / are moving   

36- would / could / might / should buy  

Remarks from (34-36) 

1- Each item is allotted 6 marks. 

2- Only the above mentioned answers are accepted. 

3- Overlook spelling mistakes unless they give rise to another meaning.                     

If so, deduct 1 mark.  

4- Complete (verb forms) are required, otherwise the answer rates zero. 

5- In case the student writes two answers for the same number, consider the first. 
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Model answer (37) 

 : .يُعتبر الكافيين غير ضار لمعظم الناس / عند تناوله بكميات قميمة  37- -

 ي عد يُعتبر: 
 /  لا يسبب الضرر / احكى غير مؤك   غير ضار:

 العديد / الكمير / غالبية  معظم:
 / احشخاص / احفراد البشر الناس:
 مخكه تناوله:

 بمقادير بكميات:
 صغيرة / ضئيمة / خفيفة قميمة:

 

Remarks for (37) 

1- The item is allotted 10 marks. 

2- The sentence is divided into 2 units. The first unit is allotted 6 marks and the 

second unit is allotted 4 marks. 

3- Each unit is treated separately. 

4- Deduct 1 mark for:  

- a missing or wrongly translated word 

- a grammar mistake 

 (N.B) - the total deduction for both grammar and spelling should not exceed 3 

marks if the translation still makes sense.  

 

5- Any other logical translation is accepted. 
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Model answer (38) 

38- Wood is used / in building / and making furniture.  

- We use wood / in building / and making furniture. 
 

- is used: is utilized  

- used in: used for 

- use: utilize 

- building: construction 

- We:  People  

- making furniture: furnishing industry / the fabrication of furniture /                                   

                                fabricating  furniture. 

Remarks for (38) 

1- The item is allotted 8 marks. 

2- The sentence is divided into 3 units. The first unit is allotted 3 marks. The 

second unit is allotted 2 marks. The third unit is allotted 3 marks.  

3- Each unit is treated separately. 

4- Deduct 1 mark for:  

- a missing or wrongly translated word 

- a grammar mistake 

- a spelling mistake if it gives rise to a new meaning. 

(N.B) - the total deduction for both grammar and spelling should not exceed 3 marks 

if the translation still makes sense.  

5- Any other logical translation is accepted. 
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Group 6 - Composition 
Remarks: 

1-  (50 marks) are allotted to this item. 

2-Before starting the correction of the composition, the teacher should make 

first reading to the whole paragraph to figure out if it is relevant to the topic 

or not. 

3-If a student writes more than the required number of words, his/her topic is 

accepted. 

4- a- On average, a paragraph between 70-80 words rates (50 marks). 

Each field is allotted 10 marks.   (7 marks for spelling and 3 marks for punctuation) 

b- A paragraph between 60-69 words rates (45 marks).                                   

Each field is allotted 9 marks. (6 marks for spelling and 3 marks for punctuation) 

c- A paragraph between 50-59 words rates (40 marks).                              

Each field is allotted 8 marks. (5 marks for spelling and 3 marks for punctuation) 

d- A paragraph between 40-49 words rates (35 marks).                                     

Each field is allotted 7 marks. (4 marks for spelling and 3 marks for punctuation) 

e- a paragraph between 30-39 words rates (25 marks). 

Each field is allotted 5 marks. (3 marks for spelling and 2 marks for punctuation) 

f- A paragraph between 20-29 words rates (20 marks) 

Each field is allotted 4 marks. (3 marks for spelling and 1 marks for punctuation) 

g- If the student writes less than 20 words, give 5 marks for each correct 

relevant sentence. 

N.B. - Overlook the first two spelling mistakes and the first grammar 

mistake; then deduct one mark for each mistake.  

- Overlook the first two wrong or missing punctuation marks or wrong 

capitalization; then deduct one mark for each mistake. 

- If the student writes the composition in the form of a letter or an email, 

it is accepted.   

- If the student writes recommendations to have more places to keep 

fit, the composition rates zero. 
 

5- The following chart shows the distribution of the (50 marks): 



  14صّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّحقىقّالنشرّوالتىزيعّوالطبعّهحفىظتّلىزارةّالتربيتّّّّّ ّم0202ّتّعامبالدورةّالاهتحاني ّّخاصّ /ّاللغتّالإنكليسيتّ/ّالفرعّالعلويّ ةّهادّ ّّّّّّّّّّّّّّّّ)

Communication 
Spelling and 

punctuation 
Vocabulary Grammar Task response 

outstanding 

communication; clear, 

coherent and well-

organised text with 

complex language when 

appropriate. 

extremely accurate 

spelling and 

punctuation in simple 

and complex language. 

very wide range of 

accurate and 

appropriate vocabulary 

required for the task. 

very wide range of 

accurate and 

appropriate grammar 

required for the task. 

the task response is 

comprehensive, relevant 

and well-developed. 

(10 marks) (10 marks) (10 marks) (10 marks) (10 marks) 

meaning is clear and 

easy to understand; 

good organization. 

good punctuation and 

spelling; errors may 

occur in complex 

language. 

a good range of 

vocabulary; few errors 

occur except in complex 

vocabulary. 

a good range of 

grammar usage; few 

errors occur except in 

complex structures. 

response is wholly 

relevant but is partially 

developed or not fully 

exploited. 
(9 marks) (9 marks) (9 marks) (9 marks) (9 marks) 

overall meaning is 

conveyed with some 

errors but without 

undue problems for the 

reader 

errors of punctuation 

and spelling occur but 

don't cause undue 

problems for the reader. 

adequate knowledge of 

a range of the 

vocabulary items 

required to carry out the 

task. 

adequate knowledge of 

a range of the grammar; 

more accurate than 

inaccurate. 

largely relevant 

response but without 

much development or 

with some irrelevance. 

(8 marks) (8 marks) (8 marks) (8 marks) (8 marks) 

meaning is only 

conveyed with 

significant effort on the 

part of the reader. 

errors of punctuation 

and spelling create 

problems for the reader. 

some vocabulary 

knowledge but frequent 

errors or gaps mean 

vocabulary is 

insufficient for the task. 

some grammar 

knowledge but frequent 

errors or gaps mean 

grammar is insufficient 

for the task. 

some relevant response 

to the task, though at 

times the task appears 

not to have been 

understood. 
(7 marks) (7 marks) (7 marks) (7 marks) (7 marks) 

no response or response 

insufficient to grade. 

no response or response 

insufficient to grade. 

no response or response 

insufficient to grade. 

no response or response 

insufficient to grade. 

no response or response 

insufficient to grade. 
zero zero zero zero zero 

 

                          N.B.  Deduct 1 mark once for the same repeated mistakes. 

-نّانتهىّالسل ّّ-  



Scanned by CamScanner



Scanned by CamScanner

















































                                          حقىق النشر والتىزيغ والطبغ هحفىظت لىزارة التربيت          2222 ػام خاص  بالدورة الأولىاللغت الإنكليسيت / الفرع الؼلوي  نظام حديث/ ة هاد              

 ةّةّالسوريّ ةّالعربيّ الجمهوريّ 

ّربيةّوزارةّالتّ ّّّّّّ
ّ

ّ
ّ
ّ
ّ
ّ
ّ
ّ
ّ
ّ

ّـةةّالمغـةّالإنكميزيّ مّتصحيحّمـادّ سـمّ 
ّةـةّالعامّ راسةّالثانويّ لامتحانّشـهادةّالدّ 

ّالفرعّالعمميّ 
ّنظامّحديث

 م2222عامّّالأولىالدورةّ
ّ
ّ
ّ
ّ
ّ
ّ
ّ
ّ
ّ
 
 

ّ



                                          حقىق النشر والتىزيغ والطبغ هحفىظت لىزارة التربيت          2222 ػام خاص  بالدورة الأولىاللغت الإنكليسيت / الفرع الؼلوي  نظام حديث/ ة هاد              

ّ
ّ

ّّّّّّّّدرجة/022/:ّرجةالدّ ّّّّّّّّّّّّّّّّّّةالمغةّالإنكميزيّ ّةمادّ ّّّّّّّّّّّّّّّةالعامّ ةّسم مّتصحيحّشهادةّالثانويّ 
 ّ الفرعّالعمميّ ّّّّّّّّّّّّّّّّّّم2222عامّّالأولىةّالدورةّالامتحانيّ 

ّ
 

 

 

I-    Group 1:   1   –  12 

II-  Group2:     13  –  38 

III- Group 3:   39  – 42 + Rewriting 

IV- Group 4:   composition 

 

ّ:ممحوظات
 سؤال عمى يسار الرقم. ة لكل  توضع العلامة المستحق   -
 عمى رقم الإجابة الخطأ. (X)توضع إشارة  -

اليمنععى وتكتععم رقمععا  ع عنععج نيايععة المجموعععة رعع  ال اويععة مجموعععة وتوضععع رعع  مرب عع تجمععع جرجععاج الإجابععة لكععل   -
 ة.وكتابة بالمغة العربي  

ق اسعم  ح والمعجق  من المصعح   ويسجل كل   ص ليا ر  ججول الجرجاجمجموعة إلى الحقل المخص   تررع جرجة كل   -
 ع عمييا )مع مراعاة حقل الكسور والآحاج والعشراج(.ويوق  
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Group1 From 1- 12 
Model answers: (1-6) 

1- a / play an essential role 

2- d / skills and abilities 

3- c / unwilling to do it 

4- b / influence him when choosing a career 

5- d / how much they will earn 

6- b / parents 

Remarks from (1-6)  

1- Each item is allotted 10 marks. 

2- Only the above mentioned answers are accepted. 

3- Either the correct choice or the letter that corresponds to the correct answer is accepted. 

4-  Overlook spelling, grammar, copying mistakes and capitalization.  

  

Model answers from (7-12) 

7- F / false 

8- F / false 

9- T / true 

10- F / false 

11- T / true 

12- T/ true 

Remarks from (7-12)  

1- Each item is allotted 10 marks. 

2- Only the above mentioned answers are accepted. 

3-  If the student writes only the correction without putting the sign (F/false), the answer is 

accepted. 

4- If the student writes )  صح/ غلط) or any sign that shows true or false , the answer is 

accepted. 
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Group 2 From 13 -38 

Model answers (13 - 38) 

13- b / ophthalmologist                                      27- b / got 

14- d/ launderette                                               28- c / will have finished 

15- b / maintenance                                            29-  a / arrive 

16- c / controlled                                                30 – b / is being fixed 

17- a / fined                                                        31- d / had come 

18- c / motivate                                                  32- a / won't have 

19- d / beat around the bush                              33- c / whose  

20- a / on a roll                                                  34- d / would have taken 

21- b / shored up                                                35- b / knew 

22- c / follow through                                       36- a / wanted 

23- d / rises                                                       37- d / listen 

24- b / is cooking                                              38- c / Congratulations 

25- a / has lived   

26- d / will be making       

                             

Remarks from (13 - 38) 

1- Each item is allotted    5 marks. 

2- Either the letter or the complete answer is accepted or both. 

3- If the student writes two answers for the same item, consider the first. 

4- Overlook copying mistakes. 
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Group 3 ( 39- 42 + Rewriting ) 

Model answers (39 -42) 

39- Where did you meet Maya? 

    - What place / In which place did you meet Maya? 

40- How long have you been waiting? 

   - For how many hours have you been waiting? 

  - For how much time have you been waiting? 

 

41- Who phoned you last night? 

     -Who did phone you? 

42- When will they leave? 

Remarks from (21-24) 

1- Each item is allotted 3 marks.  

2- If the student uses a wrong question word, the answer rates zero. 

3- Deduct 1 mark for each grammar mistake.  

4- If the student writes two questions for the same answer, consider the first. 

5- Overlook capitalization, punctuation and spelling mistakes.  

6- Any logical question or answer is accepted.  

B- Rewriting 

- While I was shopping, I met my friend Ahmad. He asked me if he could  come with 

me. I said "With pleasure". 

OR 

- While I was shopping, I met my friend Ahmad. He asked me if I could  come with 

him. I said "With pleasure". 

Remarks 

1- Each corrected item is allotted 2 marks. 

2-If the student writes the correction only without rewriting the whole passage,                   

the answer is accepted. 
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Group 4 Composition 

Remarks: 

1-  (30 marks) are allotted to this item. 

2-Before starting the correction of the composition, the teacher should make 

first reading to the whole paragraph to figure out if it is relevant to the topic 

or not. 

3-If a student writes more than the required number of words, his/her topic is 

accepted. 

        a- On average, a paragraph between 71 - 80 words rates      (30 marks). 

           Deduct one mark for every mistake as a package of (10 marks:  2 for     

           punctuation and 8 for spelling and grammar). 

b- A paragraph between 61-70 words rates     (28 marks).   

           Deduct one mark for every mistake as a package of (10 marks:  2 for     

           punctuation and 8 for spelling and grammar). 

      c- A paragraph between 51 -60 words rates     (26 marks). 

           Deduct one mark for every mistake as a package of (8 marks: 2 for     

           punctuation and 6 for spelling and grammar). 

     d- A paragraph between 41-50 words rates      (24 marks).  

          Deduct one mark for every mistake as a package of (8 marks: 2 for     

           punctuation and 6 for spelling and grammar)                                                 

N.B. - Overlook the first two grammar, two spelling and two punctuation mistakes                     

           for items ( a- b – c – d ). 

e- A paragraph between 31- 40 words     (20 marks). 

           Deduct one mark for every mistake as a package of (6 marks) 

f- A paragraph between 21- 30 words     (15 marks) 

   Deduct one mark for every mistake as a package of (4 marks) 

g- A paragraph between (10- 20)            (10 marks) 

    Deduct one mark for every mistake as a package of (4 marks) 

N.B. - Overlook the first grammar, the first spelling and the first punctuation 

mistake for items (e- f – g ) 

h- A paragraph less than 10 words give 2 marks for each correct sentence. 

 

N.B.  Deduct 1 mark once for the same repeated mistakes. 

 

ّــن انتهى السل   -
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1 /ّةّهادّ  ّبالد ورةّالاهتحاني تّالأولىّعاماللغتّالإنكليسيتّ/العلوي  مّص2222ّّخاص  زيعّوالطبعّهحفىظتّلىزارةّالتربيتّّّّّّّّّّّحقىقّالنشرّوالتىّّّّّّ   
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2 /ّةّهادّ  ّبالد ورةّالاهتحاني تّالأولىّعاماللغتّالإنكليسيتّ/العلوي  مّص2222ّّخاص  زيعّوالطبعّهحفىظتّلىزارةّالتربيتّّّّّّّّّّّحقىقّالنشرّوالتىّّّّّّ   

 

ّ
ّ

ّّدرجة/022/:ّرجةالدّ ّّّّّّّّّّّّّّّّّّةالمغةّالإنكميزيّ ّةمادّ ّّّّّّّّّّّّّّّةالعامّ ةّسم مّتصحيحّشهادةّالثانويّ 
 ّ الفرعّالعمميّ ّّّّّّّّّّّّّّّّّم2222عامّّالأولىةّالدورةّالامتحانيّ 

ّ
ّ

ّ

 

I-    Group 1:   1   –  7 

II-  Group2:     8  –  13 

III- Group 3:   14 – 24 

IV- Group 4:   25 – 33 

V-  Group5:     34 – 38 

VI- Group 6:  composition 

 

ّ:ممحوظات
 سؤال عمى يسار الرقم. ة لكل  توضع العلامة المستحق   -
 عمى رقم الإجابة الخطأ. (X)توضع إشارة  -

المجموعة في الزاوية اليمنى وتكتب رقماً ع عند نهاية مجموعة وتوضع في مرب   تجمع درجات الإجابة لكل   -
 ة.وكتابة بالمغة العربي  

ق ح والمحدق  من المصحح   ويسجل كل   ص لها في جدول الدرجاتمجموعة إلى الحقل المخص   ترفع درجة كل   -
 ع عميها )مع مراعاة حقل الكسور والآحاد والعشرات(.ويوق  اسمه 

  الححدرجات وفححق الحقححول المدرجححة بححكلو وتححوز   الجححدول الخححاص   عححد  ي   :عنححد نهايححة تصحححيح موضححو  الإنشححا  -
 ححر  محم   حقحل ممحام كحل   عمحى ورقحة الإجابحة وتوضحع درجحة كحل   (T , G , V , S , C)وتوضحع احححر  

 ص لها في جدول الدرجات.ع وترفع إلى الحقل المخص  تجمع وتوضع ضمن مرب  

  



3 /ّةّهادّ  ّبالد ورةّالاهتحاني تّالأولىّعاماللغتّالإنكليسيتّ/العلوي  مّص2222ّّخاص  زيعّوالطبعّهحفىظتّلىزارةّالتربيتّّّّّّّّّّّحقىقّالنشرّوالتىّّّّّّ   

 

 

Group1 From 1- 7 

Model answers: (1-3) 

1- (The processes involved in making copper goods) are cutting, welding and 

ornamentation. 

 (N.B) No1: - If the student mentions two processes, his answer rates full mark. 

            - If the student mentions one process, his answer rates 3 marks. 

2-  (The Aleppo Craftsmen Union) is trying to establish a training centre and 

promote the local and regional trade of copper products. 

(N.B) No2: - If the student mentions one item, his answer rates full mark. 

3-  (Copper artefacts are useful to historians) because they give them information 

(about the way ancient people lived and interacted). 

Remarks from (1-3) 

(N.B): - Information between brackets is optional. 

1- Each item is allotted 6 marks. 

2- Overlook irrelevant information unless it exceeds one sentence. If so, deduct 2 

marks. 

3- Overlook copying, grammar and spelling mistakes and capitalization. 

4- Any logical answer related to the text is accepted. 

Model answers from (4-5) 

4- skilled 

   - If the student writes (experienced), his answer rates 2 marks. 

5- identify 

Remarks from (4-5) 

1- Each item is allotted 5 marks. 

2- Only the above mentioned answers are accepted. 

3- Overlook capitalization and copying mistakes unless they give rise to another 

word. If so, the answer rates zero. 

4- If the student writes two answers for the same item, consider the first.  

 

 



4 /ّةّهادّ  ّبالد ورةّالاهتحاني تّالأولىّعاماللغتّالإنكليسيتّ/العلوي  مّص2222ّّخاص  زيعّوالطبعّهحفىظتّلىزارةّالتربيتّّّّّّّّّّّحقىقّالنشرّوالتىّّّّّّ   

 

Model answers from (6-7) 

6- Nowadays, a small handful of craftsmen continue to practice copper craft. 

- Nowadays, a few / some craftsmen continue to practice copper craft. 

7- Syria's location has caused the development / appearance of many crafts.  

Remarks from (6-7)  

1- Each item is allotted 6 marks. 

2- Only the above mentioned answers are accepted in addition to any logical answer. 

3-  Overlook spelling, grammar, copying mistakes and capitalization.   

4- If the student writes only the correction without rewriting the whole sentence, the 

answer rates 3 marks. 

5- If the student writes the answer in the negative form in number 7, the answer rates 

3 marks. 

 

 

 

 

  



5 /ّةّهادّ  ّبالد ورةّالاهتحاني تّالأولىّعاماللغتّالإنكليسيتّ/العلوي  مّص2222ّّخاص  زيعّوالطبعّهحفىظتّلىزارةّالتربيتّّّّّّّّّّّحقىقّالنشرّوالتىّّّّّّ   

 

 

Group 2 From 8-13 

Model answers (8-9) 

8- a / any small error may cause death   

9- b / avoid being frozen 

(N.B): - If the student writes only the first word of the correct answer,                              

the answer rates full mark. 

Remarks from (8-9) 

1- Each item is allotted 6 marks. 

2- Either the letter or the complete answer is accepted or both. 

3- If the student writes two answers for the same item, consider the first. 

4- Overlook copying mistakes. 

Model answers (10-11) 

10- require 

11- vacuum 

Remarks from (10-11) 

1- Each item is allotted 6 marks. 

2- Only the above mentioned answers are accepted. 

3- Overlook copying mistakes and capitalization. 

4- If the student writes two answers for the same item, his answer rates zero even if 

one of them is correct.  

Model answers (12-13) 

12- ……. protect the astronaut (from space) . 

- ……… keep the astronaut safe. 

13- ………. skilled / trained / experienced. 

Remarks from (12-13) 

1- Each item is allotted 6 marks. 
2- The above mentioned answers are accepted in addition to any logical 

completion related to the text. 

3- Overlook grammar, copying and spelling mistakes.  

4- Any addition or omission that doesn't make distortion is overlooked. 
5- Any addition or omission that makes distortion, deduct 1 mark. 
 

 

 

 



6 /ّةّهادّ  ّبالد ورةّالاهتحاني تّالأولىّعاماللغتّالإنكليسيتّ/العلوي  مّص2222ّّخاص  زيعّوالطبعّهحفىظتّلىزارةّالتربيتّّّّّّّّّّّحقىقّالنشرّوالتىّّّّّّ   

 

 

Group 3 From 14-24 

Model answers (14-16) 

14- He / Tareq 

15- a 

16- who 

Remarks from (14-16) 

1- Each item is allotted 6 marks. 

2- Only the above mentioned answers are accepted. 

3- Spelling mistakes are overlooked, unless they give rise to new words. 

    If so, the answer rates zero.  

4- If the student writes two answers for the same question, consider the first. 

Model answers (17-20) 

17- curious 

18- enjoyed 

19- ground 

20- himself 

Remarks from (17-20) 

1- Each item is allotted 6 marks. 

2- Only the above mentioned answers are accepted. 

3- Overlook copying mistakes and capitalization. 

4- If the student writes two answers in one space, his answer rates zero. 

6- Answers in the form of numbers rate zero. 

 

 

 

 

 



7 /ّةّهادّ  ّبالد ورةّالاهتحاني تّالأولىّعاماللغتّالإنكليسيتّ/العلوي  مّص2222ّّخاص  زيعّوالطبعّهحفىظتّلىزارةّالتربيتّّّّّّّّّّّحقىقّالنشرّوالتىّّّّّّ   

 

 

Model answers (21-24) 

21- Where has your sister Huda travelled? 

- What country/ Which country has your sister travelled to? 

- Which of your sisters has travelled to France? 

- What has Huda / your sister done? 

22- What is she doing / studying there? 

- Why is she there? 

- Why has she travelled there? 

23- How long has she been there? 

- For how many years has she been there? 

- For how much time has she been there? 

24- (Answers vary) 

Remarks from (21-24) 

1- Each item is allotted 8 marks.  

2- Deduct 2 marks for wrong question word/ word cluster. 

3- If the student writes a wrong question word with more than one grammar 

mistake, the answer rates zero. 

4- Deduct 2 marks for a grammar mistake provided that the total deduction 

shouldn't exceed 4 marks.  

5- If the student writes two questions for the same answer, consider the first. 

6- Overlook capitalization, punctuation and spelling mistakes.  

7- If the student writes the correct question word only, his answer rates 2 marks. 

8- If the answer is included in the question, deduct 2 marks. 

9- Any logical question or answer related to the dialogue is accepted.  

 

 

 

 

 

 

 

 



8 /ّةّهادّ  ّبالد ورةّالاهتحاني تّالأولىّعاماللغتّالإنكليسيتّ/العلوي  مّص2222ّّخاص  زيعّوالطبعّهحفىظتّلىزارةّالتربيتّّّّّّّّّّّحقىقّالنشرّوالتىّّّّّّ   

 

 

Group 4 From 25-33 

Model answers (25-28) 

25- (I wish) I could / would/ did remember (where I left/ had left my keys).  

- (I wish) I remembered (where I left my keys). 

(N.B)  - If the student writes the negative form, deduct 2 marks 

26- My friend had his bicycle/ it repaired 

   - My friend got his bicycle repaired.  

   - My friend had to have his bicycle/ it repaired. 

(N.B)  - The four steps to form the causative are required, otherwise the answer rates zero. 

             - If the student uses the positive form, deduct 2 marks. 

27- (He asked them) if they had enjoyed their first day in the company.    

28- Our lungs are harmed by smoking 

 (N.B)  - The first three steps to form the passive are required, otherwise the answer 

rates zero. 

              - If the agent (by smoking)  is not mentioned, deduct 2 marks. 

Remarks from (25-28) 

1- Each item is allotted 8 marks. 

2- Overlook spelling mistakes. 

3- Deduct 2 marks for each grammar mistake provided that the total deduction 

should not exceed 4 marks if the sentence still makes sense.  

4- The words between brackets are optional.   

 

 

 

 

 



9 /ّةّهادّ  ّبالد ورةّالاهتحاني تّالأولىّعاماللغتّالإنكليسيتّ/العلوي  مّص2222ّّخاص  زيعّوالطبعّهحفىظتّلىزارةّالتربيتّّّّّّّّّّّحقىقّالنشرّوالتىّّّّّّ   

 

Model answers (29-30) 

29-  (answers vary)   (past simple – present perfect – present perfect continuous) 

30-  (answers vary)         (past tense) 

Remarks from (29-30) 

1- Each item is allotted 7 marks. 

2- The completion that doesn't make sense rates zero, even if it is grammatically 

correct. 

3- Deduct 1 mark for any grammar mistake. 

4- Overlook spelling mistakes unless they give rise to another meaning.                                

If so, deduct 1 mark. 

 (N.B) - the total deduction for both grammar and spelling should not exceed 3 marks 

if the completion still makes sense.  

5- Overlook punctuation marks. 

6- Any logical completion is accepted. 

7- The clause must contain a subject and a verb. If not, the answer rates zero. 

Model answers (31-33) 

31- entertainment 

32- because 

33- make  

Remarks from (31-33) 

1- Each item is allotted 6 marks. 

2- Only the above mentioned answers are accepted. 

3- Overlook copying mistakes. 

4- Two answers for the same number rates zero. 

 

 



10 /ّةّهادّ  ّبالد ورةّالاهتحاني تّالأولىّعاماللغتّالإنكليسيتّ/العلوي  مّص2222ّّخاص  زيعّوالطبعّهحفىظتّلىزارةّالتربيتّّّّّّّّّّّحقىقّالنشرّوالتىّّّّّّ   

 

 

 

Group 5 From 34-38 

 
Model answers (34-36) 

34-   has interviewed  

35-  was walking 

36- will see / can see / may see  (any suitable modal is accepted) 

Remarks from (34-36) 

1- Each item is allotted 6 marks. 

2- Only the above mentioned answers are accepted. 

3- Overlook spelling mistakes unless they give rise to another meaning.                     

If so, deduct 1 mark.  

4- Complete (verb forms) are required, otherwise the answer rates zero. 

5- Deduct 2 marks for grammar mistakes if it is in the first part or in the second                 

part of the verb. E.g. was walk 

5- In case the student writes two answers for the same number, consider the first. 

Model answer (37) 

ّ:ّ.لمقمبّوّالجهازّالعصبيّ/ّكمنبهالكافئيينّّيستخدم37ّّ- -

 يستعمل:ّيستخدم
 منشطك \محفزك \منشط ك :منبهك

Remarks for (37) 

1- The item is allotted 10 marks. 

2- The sentence is divided into 2 units. Each unit is allotted 5 marks. 

3- Each unit is treated separately. 

4- Deduct 1 mark for:  

- a missing or wrongly translated word 

- a grammar mistake 

 (N.B) - the total deduction for both grammar and spelling should not exceed            

3 marks if the translation still makes sense.  

5- Any other logical translation is accepted. 

 

 



11 /ّةّهادّ  ّبالد ورةّالاهتحاني تّالأولىّعاماللغتّالإنكليسيتّ/العلوي  مّص2222ّّخاص  زيعّوالطبعّهحفىظتّلىزارةّالتربيتّّّّّّّّّّّحقىقّالنشرّوالتىّّّّّّ   

 

 
Model answer (38) 

38- The driver had to pay a fine / because of driving too fast.  

- The driver had to pay a fine / because he was driving too fast. 

- had to: must/ should 

- because of : for / since  

-  too: very   

Remarks for (38) 

1- The item is allotted 8 marks. 

2- The sentence is divided into 2 units. Each unit is allotted 4 marks. 

3- Deduct 1 mark for:  

- a missing or wrongly translated word 

- a grammar mistake 

- a spelling mistake if it gives rise to a new meaning. 

(N.B) - the total deduction for both grammar and spelling should not exceed 3 marks 

if the translation still makes sense.  

4- Any other logical translation is accepted. 

 

 

 

 

 

 

 

 

 

 



12 /ّةّهادّ  ّبالد ورةّالاهتحاني تّالأولىّعاماللغتّالإنكليسيتّ/العلوي  مّص2222ّّخاص  زيعّوالطبعّهحفىظتّلىزارةّالتربيتّّّّّّّّّّّحقىقّالنشرّوالتىّّّّّّ   

 

 

Group 6 - Composition 

Remarks: 

1-  (50 marks) are allotted to this item. 

2-Before starting the correction of the composition, the teacher should make 

first reading to the whole paragraph to figure out if it is relevant to the topic 

or not. 

3-If a student writes more than the required number of words, his/her topic is 

accepted. 

4- a- On average, a paragraph between 70-80 words rates (50 marks). 

Each field is allotted 10 marks.   (7 marks for spelling and 3 marks for punctuation) 

b- A paragraph between 60-69 words rates (45 marks).                                   

Each field is allotted 9 marks. (6 marks for spelling and 3 marks for punctuation) 

c- A paragraph between 50-59 words rates (40 marks).                              

Each field is allotted 8 marks. (5 marks for spelling and 3 marks for punctuation) 

d- A paragraph between 40-49 words rates (35 marks).                                     

Each field is allotted 7 marks. (4 marks for spelling and 3 marks for punctuation) 

e- a paragraph between 30-39 words rates (25 marks). 

Each field is allotted 5 marks. (3 marks for spelling and 2 marks for punctuation) 

f- A paragraph between 20-29 words rates (20 marks) 

Each field is allotted 4 marks. (3 marks for spelling and 1 marks for punctuation) 

g- If the student writes less than 20 words, give 5 marks for each correct 

relevant sentence. 

N.B. - Overlook the first two spelling mistakes , the first two grammar and 

the first two punctuation mistake; then deduct one mark for each 

mistake.  

5- The following chart shows the distribution of the (50 marks): 



/ّةّهادّ ّّّّّّّّّّّّّّّّ) ّبالدورةّالاهتحاني تّاللغتّالإنكليسيتّ/ّالفرعّالعلوي    14صّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّحقىقّالنشرّوالتىزيعّوالطبعّهحفىظتّلىزارةّالتربيتEّّّّّّّّ 2222ّّعامالثانيتّالإضافي تّخاص 

Communication 
Spelling and 

punctuation 
Vocabulary Grammar Task response 

outstanding 

communication; clear, 

coherent and well-

organised text with 

complex language when 

appropriate. 

extremely accurate 

spelling and 

punctuation in simple 

and complex language. 

very wide range of 

accurate and 

appropriate vocabulary 

required for the task. 

very wide range of 

accurate and 

appropriate grammar 

required for the task. 

the task response is 

comprehensive, relevant 

and well-developed. 

(10 marks) (10 marks) (10 marks) (10 marks) (10 marks) 

meaning is clear and 

easy to understand; 

good organization. 

good punctuation and 

spelling; errors may 

occur in complex 

language. 

a good range of 

vocabulary; few errors 

occur except in complex 

vocabulary. 

a good range of 

grammar usage; few 

errors occur except in 

complex structures. 

response is wholly 

relevant but is partially 

developed or not fully 

exploited. 
(9 marks) (9 marks) (9 marks) (9 marks) (9 marks) 

overall meaning is 

conveyed with some 

errors but without 

undue problems for the 

reader 

errors of punctuation 

and spelling occur but 

don't cause undue 

problems for the reader. 

adequate knowledge of 

a range of the 

vocabulary items 

required to carry out the 

task. 

adequate knowledge of 

a range of the grammar; 

more accurate than 

inaccurate. 

largely relevant 

response but without 

much development or 

with some irrelevance. 

(8 marks) (8 marks) (8 marks) (8 marks) (8 marks) 

meaning is only 

conveyed with 

significant effort on the 

part of the reader. 

errors of punctuation 

and spelling create 

problems for the reader. 

some vocabulary 

knowledge but frequent 

errors or gaps mean 

vocabulary is 

insufficient for the task. 

some grammar 

knowledge but frequent 

errors or gaps mean 

grammar is insufficient 

for the task. 

some relevant response 

to the task, though at 

times the task appears 

not to have been 

understood. 
(7 marks) (7 marks) (7 marks) (7 marks) (7 marks) 

no response or response 

insufficient to grade. 

no response or response 

insufficient to grade. 

no response or response 

insufficient to grade. 

no response or response 

insufficient to grade. 

no response or response 

insufficient to grade. 
zero zero zero zero zero 

 

                          N.B.  Deduct 1 mark once for the same repeated mistakes. 

 

-نّانتهىّالسل ّّ-  
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I-    Group 1:   1   –  12 

II-  Group2:     13  –  38 

III- Group 3:   39  – 42 + Rewriting 

IV- Group 4:   composition 

 

ّ:ملحوظات
 سؤال على يدار الرقم. ة لكل  تهضع العلامة المدتحق   -
 على رقم الإجابة الخطأ. (X)تهضع إشارة  -

اليمنععى وتكتععم رقمععا  ع عنععن ايايععة المجمهعععة رعع  ال او ععة مجمهعععة وتهضععع رعع  مر  عع تجمععع جرجععاج الإجابععة لكععل   -
 ة.وكتابة باللغة العر ي  

ق اسعم  ح والمعنق  من المرعح   و دجل كل   ص ليا ر  جنول النرجاجمجمهعة إلى الحقل المخر   تررع جرجة كل   -
 ع علييا )مع مراعاة حقل الكدهر والآحاج والعذراج(.و هق  

  



                                          حقىق النشر والتىزيغ والطبغ هحفىظت لىزارة التربيت          2222 ػام الثانيتخاص  بالدورة اللغت الإنكليسيت / الفرع الؼلوي  نظام حديث/ ة هاد              

 

Group1 From 1- 12 
Model answers: (1-6) 

1- a / stop 

2- a / essential 

3- c / different 

4- c / take the full course of medicine 

5- a / may cause rash 

6- c / greater than reasonable 

Remarks from (1-6)  

1- Each item is allotted 10 marks. 

2- Only the above mentioned answers are accepted. 

3- Either the correct choice or the letter that corresponds to the correct answer is accepted. 

4-  Overlook spelling, grammar, copying mistakes and capitalization.  

  

Model answers from (7-12) 

7- F / false 

8- F / false 

9- F / false 

10- T / true 

11- F / false 

12- T/ true 

Remarks from (7-12)  

1- Each item is allotted 10 marks. 

2- Only the above mentioned answers are accepted. 

3-  If the student writes only the correction without putting the sign (F/false), the answer is 

accepted. 

4- If the student writes )  صح/ غلط) or any sign that shows true or false , the answer is 

accepted. 

 

 



                                          حقىق النشر والتىزيغ والطبغ هحفىظت لىزارة التربيت          2222 ػام الثانيتخاص  بالدورة اللغت الإنكليسيت / الفرع الؼلوي  نظام حديث/ ة هاد              

 

Group 2 From 13 -38 

Model answers (13 - 38) 

13- b / meet                                                        27- d / had started 

14- a / onto                                                         28- c / has broken 

15- c / devotion                                                  29- d / have been built 

16- b / pediatrician                                             30 - a / didn't have it redecorated 

17- c / active                                                       31- b / he wanted 

18- d / react                                                         32- c / would have saved 

19- a / getting into                                               33- d / knew 

20- b / put on                                                       34- d / where 

21- c / assemble the case                                     35- d / psychology 

22- b / speak her mind                                         36- c / asked 

23- c / get up                                                        37- a / I'm awfully sorry 

24- b / studied                                                      38- d / I'd love some 

25- b / have been working   

26- a / was describing       

                             

Remarks from (13 - 38) 

1- Each item is allotted  5 marks. 

2- Either the letter or the complete answer is accepted or both. 

3- If the student writes two answers for the same item, consider the first. 

4- Overlook copying mistakes. 

 

 

 

 

 

 



                                          حقىق النشر والتىزيغ والطبغ هحفىظت لىزارة التربيت          2222 ػام الثانيتخاص  بالدورة اللغت الإنكليسيت / الفرع الؼلوي  نظام حديث/ ة هاد              

 

Group 3 ( 39- 42 + Rewriting ) 

Model answers (39 -42) 

39- When/ what time does the sport programme (often) start? 

40- Whose birthday did you go to last week? 

41- How long has he been running? 

- For how many hours has he been running? 

- For how long has he been running? 

- For how much time has he been running?  

42- What/ Which thing have you discussed with your father? 

Remarks from (21-24) 

1- Each item is allotted 3 marks.  

2- If the student uses a wrong question word, the answer rates zero. 

3- Deduct 1 mark for each grammar mistake.  

4- If the student writes two questions for the same answer, consider the first. 

 5- If the student writes the question word only, his answer rates zero. 

6- Overlook capitalization, punctuation and spelling mistakes.  

 7- Any logical answer is accepted.  

B- Rewriting 

- Mary is from England. When she was on holiday in Venezuela, some Venezuelan 

friends invited her to dinner at 9:00. She arrived at exactly 9:00, but her friends had 

not even arrived home yet. 

Remarks 

1- Each corrected item is allotted 2 marks. 

2-If the student writes the correction only without rewriting the whole passage,  

    the answer is accepted. 

 
 

 

 

 

 



                                          حقىق النشر والتىزيغ والطبغ هحفىظت لىزارة التربيت          2222 ػام الثانيتخاص  بالدورة اللغت الإنكليسيت / الفرع الؼلوي  نظام حديث/ ة هاد              

 

Group 4 Composition 

Remarks: 

1-  (30 marks) are allotted to this item. 

2-Before starting the correction of the composition, the teacher should make first 

reading to the whole paragraph to figure out if it is relevant to the topic or not. 

3-If a student writes more than the required number of words, his/her topic is 

accepted. 

        a- On average, a paragraph between 71 - 80 words rates      (30 marks). 

           Deduct one mark for every mistake as a package of (10 marks:  2 for punctuation             

           and 8 for spelling and grammar). 

b- A paragraph between 61-70 words rates     (28 marks).   

           Deduct one mark for every mistake as a package of (10 marks:  2 for punctuation    

           and 8 for spelling and grammar). 

      c- A paragraph between 51 -60 words rates     (26 marks). 

           Deduct one mark for every mistake as a package of (8 marks: 2 for punctuation and  

           6 for spelling and grammar). 

     d- A paragraph between 41-50 words rates      (24 marks).  

          Deduct one mark for every mistake as a package of (8 marks: 2 for punctuation and  

          6 for spelling and grammar)                                               

   N.B. - Overlook the first two grammar, two spelling and two punctuation mistakes                     

           for items ( a- b – c – d ). 

e- A paragraph between 31- 40 words     (20 marks). 

           Deduct one mark for every mistake as a package of (6 marks) 

f- A paragraph between 21- 30 words     (15 marks) 

   Deduct one mark for every mistake as a package of (4 marks) 

g- A paragraph between (10- 20)            (10 marks) 

    Deduct one mark for every mistake as a package of (4 marks) 

  N.B. - Overlook the first grammar, the first spelling and the first punctuation mistake 

for items (e- f - g ) 

h- A paragraph less than 10 words give 2 marks for each correct sentence. 

 

N.B.  Deduct 1 mark once for the same repeated mistakes. 

 

 ــن انتهى السل   -



1 /ّةّهادّ  ّبالد ورةّالاهتحاني تّاللغتّالإنكليسيتّ/العلوي  مّص2222ّّعامّالثانيتخاص  زيعّوالطبعّهحفىظتّلىزارةّالتربيتّّّّّّّّّّّحقىقّالنشرّوالتىّّّّّّ   

 

ّةّةّالسهريّ ةّالعربيّ الجطههريّ 

ّربيةّوزارةّالتّ ّّّّّّ
ّ

ّ
ّ
ّ
ّ
ّ
ّ
ّ
ّ
ّ

ّـةةّاللغـةّالإنكليزيّ مّتصحيحّمـادّ ـلّ سّ 
ّةـةّالعامّ راسةّالثانهيّ لامتحانّشـهادةّالدّ 

ّالفرعّالعلطيّ 
ّنظامّقديم

 م2222عامّّالثانيةالدورةّ
ّ
ّ
ّ
ّ
ّ
ّ
ّ
ّ
ّ
 
 

ّ



2 /ّةّهادّ  ّبالد ورةّالاهتحاني تّاللغتّالإنكليسيتّ/العلوي  مّص2222ّّعامّالثانيتخاص  زيعّوالطبعّهحفىظتّلىزارةّالتربيتّّّّّّّّّّّحقىقّالنشرّوالتىّّّّّّ   

 

ّ
ّ

ّّدرجة/022/:ّرجةالدّ ّّّّّّّّّّّّّّّّّّةاللغةّالإنكليزيّ ّةمادّ ّّّّّّّّّّّّّّّةالعامّ ةّسل مّتصحيحّشهادةّالثانهيّ 
 ّ الفرعّالعلطيّ ّّّّّّّّّّّّّّّّّم2222عامّّالثانيةةّالدورةّالامتحانيّ 

ّ
ّ

ّ

 

I-    Group 1:   1   –  7 

II-  Group2:     8  –  13 

III- Group 3:   14 – 24 

IV- Group 4:   25 – 33 

V-  Group5:     34 – 38 

VI- Group 6:  composition 

 

ّ:ملحهظات
 سؤال على يدار الرقم. ة لكل  تهضع العلامة المدتحق   -
 على رقم الإجابة الخطأ. (X)تهضع إشارة  -

المجمهعة في الزاوية اليمنى وتكتب رقماً ع عند نهاية مجمهعة وتهضع في مرب   تجمع درجات الإجابة لكل   -
 ة.وكتابة باللغة العربي  

ق ح والمحدق  من المرحح   ويدجل كل   ص لها في جدول الدرجاتمجمهعة إلى الحقل المخر   ترفع درجة كل   -
 ع عليها )مع مراعاة حقل الكدهر والآحاد والعذرات(.ويهق  اسمه 

  الححدرجات وفححق الحقححهل المدرجححة بححكلو وتححه    الجححدول الخححا    عححد  ي   :عنححد نهايححة ترحححيح مهضححه  الإنذححا  -
 ححر  محم   حقحل ممحاك كحل   علحى ورقحة الإجابحة وتهضحع درجحة كحل   (T , G , V , S , C)وتهضحع احححر  

 ص لها في جدول الدرجات.ع وترفع إلى الحقل المخر  تجمع وتهضع ضمن مرب  

  



3 /ّةّهادّ  ّبالد ورةّالاهتحاني تّاللغتّالإنكليسيتّ/العلوي  مّص2222ّّعامّالثانيتخاص  زيعّوالطبعّهحفىظتّلىزارةّالتربيتّّّّّّّّّّّحقىقّالنشرّوالتىّّّّّّ   

 

 

Group1 From 1- 7 

Model answers: (1-3) 

1- People/ They visit zoos to see animals that they can't see in their own country. 

2- Zoos are unnatural for wild animals to be kept in captivity. 

- Zoos may be located in places where the climate is very different from the climate            

  of the animal's country of origin. 

3-  Zoos. 

Remarks from (1-3) 

(N.B): - Information between brackets is optional. 

1- Each item is allotted 6 marks. 

2- Overlook irrelevant information unless it exceeds one sentence. If so, deduct 2 

marks. 

3- Overlook copying, grammar and spelling mistakes and capitalization. 

4- Any logical answer related to the text is accepted. 

Model answers from (4-5) 

4- extinction 

5- located 

Remarks from (4-5) 

1- Each item is allotted 5 marks. 

2- Only the above mentioned answers are accepted. 

3- Overlook capitalization and copying mistakes unless they give rise to another 

word. If so, the answer rates zero. 

4- If the student writes two answers for the same item, consider the first.  

Model answers from (6-7) 

6- According to many environmentalists, zoos save/ protect animals which are 

endangered/ rare animals. 

7- In China, after breeding the giant Panda in zoos, they are/ can be set free (to live in 

the wild again)/ they increase in number.  



4 /ّةّهادّ  ّبالد ورةّالاهتحاني تّاللغتّالإنكليسيتّ/العلوي  مّص2222ّّعامّالثانيتخاص  زيعّوالطبعّهحفىظتّلىزارةّالتربيتّّّّّّّّّّّحقىقّالنشرّوالتىّّّّّّ   

 

Remarks from (6-7)  

1- Each item is allotted 6 marks. 

2- Only the above mentioned answers are accepted in addition to any logical answer. 

3-  Overlook spelling, grammar, copying mistakes and capitalization.   

4- If the student writes only the correction without rewriting the whole sentence, the 

answer rates 3 marks. 

 

 

 

 

  



5 /ّةّهادّ  ّبالد ورةّالاهتحاني تّاللغتّالإنكليسيتّ/العلوي  مّص2222ّّعامّالثانيتخاص  زيعّوالطبعّهحفىظتّلىزارةّالتربيتّّّّّّّّّّّحقىقّالنشرّوالتىّّّّّّ   

 

 

Group 2 From 8-13 

Model answers (8-9) 

8- b / after winning Nobel Prize   

9- a / the whole 

(N.B): - If the student writes only the first word of the correct answer,                              

the answer rates full mark. 

Remarks from (8-9) 

1- Each item is allotted 6 marks. 

2- Either the letter or the complete answer is accepted or both. 

3- If the student writes two answers for the same item, consider the first. 

4- Overlook copying mistakes. 

Model answers (10-11) 

10- remarkable 

11- scripts 

Remarks from (10-11) 

1- Each item is allotted 6 marks. 

2- Only the above mentioned answers are accepted. 

3- Overlook copying mistakes and capitalization. 

4- If the student writes two answers for the same item, his answer rates zero even if 

one of them is correct.  

Model answers (12-13) 

12- ……. history, society and politics . 

(N.B):  2 marks for each item. 

13- ………. his / Mahfouz's masterpiece. 

Remarks from (12-13) 

1- Each item is allotted 6 marks. 
2- The above mentioned answers are accepted in addition to any logical 

completion related to the text. 
3- Overlook grammar, copying and spelling mistakes.  

4- Any addition or omission that doesn't make distortion is overlooked. 
5- Any addition or omission that makes distortion, deduct 1 mark. 
 

 

 

 



6 /ّةّهادّ  ّبالد ورةّالاهتحاني تّاللغتّالإنكليسيتّ/العلوي  مّص2222ّّعامّالثانيتخاص  زيعّوالطبعّهحفىظتّلىزارةّالتربيتّّّّّّّّّّّحقىقّالنشرّوالتىّّّّّّ   

 

 

Group 3 From 14-24 

Model answers (14-16) 

14- in 

15- the 

16- be 

Remarks from (14-16) 

1- Each item is allotted 6 marks. 

2- Only the above mentioned answers are accepted. 

3- Spelling mistakes are overlooked, unless they give rise to new words. 

    If so, the answer rates zero.  

4- If the student writes two answers for the same question, consider the first. 

Model answers (17-20) 

17- dying 

18- money 

19- help 

20- attracted 

Remarks from (17-20) 

1- Each item is allotted 6 marks. 

2- Only the above mentioned answers are accepted. 

3- Overlook copying mistakes and capitalization. 

4- If the student writes two answers in one space, his answer rates zero. 

6- Answers in the form of numbers rate zero. 

 

 

 

 

 



7 /ّةّهادّ  ّبالد ورةّالاهتحاني تّاللغتّالإنكليسيتّ/العلوي  مّص2222ّّعامّالثانيتخاص  زيعّوالطبعّهحفىظتّلىزارةّالتربيتّّّّّّّّّّّحقىقّالنشرّوالتىّّّّّّ   

 

 

Model answers (21-24) 

21- (For) How long have you had your computer? 

- For how many years have you had your computer? 

- For how much time have you had your computer? 

- Who has had a computer for 5 years? 

- What/Which thing have you had for 5 years? 

22- What do you use it for? 

- For what reason/purpose do you use it ? 

23- What should we do to protect our computers? 

- How can we protect our computers? 

- What/Which programmes do/should we use to protect our computers? 

- Why should we use anti-virus programmes? 

24- (Answers vary) 

Remarks from (21-24) 

1- Each item is allotted 8 marks.  

2- Deduct 2 marks for wrong question word/ word cluster. 

3- If the student writes a wrong question word with more than one grammar 

mistake, the answer rates zero. 

4- Deduct 2 marks for a grammar mistake provided that the total deduction 

shouldn't exceed 4 marks.  

5- If the student writes two questions for the same answer, consider the first. 

6- Overlook capitalization, punctuation and spelling mistakes.  

7- If the student writes the correct question word only, his answer rates 2 marks. 

8- If the answer is included in the question, deduct 2 marks. 

9- Any logical question or answer related to the dialogue is accepted.  

 

 

 

 

 

 

 



8 /ّةّهادّ  ّبالد ورةّالاهتحاني تّاللغتّالإنكليسيتّ/العلوي  مّص2222ّّعامّالثانيتخاص  زيعّوالطبعّهحفىظتّلىزارةّالتربيتّّّّّّّّّّّحقىقّالنشرّوالتىّّّّّّ   

 

 

Group 4 From 25-33 

Model answers (25-28) 

25- Rana had those photos/ them taken.  

 (N.B)  - The four steps to form the causative are required, otherwise the answer rates zero. 

             - If the student uses the negative form, deduct 2 marks. 

26- A lot of crops (in the village) were damaged by the storm. 

   (N.B)  - The first three steps to form the passive are required, otherwise the                 

                answer rates zero. 

- If the agent (by the storm)  is not mentioned, deduct 2 marks. 

27- (The teacher asked us) if/whether we had enjoyed our holiday.    

28- (I wish) my sister wouldn't / didn't spend a lot of hours talking on the phone.  

- ( I wish) she wouldn't / didn't. 

 Remarks from (25-28) 

1- Each item is allotted 8 marks. 

2- Overlook spelling mistakes. 

3- Deduct 2 marks for each grammar mistake provided that the total deduction 

should not exceed 4 marks if the sentence still makes sense.  

4- The words between brackets are optional.   

Model answers (29-30) 

29-  (answers vary)   

30-  (answers vary)   

 

 

 

 

       



9 /ّةّهادّ  ّبالد ورةّالاهتحاني تّاللغتّالإنكليسيتّ/العلوي  مّص2222ّّعامّالثانيتخاص  زيعّوالطبعّهحفىظتّلىزارةّالتربيتّّّّّّّّّّّحقىقّالنشرّوالتىّّّّّّ   

 

Remarks from (29-30) 

1- Each item is allotted 7 marks. 

2- The completion that doesn't make sense rates zero, even if it is grammatically 

correct. 

3- Deduct 1 mark for any grammar mistake. 

4- Overlook spelling mistakes unless they give rise to another meaning.                                

If so, deduct 1 mark. 

 (N.B) - the total deduction for both grammar and spelling should not exceed 3 marks 

if the completion still makes sense.  

5- Overlook punctuation marks. 

6- Any logical completion is accepted. 

7- The clause must contain a subject and a verb. If not, the answer rates zero. 

Model answers (31-33) 

31- in order to 

32- put up with 

33- rewind  

Remarks from (31-33) 

1- Each item is allotted 6 marks. 

2- Only the above mentioned answers are accepted. 

3- Overlook copying mistakes. 

4- Two answers for the same number rates zero. 

 

 

 

 

 



10 /ّةّهادّ  ّبالد ورةّالاهتحاني تّاللغتّالإنكليسيتّ/العلوي  مّص2222ّّعامّالثانيتخاص  زيعّوالطبعّهحفىظتّلىزارةّالتربيتّّّّّّّّّّّحقىقّالنشرّوالتىّّّّّّ   

 

 

Group 5 From 34-38 

 
Model answers (34-36) 

34-   will visit  

35-  has been studying/ has studied 

36- had built 

Remarks from (34-36) 

1- Each item is allotted 6 marks. 

2- Only the above mentioned answers are accepted. 

3- Overlook spelling mistakes unless they give rise to another meaning.                     

If so, deduct 1 mark.  

4- Complete (verb forms) are required, otherwise the answer rates zero. 

5- Deduct 2 marks for no.35 if the student uses have instead of has. 

5- In case the student writes two answers for the same number, consider the first. 

 

Model answer (37) 

ّ:ّ.تتمّفيّالفضاءّ/ّالأرضعلىّّهاؤّلاّيطكنّإجراّالتيالتجاربّالعلطية37ّّّ- -

 الاختبارات:ّالتجارب
 القياك بها / عملها / : تنفيكهاإجراؤها

 / تحدث تنفك / تجري  :تتم
Remarks for (37) 

1- The item is allotted 10 marks. 

2- The sentence is divided into 2 units. The first unit is allotted 7 marks and the 

second unit is allotted 3 marks. 

3- Each unit is treated separately. 

4- Deduct 1 mark for:  

- a missing or wrongly translated word 

- a grammar mistake 

 (N.B) - the total deduction for both grammar and spelling should not exceed            

3 marks if the translation still makes sense.  

5- Any other logical translation is accepted. 



11 /ّةّهادّ  ّبالد ورةّالاهتحاني تّاللغتّالإنكليسيتّ/العلوي  مّص2222ّّعامّالثانيتخاص  زيعّوالطبعّهحفىظتّلىزارةّالتربيتّّّّّّّّّّّحقىقّالنشرّوالتىّّّّّّ   

 

 

Model answer (38) 
 

38- The development of economy and public services / is the main target 

of the project.  

- development: improvement 

- public services : facilities/ utilities  

-  target: goal/ aim/ objective/ purpose 

 

Remarks for (38) 

1- The item is allotted 8 marks. 

2- The sentence is divided into 2 units. Each unit is allotted 4 marks. 

3- Deduct 1 mark for:  

- a missing or wrongly translated word 

- a grammar mistake 

- a spelling mistake if it gives rise to a new meaning. 

(N.B) - the total deduction for both grammar and spelling should not exceed 3 marks 

if the translation still makes sense.  

4- Any other logical translation is accepted. 

 

 

 

 

 

 

 

 

 



12 /ّةّهادّ  ّبالد ورةّالاهتحاني تّاللغتّالإنكليسيتّ/العلوي  مّص2222ّّعامّالثانيتخاص  زيعّوالطبعّهحفىظتّلىزارةّالتربيتّّّّّّّّّّّحقىقّالنشرّوالتىّّّّّّ   

 

 

Group 6 - Composition 

Remarks: 

1-  (50 marks) are allotted to this item. 

2- Before starting the correction of the composition, the teacher should make 

first reading to the whole paragraph to figure out if it is relevant to the topic 

or not. 

3-If a student writes more than the required number of words, his/her topic is 

accepted. 

4- a- On average, a paragraph between 70-80 words rates (50 marks). 

Each field is allotted 10 marks.   (7 marks for spelling and 3 marks for punctuation) 

b- A paragraph between 60-69 words rates (45 marks).                                   

Each field is allotted 9 marks. (6 marks for spelling and 3 marks for punctuation) 

c- A paragraph between 50-59 words rates (40 marks).                              

Each field is allotted 8 marks. (5 marks for spelling and 3 marks for punctuation) 

d- A paragraph between 40-49 words rates (35 marks).                                     

Each field is allotted 7 marks. (4 marks for spelling and 3 marks for punctuation) 

e- a paragraph between 30-39 words rates (25 marks). 

Each field is allotted 5 marks. (3 marks for spelling and 2 marks for punctuation) 

f- A paragraph between 20-29 words rates (20 marks) 

Each field is allotted 4 marks. (3 marks for spelling and 1 marks for punctuation) 

g- If the student writes less than 20 words, give 5 marks for each correct 

relevant sentence. 

N.B. - Overlook the first two spelling mistakes , the first two grammar and 

the first two punctuation mistake; then deduct one mark for each 

mistake.  

    - If the student writes about Apamea or any other city, his topic rates zero. 

5- The following chart shows the distribution of the (50 marks): 



/ّةّهادّ ّّّّّّّّّّّّّّّّ) ّبالدورةّالاهتحاني تّاللغتّالإنكليسيتّ/ّالفرعّالعلوي    14صّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّّحقىقّالنشرّوالتىزيعّوالطبعّهحفىظتّلىزارةّالتربيتّّّّّّّّ 2222ّّعامالثانيتّاخاص 

Communication 
Spelling and 

punctuation 
Vocabulary Grammar Task response 

outstanding 

communication; clear, 

coherent and well-

organised text with 

complex language when 

appropriate. 

extremely accurate 

spelling and 

punctuation in simple 

and complex language. 

very wide range of 

accurate and 

appropriate vocabulary 

required for the task. 

very wide range of 

accurate and 

appropriate grammar 

required for the task. 

the task response is 

comprehensive, relevant 

and well-developed. 

(10 marks) (10 marks) (10 marks) (10 marks) (10 marks) 

meaning is clear and 

easy to understand; 

good organization. 

good punctuation and 

spelling; errors may 

occur in complex 

language. 

a good range of 

vocabulary; few errors 

occur except in complex 

vocabulary. 

a good range of 

grammar usage; few 

errors occur except in 

complex structures. 

response is wholly 

relevant but is partially 

developed or not fully 

exploited. 
(9 marks) (9 marks) (9 marks) (9 marks) (9 marks) 

overall meaning is 

conveyed with some 

errors but without 

undue problems for the 

reader 

errors of punctuation 

and spelling occur but 

don't cause undue 

problems for the reader. 

adequate knowledge of 

a range of the 

vocabulary items 

required to carry out the 

task. 

adequate knowledge of 

a range of the grammar; 

more accurate than 

inaccurate. 

largely relevant 

response but without 

much development or 

with some irrelevance. 

(8 marks) (8 marks) (8 marks) (8 marks) (8 marks) 

meaning is only 

conveyed with 

significant effort on the 

part of the reader. 

errors of punctuation 

and spelling create 

problems for the reader. 

some vocabulary 

knowledge but frequent 

errors or gaps mean 

vocabulary is 

insufficient for the task. 

some grammar 

knowledge but frequent 

errors or gaps mean 

grammar is insufficient 

for the task. 

some relevant response 

to the task, though at 

times the task appears 

not to have been 

understood. 
(7 marks) (7 marks) (7 marks) (7 marks) (7 marks) 

no response or response 

insufficient to grade. 

no response or response 

insufficient to grade. 

no response or response 

insufficient to grade. 

no response or response 

insufficient to grade. 

no response or response 

insufficient to grade. 
zero zero zero zero zero 

 

                          N.B.  Deduct 1 mark once for the same repeated mistakes. 

 

-نّانتهىّالسل ّّ-  
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